

February 2009 PE 08-18-442

SPECIAL REPORT

PUBLIC EMPLOYEES INSURANCE AGENCY

AUDIT OVERVIEW

Comparison of out-of-pocket costs for retirees enrolled in PEIA in FY 2007 and Advantra Freedom in FY 2008



SELECT COMMITTEE ON PEIA, SENIORS AND LONG TERM CARE

Senate

John Unger II, Chair Dan Foster Walt Helmick Robert H. Plymale Frank Deem House of Delegates

Thomas W. Campbell, Chair

Don Perdue Carrie Webster Harry Keith White Larry Border



WEST VIRGINIA LEGISLATIVE AUDITOR

PERFORMANCE EVALUATION & RESEARCH DIVISION

Building 1, Room W-314 State Capitol Complex Charleston, West Virginia 25305 (304) 347-4890

Aaron Allred Legislative Auditor

John Sylvia Director Denny Rhodes Research Manager Lara Stephens Research Analyst Annamarie Short Referencer

CONTENTS

Executive Summary	
Objective, Scope and Methodology	
Issue 1: The Shift to Advantra Freedom Decreased Annual Premiums by \$264 and Increased Out-of-Pocket	
Expenses for Retirees by an Average of \$203 for an Approximate Annual Savings of \$61 Per Enrollee	11
List Of Tables	
Table 1: FY 2007 Medicare Retiree Benefists	11
Table 2:FY 2008 Medicare Retiree Benefits	11
Table 3: Aggregate Medical Data	13
Table 4: Aggregate Pharmaceutical Data	13
Table 5: Cost Comparison of the Most Frequent Diagnoses Sorted by Patient	17
Table 6: Cost Comparison of the Most Frequent Diagnoses Sorted by Encourter	17
Table 7: Cost Comparison of Medical Diagnoses Sorted by Cost Share	18
Table 8: Cost Comparison of Pharmaceutical Drugs Sorted by Patient	20
Table 9: Cost Comparison of Pharmaceutical Drugs Sorted by Prescription	2
Table 10: Cost Comparison of Pharmaceutical Drugs by Cost Share	22
List Of Attachments	
Attachment I: PEIA Data	23
Attachment II: 2007 Medical Costs	77
Attachment III: 2008 Medical Costs	97
Attachment IV: 2007 Pharmaceutical Costs	117
Attachment V: 2008 Pharmaceutical Costs	121

Public	Employ	vees Insi	urance A	gency
--------	--------	-----------	----------	-------

EXECUTIVE SUMMARY

The Shift to Advantra Freedom Decreased Annual Premiums by \$264 and Increased Out-of-Pocket Expenses for Retirees by an Average of \$203 for an Average Annual **Savings of \$61 Per Retiree**

The purpose of this report is to determine how the change from the Public Employees Insurance Agency retiree plan to the Coventry Advantra Freedom plan affected the out-of-pocket healthcare costs paid by retirees enrolled in the plan. A Microsoft Excel spreadsheet was provided by PEIA which contained the medical and pharmaceutical outof-pocket costs for the Medicare-eligible retiree population for fiscal years 2007 and 2008. This data were manipulated using Excel to determine the change in out-of-pocket healthcare costs between the two years.

The study finds that the aggregate medical out-of-pocket costs to retirees increased with the Advantra Freedom plan while aggregate pharmaceutical out-of-pocket cost decreased from FY 2007 to 2008. The average medical out-of-pocket costs per patient increased \$24.53 from FY 2007 to FY 2008, and the average pharmaceutical out-of-pocket costs decreased \$14.71 per patient. Furthermore, net out-of-pocket costs per enrollee increased \$203.12 from FY 2007 to 2008. However, the \$22 reduction in monthly premiums given to enrollees in the Advantra Freedom plan, an annual savings of \$264, offsets this increase in outof-pocket medical costs for most enrollees. The average enrollee saved \$60.88 with the adoption of the Advantra Freedom plan.

Public	Employ	vees Insi	urance A	gency
--------	--------	-----------	----------	-------

OBJECTIVE, SCOPE & METHODOLOGY

This is a study of the West Virginia Public Employees Insurance Agency's adoption of the Coventry Health Advantra Freedom plan conducted as part of the Departmental Review of the Department of Administration.

Objective

The purpose of this study was to illustrate the change in outof-pocket expenses from the PEIA retiree plan to the Coventry Health Advantra Freedom plan and what the net cost changes were to those enrolled in the plan.

Scope

The scope of this study was limited to out-of-pocket healthcare expenses incurred by retirees in fiscal years 2007 and 2008.

Methodology

The Legislative Auditor consulted information received from the West Virginia Public Employees Insurance Agency and publications released by the agency. Every aspect of this review complied with the Generally Accepted Governmental Auditing Standards (GAGAS) as set forth by the Comptroller General of the United States of America.

Public	Employ	vees Insur	ance Agency
--------	--------	------------	-------------

ISSUE 1

The Shift to Advantra Freedom Decreased Annual Premiums by \$264 and Increased Out-of-Pocket Expenses for Retirees by an Average of \$203 for an Approximate Annual Savings of \$61 Per Enrollee

The Advantra Freedom plan is an MAPD or Medicare Advantage/ Prescription Drug Plan. The retiree plan was changed in order to reduce the state's liability for Other Post-Employment Benefits. This liability has recently become mandatory to report and the figure thus affects West Virginia's bond rating. The MAPD plan was proposed to reduce this liability from \$8 billion to \$4.5 billion. However, the plan change also affects retired employees, and the goal of this study is to gain insight into how these retirees have been affected.

Study Summary

For this study, the Legislative Auditor sought to determine how the recent change from the PEIA retiree plan to the Advantra Freedom plan has affected the out-of-pocket costs paid by retirees. While the premiums and out-of-pocket maximum values were lowered to counteract increases in out-of-pocket medical expenses, it was not clear if these reductions effectively offset the higher medical costs. The premiums were reduced by \$22 for all Medicare-eligible plan participants. Premium and other billing information for the two years analyzed is listed in Tables 1 and 2.

	Table 1											
	FY 2007 Medicare Retiree Benefits											
		Policyho	lder Only		Policyhol	lder with non	-Medicare De	pendents	Policyho	older with De	endents on I	Medicare
Years of	Standard	Preferred	Annual	Annual Out-	Standard	Preferred	Annual	Annual Out-	Standard	Preferred	Annual	Annual Out-
	(Tobacco	(Tobacco-		of-Pocket	(Tobacco	(Tobacco-		of-Pocket	(Tobacco	(Tobacco-		of-Pocket
Service	User)	free)	Deductible	Max	User)	free)	Deductible	Max	User)	free)	Deductible	Max
0-4	\$453	\$438	\$150	\$1,000	\$1,472	\$1,442	\$300	\$1,000	\$945	\$915	\$300	\$1,000
5-9	\$361	\$346	\$150	\$1,000	\$1,178	\$1,148	\$300	\$1,000	\$746	\$716	\$300	\$1,000
10-14	\$268	\$253	\$150	\$1,000	\$886	\$856	\$300	\$1,000	\$545	\$515	\$300	\$1,000
15-19	\$175	\$160	\$150	\$1,000	\$594	\$564	\$300	\$1,000	\$345	\$315	\$300	\$1,000
20-24	\$120	\$105	\$150	\$1,000	\$418	\$388	\$300	\$1,000	\$222	\$192	\$300	\$1,000
25+	\$83	\$68	\$150	\$1,000	\$301	\$271	\$300	\$1,000	\$143	\$113	\$300	\$1,000

	7.11.0											
	Table 2											
	FY 2008 Medicare Retiree Benefits											
Policyholder Only Policyholder with non-Medicare Dependents Policyholder with Dependents on Med							Medicare					
Years of	Standard	Preferred	Annual	Annual Out-	Standard	Preferred	Annual	Annual Out-	Standard	Preferred	Annual	Annual Out-
	(Tobacco	(Tobacco-		of-Pocket	(Tobacco	(Tobacco-		of-Pocket	(Tobacco	(Tobacco-		of-Pocket
Service	User)	free)	Deductible	Max	User)	e			l	١, ,		
	USEI /	ireej	Deductible	iviax	user)	free)	Deductible	Max	User)	free)	Deductible	Max
5-9	\$339	\$324	\$0	\$500	\$1,156	\$1,125	\$300	\$500	\$702	\$672	Deductible \$0	Max \$500
	,				<u> </u>							
5-9	\$339	\$324	\$0	\$500	\$1,156	\$1,125	\$300	\$500	\$702	\$672	\$0	\$500
5-9 10-14	\$339 \$246	\$324 \$231	\$0 \$0	\$500 \$500	\$1,156 \$864	\$1,125 \$834	\$300 \$300	\$500 \$500	\$702 \$501	\$672 \$471	\$0 \$0	\$500 \$500

The study finds that medical costs did significantly increase under the new plan. Aggregate out-of-pocket medical costs rose approximately 412 percent in FY 2008 when compared with the aggregate out-of-pocket medical costs in FY 2007. The study also finds that aggregate out-ofpocket pharmaceutical costs decreased approximately 13 percent with the plan change. While the plan change has increased out-of-pocket medical costs, the billing changes reflected in Tables 1 and 2 offset these increases for most retirees. Those retirees most strongly affected by the increased costs are those which require larger amounts of medical attention, but many retirees will experience lower or similar costs to those associated with the PEIA plan.

While the plan change has increased out-of-pocket medical costs, the billing changes reflected in Tables 1 and 2 offset these increases for most retir-

Objective

The purpose of this study is to illustrate the change in out-ofpocket expenses from the PEIA retiree plan in place for fiscal year 2007 and the Coventry Health Advantra Freedom plan implemented in fiscal year 2008.

Methodology

In order to conduct the study, the Legislative Auditor requested the following information from PEIA: the aggregate out-of-pocket expenses for retirees in both fiscal year 2007 and 2008; the out-of-pocket expenses for individual retirees in both fiscal year 2007 and 2008; the diagnoses of the retirees; the out-of-pocket treatment costs resulting from these diagnoses for both fiscal year 2007 and 2008 including prescription drug costs. In response to this request, PEIA supplied a Microsoft Excel spreadsheet containing information concerning these expenses. The spreadsheet is available in Attachment 1. In the spreadsheet, all expenses are categorized as cost share, which is another term for out-of-pocket expense.

The medical data provided by PEIA included the diagnoses of retirees treated in FY 2007 and 2008, the number of patients treated for each diagnosis, the number of medical encounters for each diagnosis, and

In the spreadsheet, all expenses are categorized as cost share, which is another term for out-of-pocket expense.

the total out-of-pocket cost for each diagnosis. In a second information request, the Legislative Auditor requested the total number of enrollees in the program for both years. The aggregate figures for the medical data are listed in Table 3.

Also, the out-of-pocket cost per enrollee is represented here, as the enrollee information was not included with the spreadsheet data. The out-of-pocket cost increased by an average of \$264.86 per enrollee.

Table 3									
Aggregate Medical Data									
FY 2007 FY 2008									
Total Diagnoses	851	822							
Total Patients	370,634	395,328							
Total Encounters	1,176,401	1,238,676							
Total Out-of-Pocket Cost	\$2,332,663	\$11,525,777							
Average Number of Enrollees	35,861	34,936							
Out-of-Pocket Cost per Enrollee	\$65	\$330							

Within the spreadsheet, PEIA provided similar data for 100 select prescription drugs in addition to a broad "other drugs" category for FY 2007 and 2008. For the prescription drug data, PEIA sent the name of the drug, the number of patients associated with the drug, the number of total prescriptions for the drug and the out-of-pocket cost share for each drug. Aggregate data for the pharmaceutical information is present in Table 4.

Again, you will find the out-of-pocket pharmaceutical cost per enrollee in the plan in Table 4. The pharmaceutical cost per enrollee was reduced by \$61.74.

Table 4								
Aggregate Pharmaceutical Data								
FY 2007 FY 2008								
Unique Drugs	75	97						
Total Patients	434,748	396,356						
Total Prescriptions	1,611,881	2,419,592						
Total Out-of-Pocket Cost	\$20,009,453	\$17,336,331						
Average Number of Enrollees	35,861	34,936						
Out-of-Pocket Cost per Enrollee	\$558	\$496						

The out-of-pocket cost increased by an average of \$264.86 per enrollee.

The pharmaceutical cost per enrollee was reduced by \$61.74.

There are some issues with the data as can be expected. As mentioned, the number of diagnoses and patients for both years is different, but such population and treatment differences are inevitable. The most challenging issue is in the pharmaceutical portion of the data. Many prescription drug designations in the 2007 data are different dosages of the same drugs. Only 75 unique drugs (not including the broad "other drugs" category) are represented in the 2007 pharmaceutical data. For instance, the diabetes drug Actos appears three times, first as a 15 milligram (mg) tablet and also as a 30 and 40 mg tablet. In the 2008 prescription data, there are also two drugs having two different designations resulting in 97 unique drugs excluding the other drugs category. Some of these repeated drugs were combined for our purposes. Because of these issues, the analysis of this data should be taken as approximations of the out-ofpocket cost differences.

The analysis of this data should be taken as approximations of the outof-pocket cost differences.

Calculations

For the analysis, the medical data for FY 2007 and 2008 was manipulated in several ways. First, the out-of-pocket cost per patient was calculated for each diagnosis by dividing the out-of-pocket cost by the number of patients associated with that diagnosis. The out-of-pocket cost per encounter was calculated by dividing the out-of-pocket cost by the number of encounters. Furthermore, the number of encounters per patient was estimated by dividing the number of encounters for each diagnosis by the number of patients associated with each diagnosis. Finally, the minimum, maximum, median and average for the total outof-pocket cost; the out-of-pocket cost per patient; and the out-of-pocket cost per encounter were each calculated using Excel. The analysis of the pharmaceutical data mirrored this process.

Moreover, the medical and pharmaceutical data was sorted by three different variables to take a closer look at the most prevalent diagnoses and drugs which created six samples. The medical data was sorted in descending order by the following variables: the number of patients, the number of encounters, and the greatest out-of-pocket cost. From each sorting, the 20 most frequently occurring diagnoses based on FY 2007 data were compiled into a spreadsheet with the data for the same diagnoses in FY 2008. The minimum, maximum, median and average was calculated for the aggregate out-of-pocket cost; the out-of-pocket cost per patient; and per encounter for each sample. The difference in cost between the two years was also calculated using Excel. This data was compiled into three tables in the results section.

The FY 2007 pharmaceutical data was also sorted by the number of patients, the number of prescriptions and the greatest out-of-pocket cost. The 20 most common drugs were sampled based on number of patients and number of prescriptions, and the 20 most costly drugs were compiled into tables for direct comparison with the corresponding FY 2008 data. Because the FY 2007 pharmaceutical data contains different data for different dosages of certain drugs, the data for several medications was combined. For example, the number of patients, number of prescriptions, and the out-of-pocket cost for Lisinopril 10 mg, 20 mg, and 40 mg tablets were added to make up a single Lisinopril category for the FY 2007 data. Similar calculations were done for Furosemide, Toprol XL, Crestor, Atenolol, Lipitor, Norvasc, and Vytorin which were also repeated in the 2007 data. In the FY 2008 data, it was necessary to combine two Metoprolol designations and two Actonel designations. Selection of the 20 most frequently appearing drugs was based on the combined values.

Results and Discussion

The results of the calculations performed reveal a large increase in out-of-pocket medical costs for retirees. However, the calculations also show a smaller decrease in out-of-pocket pharmaceutical costs for retirees. The increase in medical cost sharing was much greater than the decrease in pharmaceutical cost sharing.

The aggregate medical out-of-pocket cost was increased by 411.53 percent with the implementation of the Advantra Freedom plan.

The aggregate medical out-of-pocket cost was increased by 411.53 percent with the implementation of the Advantra Freedom plan.

The percent increase in average medical out-of-pocket costs per patient from FY 2007 to 2008 was 446.81 percent, which represents an increase of \$24.53. The percent increase in average out-of-pocket medical costs per encounter was 410.86 percent. Thus, per encounter, the cost share increased from \$2.21 to \$11.29, a difference of \$9.08.

Some of these increases may seem small, but it is important to recall that these are only averages. To look at the medical data from another perspective, the maximum out-of-pocket cost per patient in FY 2007 was \$98.95, while the maximum out-of-pocket cost per patient in FY 2008 was \$333.45. Furthermore, the maximum out-of-pocket cost per encounter in FY 2007 was \$94.99 which increased to \$112.34 in FY 2008. Maximum out-of-pocket costs for the aggregate data were \$116,337.54 in FY 2007 and \$535,643.80 in FY 2008. These figures are associated with the out-of-pocket cost for the diagnosis of cataracts in 2008 and essential hypertension in FY 2007. The minimum out-ofpocket cost for both years was zero, and this was associated with many different low-frequency diagnoses. The median out-of-pocket cost per patient was \$3.81 in 2007, and this figure increased to \$22.48 in 2008. The median out-of-pocket cost per encounter was \$1.53 in 2007 and \$9.84 in 2008. The average out-of-pocket cost per patient was \$5.49 and \$2.21 per encounter in 2007, and this increased to \$30.02 per patient and \$11.29 per encounter in FY 2008. Finally, the number of encounters per patient remained somewhat stable between the two years with an average of 2.83 and 3.16 in FY 2007 and 2008 respectively. The spreadsheet containing the FY 2007 data is available in Attachment 2, and the FY 2008 information is in Attachment 3.

The medical out-of-pocket cost comparison of the 20 most common diagnoses sorted by patient and encounter supports the conclusion that the medical out-of-pocket cost increased for all medical data from 2007 to 2008. Predictably, this trend is also present in the sample of the 20 most costly diagnoses. The full cost comparison for the three samples is available in Tables 5, 6 and 7. Please recall that cost share is the out-ofpocket cost.

The average out-of-pocket cost per patient was \$5.49 and \$2.21 per encounter in 2007, and this increased to \$30.02 per patient and \$11.29 per encounter in FY 2008.

Table 5											
Co	Cost Comparison of the Most Frequent Diagnoses Sorted by Patient										
2007 2008											
Diagnosis Description	Cost Share per Patient	Cost Share per Encounter	Cost Share per Patient	Cost Share per Encounter	Cost Share Increase Per Patient	Cost Share Increase per Encounter					
ESSENTIAL HYPERTENSION	\$6.86	\$2.65	\$21.22	\$7.36	\$14.36	\$4.72					
RESP SYS/OTH CHEST SYMP	\$6.28	\$1.57	\$40.86	\$10.44	\$34.58	\$8.87					
SCREENING-MALIG NEOPLASM	\$1.74	\$0.87	\$4.92	\$2.54	\$3.18	\$1.67					
DIABETES MELLITUS	\$7.72	\$1.24	\$37.17	\$6.58	\$29.46	\$5.34					
DIS OF LIPOID METABOLISM	\$5.05	\$3.02	\$15.31	\$7.61	\$10.26	\$4.59					
GENERAL SYMPTOMS	\$6.70	\$1.66	\$34.71	\$9.54	\$28.01	\$7.88					
CATARACT	\$6.54	\$2.66	\$68.52	\$30.21	\$61.99	\$27.55					
JOINT DISORDER NEC NOS	\$6.67	\$2.09	\$24.45	\$8.20	\$17.78	\$6.11					
OTH CHR ISCHEMIC HRT DIS	\$7.83	\$2.32	\$47.72	\$13.69	\$39.88	\$11.38					
OSTEOARTHROSIS ET AL	\$8.89	\$2.34	\$51.56	\$14.00	\$42.67	\$11.66					
OTH ABDOMEN/PELVIS SYMP	\$6.19	\$1.93	\$33.13	\$11.07	\$26.94	\$9.14					
SPECIAL EXAMINATIONS	\$2.67	\$1.58	\$8.68	\$5.23	\$6.01	\$3.65					
CARDIAC DYSRHYTHMIAS	\$12.21	\$2.51	\$42.80	\$6.69	\$30.59	\$4.18					
OTHER SOFT TISSUE DIS	\$5.04	\$2.31	\$19.37	\$9.49	\$14.33	\$7.18					
BACK DISORDER NEC NOS	\$8.06		\$48.91	\$11.19	\$40.85	\$9.47					
OTHER DERMATOSES	\$10.27	\$5.73	\$29.98	\$17.75	\$19.72	\$12.02					
RETINAL DISORDERS NEC	\$7.07	\$3.24	\$44.33	\$21.06	\$37.26	\$17.82					
OTH URINARY TRACT DISOR	\$4.97	\$1.65	\$29.04	\$9.30	\$24.07	\$7.65					
GLAUCOMA	\$13.36	\$5.79	\$42.99	\$19.06	\$29.63	\$13.27					
CHR AIRWAY OBSTRUCT NEC	\$5.67	\$0.64	\$67.38	\$8.05	\$61.71	\$7.41					
MIN	\$1.74	\$0.64	\$4.92	\$2.54	\$3.18	\$1.67					
MAX	\$13.36	\$5.79	\$68.52	\$30.21	\$61.99	\$27.55					
MEDIAN	\$6.68	\$2.20	,	,	\$28.73	,					
AVERAGE	\$6.99	\$2.37	\$35.65	\$11.45	\$28.66	\$9.08					

Table 6											
Cost	Cost Comparison of the Most Frequent Diagnoses Sorted by Encounter										
	2007 2008										
	Cost Share per	Cost Share per	Cost Share per	Cost Share per	Cost Share	Cost Share					
Diagnosis Description					Increase per	Increase per					
	Patient	Encounter	Patient	Encounter	Patient	Encounter					
DIABETES MELLITUS	\$7.72	\$1.24	\$37.17	\$6.58	\$29.46	\$5.34					
RESP SYS/OTH CHEST SYMP	\$6.28	\$1.57	\$40.86	\$10.44	\$34.58	\$8.87					
ESSENTIAL HYPERTENSION	\$6.86	\$2.65	\$21.22	\$7.36	\$14.36	\$4.72					
CHR AIRWAY OBSTRUCT NEC	\$5.67	\$0.64	\$67.38	\$8.05	\$61.71	\$7.41					
GENERAL SYMPTOMS	\$6.70	\$1.66	\$34.71	\$9.54	\$28.01	\$7.88					
CARDIAC DYSRHYTHMIAS	\$12.21	\$2.51	\$42.80	\$6.69	\$30.59	\$4.18					
BACK DISORDER NEC NOS	\$8.06	\$1.72	\$48.91	\$11.19	\$40.85	\$9.47					
OSTEOARTHROSIS ET AL	\$8.89	\$2.34	\$51.56	\$14.00	\$42.67	\$11.66					
OTH CHR ISCHEMIC HRT DIS	\$7.83	\$2.32	\$47.72	\$13.69	\$39.88	\$11.38					
SOMATIC DYSFUNCTION	\$26.01	\$2.54	\$45.34	\$4.61	\$19.32	\$2.08					
JOINT DISORDER NEC NOS	\$6.67	\$2.09	\$24.45	\$8.20	\$17.78	\$6.11					
SCREENING-MALIG NEOPLASM	\$1.74	\$0.87	\$4.92	\$2.54	\$3.18	\$1.67					
REHABILITATION PROCEDURE	\$6.12	\$0.53	\$31.08	\$3.26	\$24.95	\$2.73					
CHRONIC RENAL FAILURE	\$15.31	\$1.18	\$41.57	\$2.60	\$26.25	\$1.42					
CATARACT	\$6.54	\$2.66	\$68.52	\$30.21	\$61.99	\$27.55					
HEART FAILURE	\$9.99	\$1.54	\$46.31	\$6.80	\$36.32	\$5.27					
OTH ABDOMEN/PELVIS SYMP	\$6.19	\$1.93	\$33.13	\$11.07	\$26.94	\$9.14					
OTHER LUNG DISEASES	\$3.59	\$0.83	\$18.16	\$4.06	\$14.57	\$3.23					
DIS OF LIPOID METABOLISM	\$5.05	\$3.02	\$15.31	\$7.61	\$10.26	\$4.59					
AFTERCARE NEC NOS	\$4.93	\$1.25	\$16.04	\$2.87	\$11.11	\$1.62					
MIN	\$1.74	\$0.53	\$4.92	\$2.54	\$3.18	\$1.42					
MAX	\$26.01	\$3.02	\$68.52	\$30.21	\$61.99	\$27.55					
MEDIAN	\$6.68	\$1.69	\$39.02	\$7.49	\$27.48	\$5.30					
AVERAGE	\$8.12	\$1.75	\$36.86	\$8.57	\$28.74	\$6.81					

		Tal	ole 7			
	Cost Comparis	on of Medical D	Diagnoses Sorte	d by Cost Share	1	
	20	07	20	008		
	Cost Share per	Cost Share per	Cost Share per	Cost Share per	Cost Share	Cost Share
Diagnosis Description					Increase per	Increase per
	Patient	Encounter	Patient	Encounter	Patient	Encounter
ESSENTIAL HYPERTENSION	\$6.86	\$2.65	\$21.22	\$7.36	\$14.36	\$4.72
RESP SYS/OTH CHEST SYMP	\$6.28	\$1.57	\$40.86	\$10.44	\$34.58	\$8.87
DIABETES MELLITUS	\$7.72	\$1.24	\$37.17	\$6.58	\$29.46	\$5.34
CARDIAC DYSRHYTHMIAS	\$12.21	\$2.51	\$42.80	\$6.69	\$30.59	\$4.18
GENERAL SYMPTOMS	\$6.70	\$1.66	\$34.71	\$9.54	\$28.01	\$7.88
SOMATIC DYSFUNCTION	\$26.01	\$2.54	\$45.34	\$4.61	\$19.32	\$2.08
OSTEOARTHROSIS ET AL	\$8.89	\$2.34	\$51.56	\$14.00	\$42.67	\$11.66
CATARACT	\$6.54	\$2.66	\$68.52	\$30.21	\$61.99	\$27.55
GLAUCOMA	\$13.36	\$5.79	\$42.99	\$19.06	\$29.63	\$13.27
OTH CHR ISCHEMIC HRT DIS	\$7.83	\$2.32	\$47.72	\$13.69	\$39.88	\$11.38
OTHER DERMATOSES	\$10.27	\$5.73	\$29.98	\$17.75	\$19.72	\$12.02
JOINT DISORDER NEC NOS	\$6.67	\$2.09	\$24.45	\$8.20	\$17.78	\$6.11
DIS OF LIPOID METABOLISM	\$5.05	\$3.02	\$15.31	\$7.61	\$10.26	\$4.59
BACK DISORDER NEC NOS	\$8.06	\$1.72	\$48.91	\$11.19	\$40.85	\$9.47
OTH ABDOMEN/PELVIS SYMP	\$6.19	\$1.93	\$33.13	\$11.07	\$26.94	\$9.14
RETINAL DISORDERS NEC	\$7.07	\$3.24	\$44.33	\$21.06	\$37.26	\$17.82
HEART FAILURE	\$9.99	\$1.54	\$46.31	\$6.80	\$36.32	\$5.27
OTHER SOFT TISSUE DIS	\$5.04	\$2.31	\$19.37	\$9.49	\$14.33	\$7.18
GASTROINTESTINAL HEMORR	\$24.43	\$5.86	\$26.14	\$6.48	\$1.71	\$0.62
CHRONIC RENAL FAILURE	\$15.31	\$1.18	\$41.57	\$2.60	\$26.25	\$1.42
MIN	\$5.04	\$1.18	\$15.31	\$2.60	\$1.71	\$0.62
MAX	\$26.01	\$5.86	\$68.52	\$30.21	\$61.99	\$27.55
MEDIAN	\$7.78	\$2.33	\$41.21	\$9.51	\$28.73	\$7.53
AVERAGE	\$10.02	\$2.69	\$38.12	\$11.22	\$28.10	\$8.53

Conversely, overall figures for the pharmaceutical out-of-pocket costs decreased from FY 2007 to 2008 by -13.36 percent. This was -13.80 percent when calculated from the average per patient and -37.87 percent when calculated with the average out-of-pocket cost per prescription. The average out-of-pocket cost per patient was \$105.88 in FY 2007 and \$91.27 per patient in FY 2008. The average out-of-pocket cost per prescription was \$20.94 in 2007, and this decreased to \$13.01 in FY 2008 under the Advantra Freedom plan.

Conversely, overall figures for the pharmaceutical out-of-pocket costs decreased from FY 2007 to 2008 by -13.36 percent.

Further downward trends in prescription costs are evidenced in all calculations made for the study. The minimum out-of-pocket cost per patient was \$8.50 in 2007 and \$8.12 in 2008. The minimum outof-pocket cost per prescription was \$4.17 in 2007 and this decreased to \$2.52 in 2008. Median cost shares per patient fell from \$99.47 to \$89.04 in 2008. Per prescription, the median cost share was reduced from \$19.70 in 2007 to \$10.90 in FY 2008. In 2007, the maximum out-of-pocket cost

The average out-of-pocket cost per patient was \$105.88 in FY 2007 and \$91.27 per patient in FY 2008.

per patient and per prescription was \$354.56 and \$51.54. These figures decreased to \$294.07 per patient and \$36.33 per prescription in FY 2008. Lastly, the average out-of-pocket cost per patient decreased from \$105.88 in FY 2007 to \$91.27 in 2008, and the average out-of-pocket cost per prescription decreased from \$20.94 to \$13.01 in FY 2008. These results may be found in Attachments 4 and 5.

As for the aggregate pharmaceutical data, the minimum and maximum values for the medications were \$40,955.84 and \$9,956,395.97 in 2007. The 2007 pharmaceutical data including calculations is in Attachment 4. The minimum out-of-pocket cost here represents the hypertension drug Diovan (320 mg tablet) and, as expected, the maximum was associated with the other drugs category. The maximum value for 2008 of \$5,623,686.76 again represents the other drugs category, and the minimum value of \$39,886.58 represents the allergy drug Clarinex. Finally, the aggregate average out-of-pocket cost for 2007 was \$198,113.39 and this declines to \$171,646.85 in 2008. This information for FY 2008 is available in Attachment 5. The samples of the 20 most frequent or costly medications reveal further insight into the data.

The samples of the pharmaceutical data reveal a somewhat less consistent decrease in out-of-pocket costs. The cost comparison for each sample of the pharmaceutical data may be found in Tables 8, 9 and 10 to follow.

The average out-of-pocket cost per patient decreased from \$105.88 in FY 2007 to \$91.27 in 2008, and the average out-of-pocket cost per prescription decreased from \$20.94 to \$13.01 in FY 2008.

TOROSEIVIIDE	920.70	y 1.57	Ψ13.37	7 2. .32	90.75	7 2. 03
OMEPRAZOLE	\$37.25	\$6.00	\$39.93	\$4.34	\$2.68	-\$1.66
LISINOPRIL*	\$30.65	\$6.38	\$31.49	\$3.51	\$0.85	-\$2.88
AZITHROMYCIN	\$8.50	\$5.83	\$8.12	\$4.05	-\$0.38	-\$1.79
SIMVASTATIN*	\$38.17	\$8.34	\$33.62	\$4.22	-\$4.55	-\$4.13
TOPROL XL	\$95.42	\$17.87	\$43.49	\$9.12	-\$51.93	-\$8.75
HYDROCODONE	\$10.81	\$4.47	\$17.29	\$2.84	\$6.48	-\$1.64
PLAVIX	\$76.49	\$19.93	\$112.46	\$12.39	\$35.97	-\$7.54
PROPOXY	\$15.32	\$4.87	\$14.32	\$2.97	-\$1.01	-\$1.91
HYDROCHLOROTHIAZIDE	\$19.81	\$4.17	\$20.99	\$2.80	\$1.18	-\$1.36
LEVAQUIN	\$33.01	\$22.90	\$57.04	\$25.43	\$24.03	\$2.53
CLOPIDOGREL BISULFATE	\$18.90	\$5.97	\$0.00	\$0.00	-\$18.90	-\$5.97
FLUTICASONE	\$15.52	\$5.76	\$18.14	\$4.32	\$2.61	-\$1.44
FOSAMAX	\$107.21	\$22.33	\$82.50	\$13.47	-\$24.70	-\$8.86
METOPROLOL	\$28.97	\$5.49	\$25.36	\$3.87	-\$3.60	-\$1.62
CRESTOR	\$100.86	\$20.90	\$104.82	\$14.17	\$3.95	-\$6.73
METFORMIN	\$29.80	\$6.07	\$31.34	\$3.85	\$1.53	-\$2.22
ZETIA	\$104.00	\$20.27	\$104.19	\$13.63	\$0.19	-\$6.64
FLOMAX	\$99.73	\$20.09	\$101.14	\$13.69	\$1.41	-\$6.40
TRIAMTERENE/HCTZ	\$31.72	\$6.21	\$28.01	\$3.68	-\$3.71	-\$2.53
MIN	\$8.50	\$4.17	\$0.00	\$0.00	-\$51.93	-\$8.86
MAX	\$107.21	\$22.90	\$112.46	\$25.43	\$35.97	\$2.53
MEDIAN	\$31.18	\$6.14	\$31.42	\$4.13	\$0.52	-\$2.37
AVERAGE	\$46.15	\$10.92	\$44.71	\$7.24	-\$1.43	-\$3.68

OWIET TO LEGEL	937.E3	70.00	755.55	у 1.5 т	9 2.00	91.00
FUROSEMIDE*	\$20.76	\$4.57	\$19.97	\$2.52	-\$0.79	-\$2.05
LISINOPRIL*	\$30.65	\$6.38	\$31.49	\$3.51	\$0.85	-\$2.88
SIMVASTATIN	\$38.17	\$8.34	\$33.62	\$4.22	-\$4.55	-\$4.13
TOPROL*	\$85.48	\$17.99	\$43.49	\$9.12	-\$41.99	-\$8.87
HYDROCHLOROTHIAZIDE	\$19.81	\$4.17	\$20.99	\$2.80	\$1.18	-\$1.36
PLAVIX	\$76.49	\$19.93	\$112.46	\$12.39	\$35.97	-\$7.54
NEXIUM	\$240.85	\$30.27	\$104.34	\$11.58	-\$136.51	-\$18.69
METOPROLOL	\$28.97	\$5.49	\$25.36	\$3.87	-\$3.60	-\$1.62
FOSAMAX	\$107.21	\$22.33	\$82.50	\$13.47	-\$24.70	-\$8.86
PROPOXY	\$15.32	\$4.87	\$14.32	\$2.97	-\$1.01	-\$1.91
PREVACID	\$232.51	\$30.27	\$82.13	\$17.11	-\$150.38	-\$13.16
ZETIA	\$104.00	\$20.27	\$104.19	\$13.63	\$0.19	-\$6.64
TOPROL XL	\$95.42	\$17.87	\$43.49	\$9.12	-\$51.93	-\$8.75
CRESTOR	\$100.86	\$20.90	\$104.82	\$14.17	\$3.95	-\$6.73
METFORMIN	\$29.80	\$6.07	\$31.34	\$3.85	\$1.53	-\$2.22
FLOMAX	\$99.73	\$20.09	\$101.14	\$13.69	\$1.41	-\$6.40
ATENOLOL	\$32.71	\$5.94	\$31.33	\$3.48	-\$1.38	-\$2.46
TRIAMTERENE/HCTZ	\$31.72	\$6.21	\$28.01	\$3.68	-\$3.71	-\$2.53
HYDROCODONE	\$10.81	\$4.47	\$17.29	\$2.84	\$6.48	-\$1.64
MIN	\$10.81	\$4.17	\$14.32	\$2.52	-\$150.38	-\$18.69
MAX	\$240.85	\$30.27	\$112.46	\$17.11	\$35.97	-\$1.36
MEDIAN	\$37.71	\$7.36	\$36.77	\$4.28	-\$0.90	-\$3.50
AVERAGE	\$71.93	\$13.12	\$53.61	\$7.62	-\$18.32	-\$5.50

EII 11 OK	9212.01	955.55	9£3 1.00	951.11	y 11.50	9 3.1€
NEXIUM	\$240.85	\$30.27	\$104.34	\$11.58	-\$18.69	-\$18.69
NORVASC*	\$181.59	\$37.76	N/A	N/A	N/A	N/A
PREVACID	\$232.51	\$30.27	\$82.13	\$17.11	-\$150.38	-\$13.16
PLAVIX	\$76.49	\$19.93	\$112.46	\$12.39	\$35.97	-\$7.54
VYTORIN*	\$97.91	\$20.64	\$110.83	\$13.92	\$12.92	-\$6.72
CRESTOR*	\$98.32	\$20.87	\$104.82	\$14.17	\$6.50	-\$6.70
FOSAMAX	\$107.21	\$22.33	\$82.50	\$13.47	-\$24.70	-\$8.86
CELEBREX	\$162.41	\$37.01	\$218.74	\$33.36	\$56.33	-\$3.65
OMEPRAZOLE	\$37.25	\$6.00	\$39.93	\$4.34	\$2.68	-\$1.66
ZETIA	\$104.00	\$20.27	\$104.19	\$13.63	\$0.19	-\$6.64
FLOMAX	\$99.73	\$20.09	\$101.14	\$13.69	\$1.41	-\$6.40
TOPROL XL	\$95.42	\$17.87	\$43.49	\$9.12	-\$51.93	-\$8.75
EVISTA	\$121.21	\$22.07	\$124.50	\$14.26	\$3.30	-\$7.81
SINGULAIR	\$99.47	\$17.95	\$99.25	\$11.80	-\$0.23	-\$6.16
PROTONIX	\$218.98	\$29.85	\$75.90	\$9.72	-\$143.08	-\$20.13
ACTONEL	\$107.60	\$21.09	\$102.06	\$20.84	-\$5.54	-\$0.24
ZYRTEC	\$140.74	\$28.63	\$125.57	\$23.20	-\$15.17	-\$5.43
ARICEPT	\$107.72	\$16.68	\$100.99	\$9.59	-\$6.74	-\$7.09
DETROL LA	\$185.54	\$36.48	\$191.53	\$30.72	\$5.99	-\$5.76
MIN	\$37.25	\$6.00	\$39.93	\$4.34	-\$150.38	-\$20.13
MAX	\$240.85	\$39.53	\$254.80	\$34.11	\$56.33	-\$0.24
MEDIAN	\$107.66	\$21.58	\$104.19	\$13.69	\$0.19	-\$6.70
AVERAGE	\$136.39	\$24.78	\$114.69	\$16.37	-\$13.12	-\$7.73

^{*} indicates a combined category

Conclusion

The analysis of the data reveals significant increases in outof-pocket medical expenses for retirees under the Advantra Freedom plan. The total medical out-of-pocket cost to retirees increased by 411.53 percent from FY 2007 to FY 2008. At the same time, the pharmaceutical out-of-pocket cost decreased by only 13.36 percent. Although the plan change decreased prescription drug costs, the amount of the decrease is not enough to offset the great increase in medical cost shares. However, taking the decrease in premiums and out-of-pocket maximums into account, the increase in out-of-pocket costs does not represent an overall cost increase for the average retiree.

Taking the decrease in premiums and out-of-pocket maximums into account, the increase in out-of-pocket costs does not represent an overall cost increase for the average retiree.

FY 2007 Medical Cost Share

9 Code Diagnosis Description 401 ESSENTIAL HYPERTENSION 16,953 786 RESP SYS/OTH CHEST SYMP 250 DIABETES MELLITUS 250 DIABETES MELLITUS 360 GENERAL SYMPTOMS 739 SOMATIC DYSFUNCTION 715 OSTEOARTHROSIS ET AL 365 GAUCOMA 715 OSTEOARTHROSIS ET AL 366 CATARACT 366 CATARACT 367 GANGTIC DYSFUNCTION 715 OSTEOARTHROSIS ET AL 367 GAUCOMA 414 OTH CHR ISCHEMIC HRT DIS 702 OTHER DERMATOSES 703 OTHER DERMATOSES 704 BACK DISORDER NEC NOS 705 OTHER DENGLYIS SYMP 705 OTHER SOFT TISSUE DIS 706 GASTROINTESTINAL HEMORR 707 OTHER SOFT TISSUE DIS 708 GASTROINTESTINAL HEMORR 709 OTH ABDOMEN/PELVIS SYMP 709 OTHER SOFT TISSUE DIS 709 OTHER SOFT TISSUE DIS 700 OTHER SOFT DISSUE DIS 700 OTHER SOFT TISSUE DIS 700	Encounters Cost Share	43,958 116,337.54	49,223 77,123.40			55,16		. 73	53,543		21,983 50,938.11	8,011 45,865.83	21,207 44,290.12	13,875 41,867.91		17,641 34,050.71		18,068 27,753.23	10,841 25,059.22	4,073 23,872.62		8,198 23,802.72		6,851 23,196.39	8,617 22,464.62	2	7,602 21,259.63	3,251 21,248.69	12,244 20,156.60	6,712 19,601.19	20,952 18,225.04	
9 Code Diagne 401 ESSEN 786 RESP 9 786 RESP 9 780 GENER 739 SOMAT 730 OTHER 739 OTHER 729 OTHER 733 OTH 80 733 OTH 80 733 OTH 80 734 OTH 80 726 PERIPP 727 DISOF		Ω	12,285	9,620	5,043	8,234	2,073	6,052	8,190	4,007	6,502	4,468	6,642	8,285	4,951	5,502	4,085	2,777	4,972	726	1,555	1,191	390	3,551	3,364	3,932	2,188	748	4,059	1,716	10,479	7,00
		ESSEN	86 RESP SYS/OTH CHEST	50 DIABE	CARDI	GENE			CATAR	GLAUC	OTH CHR ISCHEMIC HRT	OTHER	JOINT DISORDER NEC		BACK	OTH A		HEART	OTHER	GASTR	CHRO	AFFEC	MAL N	OTH B	DERMA	CHR AI	PERIPH EN	96 REPLA	99 OTH UI	493 ASTHM	SCREE	787 OT CVCTEM CYMPTOMO

7/50	_	1,947	4,580	
0 2	AFTERCARE NEC. NOS. 784 SYMPTOMS INVOL HEAD/NECK	3,286 2,245	12,985 5,250	16,207.13 14,312.47
	ABN FIND	3,321	6,310	14,212.92
		2,574	5,003	13,915.97
	173 OTHER MALIG NEOPL SKIN	1,876	5,867	13,854.83
V72		5,172	8,769	13,821.52
		2,654	5,271	13,265.50
	518 OTHER LUNG DISEASES	3,385	14,612	12,144.59
		809	2,760	11,920.16
	MALIGN NE	1,145	8,012	11,912.15
	DISEASES	2,866	5,804	11,776.48
		2,331	7,369	11,736.82
	PRECEREE	2,469	5,464	11,670.79
V10	HX OF MAI	1,821	3,376	11,655.38
	Ш	2,333	10,461	11,401.83
		1,235	4,937	11,341.45
	-	2,046	4,200	11,293.79
V 57	REHABILITATION PROCEDURE	1,769	20,529	10,834.98
	ALLERGIC	1,695	7,601	10,526.68
		1,397	5,341	10,355.99
		1,498	3,772	10,346.45
	AC BRONG	2,598	4,477	10,231.92
		1,145	5,531	10,151.48
		1,069	2,666	10,048.11
	782 SKIN/OTH INTEGUMENT SYMP	2,720	4,930	9,948.44
	URINARY :	2,375	5,510	9,771.85
		1,255	3,041	9,625.03
	574 CHOLELITHIASIS	584	2,385	9,574.26
	244 ACQUIRED HYPOTHYROIDISM	2,115	3,649	9,521.40
			7,275	9,261.72
	461 ACUTE SINUSITIS	2,233	3,166	9,235.89
	-	2,087	2,851	9,046.72
		1,537	2,285	9,044.45
	459 OTH CIRCULATORY DISEASE	878	9	,037.1
	781 NERV/MUSCULSKEL SYS SYMP	1,323	7,178	8,842.25

727	OTH DIS SYNOV/TEND/BURSA	896	2,707	8,802.67
	OTHER CERVICAL SPINE DIS	2,097 1,345	3,80 <i>/</i> 4,464	8,710.11
	USAL DISORDERS	1,326	2,024	8,520.19
	SU	1,464	6,723	8,372.93
		1,808	6,857	8,294.34
	DERMATITIS	1,655	2,584	8,286.93
211 OTH BENI		1,848	4,624	8,243.98
	ANEURYSM	717	2,605	8,218.73
735 ACQ DEF	ACQ DEFORMITIES OF TOE	463	1,047	8,056.27
_	5	066	7,292	7,939.88
		2,161	3,544	7,810.50
	SSUE REPLA	2,176	5,741	7,573.22
		1,437	2,074	7,524.25
	PECTORIS	1,170	2,727	7,488.12
_	IPH VASCULAR DIS	1,369	3,538	7,406.23
	RENAL/URETERAL CALCULUS	208	3,049	7,171.87
	ARTHROPATHIES NEC/NOS	1,080	2,151	7,041.71
	S	748	3,618	7,036.21
_	C BRONCHITIS	1,466	7,193	6,824.23
_		390	801	6,473.35
	O UTERINE ADNEXA	79	006	6,351.53
-	ANKLE FRACTURE	213	1,468	6,279.25
294 OTHER 0	OTHER ORGANIC PSYCH COND	828	3,249	6,201.28
	_	320	3,323	6,155.46
		1,133	1,437	5,989.87
429 ILL-DEFIN	IED HEART	1,975	3,680	5,918.46
-		833	1,179	5,813.22
	S	1,075	2,057	5,672.90
	AL FUNCTION STUDY	1,818	2,946	5,642.50
_		828	3,706	5,439.18
		323	1,097	5,388.50
569 OTH INTESTINAL	ESTINAL DISORDERS	1,298	3,220	5,281.79
	\sim		1,774	5,174.64
	3 LOSS	995	∞	5,060.37
706 SEBACEO	OUS GLAND DISEASE	2	1,319	5,014.98

637 489 322 137 127 497 297 312 383
INFLAMMATION OF EYELIDS MONONEURITIS LEG SPRAIN OF ANKLE FOOT NONSUPPUR OTITIS MEDIA OTH VACCIN FOR SINGL DIS HEMORRHOIDS LYMPHOID LEUKEMIA SPRAIN OF KNEE LEG ERYTHEMATOUS CONDITIONS MALIGNANT NEO ESOPHAGUS MALIGN NEOPL BLADDER OTHER VIRAL DISEASE INGUINAL HERNIA

2,138.89 2,098.81 2,085.00 2,084.09 2,075.49 2,059.37 2,059.37	2,001.37 2,009.01 2,003.68 1,991.76 1,949.61 1,848.45 1,845.57 1,845.57 1,806.91 1,806.91 1,806.57	1,742.68 1,742.68 1,728.24 1,696.21 1,684.77 1,679.44 1,679.44 1,576.15 1,569.59	1,346.60 1,545.21 1,512.07 1,507.61
784 1,579 1,053 1,151 3,648 1,047 702 1,797	2,167 3,279 639 1,415 643 974 974 1,724 2,252	1,434 1,099 346 571 1,750 656 1,271 585	468 908 614 750
479 713 524 714 605 483	, 832 454 201 138 609 486 168 515 512 424 453	384 472 700 110 256 1,636 385 337 308 186	257 265 154 401
370 KERATITIS 783 NUTRIT/METAB/DEVEL SYMP 274 GOUT 595 CYSTITIS 434 CEREBRAL ARTERY OCCLUS HX OF DISEASE NEC 701 OTH SKIN HYPERTRO/ATROPH 812 MOT VEHIC COLLISION NOS 511 DI FIDESY		288 WBC DISORDERS 333 EXTRAPYRAMIDAL DIS NEC 437 OTH CEREBROVASC DISEASE 556 IDIOPATHIC PROCTOCOLITIS 700 CORNS AND CALLOSITIES VACCIN FOR VIRAL DISEASE 922 FIREARM ACCIDENTS 696 PSORIASIS/LIKE DISORDERS 805 VERTEBRL FX W/O CORD INJ 591 HYDRONEPHROSIS	ADJUSTIV DIFF CON
V12		V04	V53 V49

1,462.89 1,456.26 1,447.95 1,446.11 1,444.81 1,433.66	1,416.95 1,381.01 1,344.16 1,337.61 1,305.05 1,304.84 1,300.49	1,2/2.03 1,271.16 1,251.03 1,255.56 1,247.45 1,28.51 1,196.34 1,195.78 1,156.80 1,138.82 1,126.29 1,082.90 1,087.15 1,084.71 1,042.94 1,037.93 1,037.93
1,392 649 141 581 593 724 82	422 1,178 599 807 646 694 945	830 305 1,416 1,416 1,109 628 634 1,019 1,034 1,034 416 951
548 371 90 380 323 299 21	276 420 325 255 461 125 281	435 193 338 334 337 372 372 372 374 491 194 182
95 CERTAIN AD 73 OTH LIVER I 99 COMPLIC ME 82 OTITIS MED 32 CARCINOMA 47 OTHER ARTE 46 MIGRAINE ADMIT FOR	698 PRUKITUS LIKE COND 515 POSTINFLAM PULM FIBROSIS 920 CUTTING INSTRUMENT ACCID 846 SPRAIN SACROILIAC REGION 796 OTHER ABNORMAL FINDINGS 821 OTHER FEMORAL FRACTURE 836 DISLOCATION OF KNEE 536 STOMACH FUNCTION DISORD	_ ~ _ ~ ` H
756		\ 555

	458 HYPOTENSION	583	1,540	1,028.02
	286 COAGUI ATTON DEFECTS	238 238	340 743	1,007.33
	720 INFLAM SPONDYLOPATHIES	182	480	989.21
	823 TIBIA FIBULA FRACTURE	115	719	987.96
	717 INTERNAL DERANGEMNT KNEE	255	559	976.00
71	OBSERVATION-SUSPECT COND	730	942	963.47
		323	527	957.73
		228	603	957.10
	228 HEMANGIOMA/LYMPHANGIOMA	179	239	931.17
		26	345	920.77
		186	307	909.78
		135	244	884.55
		197	519	883.48
		171	992	879.32
		268	444	877.39
		192	258	864.37
		76	151	854.17
	577 DISEASES OF PANCREAS	217	1,118	849.65
		117	689	835.74
	492 EMPHYSEMA	400	1,393	832.43
		130	314	828.71
	415 ACUTE PULMONARY HRT DIS	205	1,282	827.33
	444 ARTERIAL EMBOLISM	231	522	799.99
	307 SPECIAL SYMPTOM OR SYNDROMES	127	211	790.76
	200 LYMPHOSARC/RETICULOSARC	36	150	788.76
	38 SEPTICEMIA	399	2,010	778.06
	344 OTH PARALYTIC SYNDROMES	66	426	776.39
	REGIONAL E	82	336	753.15
	154 MALIG NEO RECTUM/ANUS	209	1,707	2.8
	891 OPEN WND KNEE/LEG/ANKLE	230	672	745.59
	246 OTH DISORDERS OF THYROID	143	225	737.65
		236	269	732.72
		291	536	9
		121	210	720.86
	79 VIRAL INF IN OTH DIS/NOS		212	710.69

77

280 302 302 174 687. 174 687. 174 687. 174 687. 135 174 687. 687. 687. 687. 687. 687. 687. 687. 687. 687. 687. 687. 687. 687. 687. 687. 687. 687. 688. 689. 670. 688. 689. 687. 688. 689	MALIGN NEOPL THYROID MASTOIDITIS ET AL ACUTE APPENDICITIS	4 4 8 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6 6	299 88 222	
174 504 714 398 436 220 327 524 663 327 524 663 327 463 328 463 327 478 247 268 326 343 78 192 1,116 249 1,726 135 211	ATOPIC DERMATITIS ABNORMAL URINE FINDINGS	199 204	280 302	
504 714 398 436 220 327 284 663 463 352 478 247 248 192 1,116 1,726 135		123	174	685.72
398 436 27 290 327 524 663 284 263 463 352 478 247 268 343 78 1,116 249 1,726 135 135	CANDIDIASIS MAL NEO URINARY NEC/NOS	332 147	504 714	680.01 672.53
436 27 290 327 524 663 284 226 463 343 343 343 343 192 1,116 1,726 135		231	398	
27 290 327 524 663 284 226 463 352 478 247 248 343 192 1,116 1,726 135		300	436	
225 524 663 284 226 463 347 247 247 249 1,116 1,726 135		144	72	
524 663 284 226 463 352 478 247 268 343 78 192 1,116 249 1,726 135		184	327	636.50
663 284 226 463 352 478 247 268 343 78 192 1,116 249 249 1,726 135		216	524	620.11
284 226 463 352 478 247 268 326 343 78 192 1,116 249 1,726 135 211		133	663	613.99
226 463 352 478 247 268 326 343 78 192 1,116 249 1,726 135		134	284	601.69
463 352 478 247 268 343 78 192 1,116 249 190 1,726 135		122	226	594.26
352 478 247 268 326 343 78 192 1,116 249 1,726 1,726 135		169	463	588.00
478 247 268 326 343 78 192 496 1,116 249 190 1,726 135		120	352	582.82
247 268 326 343 78 192 496 226 1,116 249 1,726 135		93	478	580.76
268 326 343 78 192 496 226 1,116 249 1,726 135		159	247	578.24
326 343 78 192 496 226 1,116 249 190 1,726 135		91	268	576.70
343 78 192 496 226 1,116 249 190 1,726 135		141	326	571.86
78 192 496 226 1,116 249 190 1,726 135		169	343	570.46
192 496 226 1,116 249 1,726 135 211		71	78	563.40
496 226 1,116 249 190 1,726 135 211		75	192	563.04
226 1,116 249 190 1,726 135		227	496	557.63
1,116 249 190 1,726 135		97	226	552.79
249 546. 190 544. 1,726 540. 135 540. 211 537.		197	1,116	550.54
190 1,726 135 211		125	249	546.52
1,726 135 211		118	190	544.74
86 135 26 211		440	1,726	540.88
26 211		98	135	540.40
		126	211	537.50
		106	224	529.43

258 529.38 315 519.88 734 511.75 129 506.48 ,061 495.57 33 495.52 59 488.35 251 488.01 321 485.99	325 325 462.80 100 453.67 153 477.02 272 447.02 272 446.17 92 445.87 697 442.51 441 439.66	
113 210 249 46 236 7 53 77 81		Ť,
608 MALE GENITAL DIS NEC 528 ORAL SOFT TISSUE DISEASE 416 CHR PULMONARY HEART DIS 935 FB MOUTH/ESOPHAG/STOMACH 482 OTH BACTERIAL PNEUMONIA OTH PSYCHOSOCIAL CIRCUM 222 BENIGN NEO MALE GENITAL 802 FRACTURE OF FACE BONES 494 BRONCHIECTASIS 737 CURVATURE OF SPINE	225 BENIGN NEO NERVOUS SYST 910 SUPERFICIAL INJURY HEAD 697 LICHEN 848 SPRAIN NEC 471 NASAL POLYPS 892 OPEN WOUND OF FOOT 930 FOREIGN BODY EXTERN EYE 197 SECONDRY MAL NEO GI/RESP 997 WAR INJ-UNCONVEN WAR NEC	514 PULM CONGEST/HYPOSTASIS 989 TOX EFF OTH NONMED SUBST 822 PATELLA FRACTURE 680 CARBUNCLE AND FURUNCLE 152 MALIG NEO SMALL BOWEL 423 OTH PERICARDIAL DISEASE 850 CONCUSSION 460 ACUTE NASOPHARYNGITIS VAC FOR DIS COMBINATION 161 MALIGNANT NEO LARYNX 753 URINARY SYSTEM ANOMALIES 742 OTH NERVOUS SYSTEM ANOM 312 CONDUCT DISTURBANCE NEC 816 LOSS OF CONTROL MV ACC 590 KIDNEY INFECTION 236 UNC BEHAV NEO GU
V62		90/

378.26 377.89	375.81	371.11	369.92	369.18	368.83	363.84	359.10	356.96	355.72	355.56	349.58	348.04	347.24	346.12	345.99	344.61	342.49	342.00	340.02	331.89	320.52	320.30	312.75	309.76	308.48	306.47	305.87	304.49	302.43	301.87	301.67	297.82	296.88
127 210	33 112	308	249	159	61	119	289	320	240	416	161	198	136	215	104	533	314	528	374	26	118	188	134	83	59	194	72	117	207	592		229	499
71 67 76	82	86	229	75	40	62	134	82	105	110	119	29	76	165	99	199	187	41	136	63	82		59	59	27	46	18	86	137	172	93	79	84
604 ORCHITIS EPIDIDYMITIS 257 TESTICULAR DYSFUNCTION 363 CHOROIDAL DISORDERS	NONDEPENDI	OTH ALVEOL	DISORDE	METABOLISM DIS NEC	CONG MU	DISORDE	OTH MUS	MV COLI	HERPES S			JAW DISE		396 MITRAL/AORTIC VALVE DIS			OTH RESF	MYELOID	CA IN SIT	DISEASE		DISORDE	NONINFL	OTH FA	566 ANAL RECTAL ABSCESS	MYONEUR	PERSONALITY		_		INFLUENZ	273 DIS PLASMA PROTEIN METAB	342 HEMIPLEGIA

227 BEN NEO OTH ENDO 310 NONPSYCHOTIC BRA 255 ADRENAL GLAND DIS 212 BEN NEO RESP SYST 351 FACIAL NERVE DISO) 944 BURN OF HAND WR 919 SUPERFICIAL INJ OT 446 POLYARTERIT NODO; 537 OTH GASTRODUODE 337 AUTONOMIC NERVE 916 SUPERFICIAL INJ HIF 831 SHOULDER DISLOCA 404 HYPERTEN HEART/RE 171 MAL NEO SOFT TISS! 360 DISORDERS OF THE 352 DISORDERS OF THE 352 DISORDER CRAN NEI 870 OCULAR ADNEXA OP 41 BACT INF IN OTH DIS/ 734 FLAT FOOT 852 MENINGEAL HEM FOI 397 ENDOCARDIAL DISE/ 135 SARCOIDOSIS 464 AC LARYNGITIS/TRA SCREEN-HEART/RES 350 TRIGEMINAL NERV D 226 BENIGN NEOPLASM 1 VACCIN FOR BACTER 369 BLINDNESS AND LOV 552 OTH ABDOM HERNIA 694 BULLOUS DERMATOS 624 NONINFLAMM DIS VL 157 MALIGNANT NEO PAN 195 MAL NEO OTH/ILL-DI 201 HODGKIN'S DISEASE 811 SCAPULA FRACTURE	294.96	292.31	291.24	290.05	289.22	286.61	284.35	281.43	279.44	279.24	278.87	276.78	275.37	274.28	274.26	271.76	271.16	262.06	257.83	253.84	251.41	251.20	249.38	248.87	247.83	244.12	243.23	238.52	236.14	235.52	235.41	234.88	229.53	229.26	225.08	224 13
227 BEN NEO OTH ENDOCRINE 310 NONPSYCHOTIC BRAIN SYND 255 ADRENAL GLAND DISORDERS 212 BEN NEO RESP SYST/THORAX 351 FACIAL NERVE DISORDERS 944 BURN OF HAND WRIST 919 SUPERFICIAL INJ OTH SITE 446 POLYARTERIT NODOSA ET AL 537 OTH GASTRODUODENAL DIS 337 AUTONOMIC NERVE DISORDER 916 SUPERFICIAL INJ HIP/LEG 831 SHOULDER DISLOCATION 404 HYPERTEN HEART/RENAL DIS 171 MAL NEO SOFT TISSUE 360 DISORDERS OF THE GLOBE 352 DISORDERS OF THE GLOBE 352 DISORDER CRAN NERVE NEC 870 OCULAR ADNEXA OPEN WOUND 41 BACT INF IN OTH DIS/NOS 734 FLAT FOOT 852 MENINGEAL HEM FOLLOW INJ 397 ENDOCARDIAL DISEASE NEC 135 SARCOIDOSIS 464 AC LARYNGITIS/TRACHEITIS SCREEN-HEART/RESP/GU DIS 350 TRIGEMINAL NERV DISORDER 226 BENIGN NEOPLASM THYROID VACCIN FOR BACTFERIAL DIS 369 BLINDNESS AND LOW VISION 552 OTH ABDOM HERNIA W OBSTR 694 BULLOUS DERMATOSES 624 NONINFLAMM DIS VULVA 157 MALIGNANT NEO PANCREAS 195 MAL NEO OTH/ILL-DEF SITE 201 HODGKIN'S DISEASE 811 SCAPULL FRACTURE	176	174	225	171	232	39	104	175	224	66	104	267	170	258	165	41	44	489	19	577	139	117	155	59	229	96	196	218	216	105	138	206	418	220	54	176
227 BEN NEO OTH ENI 310 NONPSYCHOTIC B 255 ADRENAL GLAND 212 BEN NEO RESP SY 351 FACIAL NERVE DI 944 BURN OF HAND 919 SUPERFICIAL INJ 446 POLYARTERIT NOI 537 OTH GASTRODUO 337 AUTONOMIC NERY 916 SUPERFICIAL INJ 831 SHOULDER DISLC 404 HYPERTEN HEART 171 MAL NEO SOFT TI 360 DISORDERS OF TI 352 DISORDER CRAN 870 OCULAR ADNEXA 41 BACT INF IN OTH 734 FLAT FOOT 852 MENINGEAL HEM 397 ENDOCARDIAL DI 135 SARCOIDOSIS 464 AC LARYNGITIS/T 850 TRIGEMINAL NERY 226 BENIGN NEOPLAS VACCIN FOR BACT 369 BLINDNESS AND I 552 OTH ABDOM HER 694 BULLOUS DERMAT 624 NONINFLAMM DIS 157 MALIGNANT NEO I 195 MAL NEO OTH/ILL 201 HODGKIN'S DISE/ 811 SCAPULA FRACTU	74	72	157	68	76	15	84	99	103	40	71	52	73	63	67	16	26	157	11	66	123	39	107	47	85	52	179	104	54	37	80	48	102		6	101
V81 V81 V03	BEN NEO	310 NONPSYCHOTIC BRAIN SYND	ADRENAL	212 BEN NEO RESP SYST/THORAX	FACIAL NERVE	BURN OF I	SUPERFIC	POLYARTE	OTH GAST	AUTONOM	SUPERFICI		HYPERTEN HEART/RENAL	MAL NEO SO	DISORDERS	DISORDER	OCULAR ADNEXA	BACT INF IN						SCREEN-H	TRIGEMIN	226 BENIGN N		BLINDNES	OTH ABDO	BULLOUS	NONINFLA	MALIGNANT NEO PANCREA	MAL NEO OTH/ILL-DEF SIT	HODGKIN'S DISEAS	SCAPULA FRAC	PEPTIC UI CER

705 DISORDERS OF SWEAT GLAND 879 OPEN WOLIND SITE NEC	GLAND	44	60	
ASO	NSULT	69	113	219.39
APLASTIC ANEMIA		128	648	
IN I KACEKEBKAL HEMOKKHAGE UNCER NEO ENDOCRINE/NERV	KKHAGE E/NERV	96 49	447 104	210.60 208.36
SUPERFICIAL INJ FOOT/TOE	/TOE	50	74	207.75
	RHAGE	40	213	207.37
ALCOHOL DEPENDENCE SYNDR	SYNDR	27	132	205.17
OTHER ELECTIVE SURGERY	ERY	13	14	202.07
NERVE ROOT/PLEXUS DIS	IS	89	194	201.33
ARTHROPATHY W INFECTION	NOIL	46	252	190.00
OPEN WOUND OF LEG NEC	EC	38	85	190.00
MALIGNANT NEOPLASM NOS	NOS	116	268	188,96
\circ		15	383	188.35
ANT HORN CELL DISEASE	Ц.	22	114	188.18
DIS AMIN-ACID METABOLISM	DLISM	25	34	187.28
LATE EFFECT ACUTE POLIO	LIO	27	72	182.00
POIS-MEDICINAL NEC/NOS	SON	27	65	181.10
EPUCE	PHIMOSIS	28	86	176.79
IMPETIGO		28	33	176.52
MAL NEO FEM GEN NEC/NOS	/NOS	38	269	175.48
TONGUE DISORDERS		53	74	174.49
INTRACRANIAL HEM NEC/NOS	C/NOS	119	636	173.94
OPEN WOUND OF TOE		40	70	171.17
		20	32	170.57
DIS MID EAR/MASTOID NEC	NEC	26	47	169.08
VEHICLE-TRAIN COLLISION	ION	32	119	168.18
SUPERFIC INJ SHOULDR/ARM	⟨VARM	21	27	168.06
MALIG NEOPL UTERUS NOS	SON	28	207	167.57
NUTRITIONAL MARASMU	ST	11	31	162.72
APPENDICITIS NOS		22	48	157.03
VASC INSUFF INTESTINE	Ш	85	344	156.53
	KUNK	29	40	153.03
MALIGNANT NEOPLASM EYE	EYE	22	103	2
NEO BONE/ARTIC CARI	CART	44	199	152.34

149.63 148.49 148.18	145.96 144.64	144.28	141.44	139.52	132,89			128.17	125.34	123.27	123.22	122,25	121.73	120.81	119.14	119.13	117.93	116.78	112.93	112.21	112.18	112.01	111.76	111.00	109.82	109.11	108.25	105.57	105.52	105.06	104.72
25 13 144	210 37	129	248	137	33 121	30	320	83	286	536	16	218	38	115	113	89	83	23	31	4	61	64	17	81	73	40	47	18	30	13	28
15 5 52	119 29	33	16	26 26	48	17	66	15	49	118	&	86	15	50	13	35	54	14	21	m	48	36	16	24	46	34	44	9	25	თ	22
885 TRAUM AMPUTATION THUMB 299 PSYCHOSES OF CHILDHOOD 815 MV COLLISION W OTH OBJ	738 OTHER ACQUIRED DEFORMITY 743 CONGENITAL EYE ANOMALY	ASBESTC	MALIG N		336 SPINAL CORD DISEASE NEC		OTH CON				SUICIDE-		MAL NEO	OTH TRA					OTH VIRA	GONOCO		INTESTIN	MV TRAFF			DERMAT (IMPAIRED	904 BLOOD VESSEL INJURY NEC	915 SUPERFICIAL INJ FINGER

rois-broo	14	46	103.24
42 ACQUIRED IMMUNE DEFICIENCY SYN	11 .c	61	
TOKETEIN D	77	ζ.	
712 CKTSTAL AKTIROPATHIES DEODHYLACTIC MEASLIDES	L 2.	16	100.35
34 STRED THROAT/SCADI ET EEV	4T 37	+ C	100.34
MISCII AP DVSTBOBHTE	27	000	99.82
	76	7.7.7	99.39
NEPHRITIS	5 c ፕር	CC	
BIRN OF F	, t	7 + -	90.47 90.47
ACUTE POLIOM	† 	33	96.23
829 OTHER ROAD VEHICLE ACC	44	118	96.50
875 OPEN WOUND OF CHEST	13	81	94.98
SCREENING FOR VIRAL DIS	9	9	94.84
522 PULP PERIAPICAL DIS	42	99	94.83
	32	53	94.19
	39	45	93.40
RESPIRATO	∞	19	93.00
921 CONTUSION EYE ADNEXA	89	108	92.43
CA IN SITU	48	209	92.22
	30	47	91.44
MALIG NEO	30	176	91.36
	17	22	91.23
	10	15	90.24
DIS CARBC	39	45	90.13
MALIGNAN	∞	24	90.00
	20	53	85.74
DUODENAL	64	250	85.61
	17	24	85.59
ILL-DEFINE	54	125	83.99
	52	58	82,86
565 ANAL FISSURE FISTULA	43	110	80.00
871 EYEBALL OPEN WOUND	15	35	78.70
BRONCOPN	46	111	78.55
05 SECONDAR	41	72	77.73
534 GASTROJEJUNAL ULCER	თ	17	77.23

76.59 75.54 75.28 75.00 74.77 70.68 69.03 66.20 65.95 65.95 65.40 64.69 63.26	58.66 58.31 56.97 56.97 57.12 52.18 51.98 64.90 64.12 64.12 64.12 64.12
50 6 181 113 113 132 132 132 132 132 13	74
11 36 15 29 15 14 37 30	41 27 8 11 11 11 22 8 4 5 8 11 11 11 8 5 1 1 1 1 1 1 1 1 1 1 1
851 CEREBRAL LACER/CONTUSION 39 ACTINOMYCOTIC INFECTIONS 759 CONGEN ANOMALIES NEC/NOS 279 DIS IMMUNE MECHANISM 943 BURN OF ARM 70 VIRAL HEPATITIS ASYMPTOMATIC HUMAN IMMUNODEF 758 CHROMOSOMAL ANOMALIES 933 FB PHARYNX LARYNX 958 EARLY COMPLIC OF TRAUMA 421 AC/SUBAC ENDOCARDITIS 801 SKULL BASE FRACTURE 524 DENTOFACIAL ANOMALIES 525 OTHER DENTAL DISORDERS 151 MALIGNANT NEO STOMACH	860 TRAUM PNEUMOHEMOTHORAX 745 CARDIAC SEPTAL CLOS ANOM 877 OPEN WOUND OF BUTTOCK 990 WAR INJURY:FIRE/CONFLAG 318 OTHER MENTAL RETARDATION 872 OPEN WOUND OF EAR 731 OSTEITIS DEFORMANS 258 POLYGLANDULAR DYSFUNCT 895 TRAUMATIC AMPUTATION TOE 263 PROT-CAL MALNUTR NEC/NOS FAM HX-OTHER CONDITIONS HEALTH SUPERVISION CHILD 213 BEN NEO BONE/ARTIC CART 194 MAL NEO OTHER ENDOCRINE 510 EMPYEMA 732 OSTEOCHONDROPATHIES 159 OTH MALIG NEO GI/PERITON 476 CHR LARYNG/LARYNGOTRACH 582 CHRONIC NEPHRITIS
80>	V19 V20

218	886 TRAUM AMPUTATION FINGER	11	51	47.38
9	OTH INTR	П	2 14	47.08
	587 RENAL SCLEROSIS NOS	38	48	46.49
		16	25	46.00
		18	34	43.54
	942 BURN OF TRUNK	16	35	43.11
		29	137	43.10
	-	39	73	42.84
		11	12	42.81
		27	69	41.91
	619 FEMALE GENITAL FISTULA	13	42	41.51
	MALIGNAN	12	23	40.90
	ACUTE RE	35	51	40.66
	OTH MALI	7	09	38.73
		9	27	38.54
	TOXIC EFF	H	9	38.54
	LOWER LI	23	57	38.36
	CNS DISO	26	119	36.79
	DRUG PSY	33	92	36.74
	FOREIGN BODY GI NOS	11	17	36.73
		10	30	36.63
		10	12	36.28
N68	ADMINISTRATIVE ENCOUNTER	22	32	36.14
	841 SPRAIN ELBOW FOREARM	20	30	35.75
V01	COMMUNICABLE DIS CONTACT	10	12	35.47
	PSYCHOPF	13	21	35.13
	CATAPLEX	16	41	34.20
		22	34	31.97
	133 ACARIASIS	22	25	30.81
	480 VIRAL PNEUMONIA	84	163	30.59
۷46	OTHER MA	29	216	28.85
	31 OTHER MYCOBACTERIAL DIS	10	43	28.24
		40	112	Ó.
		18	168	
	219 OTH BENIGN NEO UTERUS	21	31	25.97

25.46 25.33 25.31 25.22		23.43		22.60	21.99		20.40	20.00	20.00	20.00	20.00	20.00	20.00	20.00	20.00	19.53	19.44	19.20	18.03	17.76	17.54	17.53	16,69	16.53	16.00	15.93	15.80	15.40	15.32
10 82 38 52	12 27	50	7	ס	15 ¤	97	18	264	33	10	12	15	28	5	6	20	5	9	20	99	22	110	14	12	10	22	37	4	49
10 21 28 16	6 19	22	9	9	. 4	. 31	12	45	5	8	9	∞	14	4	4	10	4	4	21	13	5	38	10	10	7	13	34	m	13
761 MATERNAL COMPL AFF NB 835 DISLOCATION OF HIP 750 OTHER UPPER GI ANOMALY 834 DISLOCATION OF FINGER	CNS ABS	283 ACQ HEMOLYTIC ANEMIA 243 CONGENITAL HYPOTHYROIDSM	PEDICULO	INFECTIO	809 FRACTURE OF TRUNK BONES 928 CRUSHING INTURY OF LEG				LUNG IN		PILONID/			WRIST D		495 EXT ALLERGIC ALVEOLITIS	127 OTH INTEST HELMINTHIASES	-	OPN WNE		11 PULMONARY TUBERCULOSIS		OTH PER]	OTH FEM	906 OTH INJ CAUSED BY ANIMAL		SCREEN-NEURO/EYE/EAR DIS		322 MENINGITIS, UNSPECIFIED

15.00 15.00 15.00 15.00 15.00 15.00 15.00 15.00		
41 249 8 8 31 38 38 38 38 38 38 38 38 38 38 38 38 38	1 84211 110	
OS TURE VOS SOSES	ANCES DIS AVOLV INJ FX EENT REG RTHWT R NEC	S I E ETHWT OMALY ETAB ASES IMB IMB AGENT CT
567 PERITONITIS 192 MAL NEO NERVE NEC/NOS 991 EFF REDUCED TEMPERATURE 268 VITAMIN D DEFICIENCY 505 PNEUMOCONIOSIS NOS 628 FEMALE INFERTILITY 129 INTESTIN PARASITISM NOS 606 MALE INFERTILITY 82 TICK-BORNE RICKETTSIOSES 817 MULTIPLE HAND FRACTURES	HOUSEHOLD FEMALE PELY NORMAL PRE RHEUM FEV LATE EFF NE SPINAL COR RESP COND ENDOMETRI VENOUS COI SHORT GEST TOXIDE EFF OTOSCLERO	MALLIG NEO DISLOCATIC LONG GEST, OTH CONGE SCREEN-ENI FUM/VAPOR CRUSHING I OPEN WOUN POISON-CAF FOREIGN BC WHOOPIING CARCINOMA
	V60 V22	777

40	254 DISEASES OF THYMUS GLAND	rv č	9	4.39
	5 <		35 25	3.95
_	CHK I A DIS	16	26	3.44
	HEAD/NECK/TRUNK PROBLEMS	ιO	S	3.26
		22	36	2.51
94	NEUROSYPHILIS	11	23	2.51
•	TETANUS	H	П	2.51
		25	52	2.22
302	LATE EFF MUSCULOSKEL INJ	21	41	2.22
	MAJOR PUERPERAL INFECT	т-1	₩	2.07
	SINGLE LIVEBORN	m	4	1.63
	OTHER ARTHROPOD VIRUS	П	က	0.79
_	CHICKENPOX	4	7	0.46
_	OTH PERITONEAL DISORDERS	37	95	00.00
147 N	MALIG NEO NASOPHARYNX	10	114	0.00
•	TRAUMATIC AMPUTAT FOOT	2	10	00.0
	BURN OF HEAD/FACE/NECK	9	23	00.0
	HARD TISSUE DIS OF TEETH	31		0.00
	INF/PARASITE DIS NEC/NOS	30	49	0.00
	BENIGN NEOPLASM OVARY	15	19	00.00
	LUNG/MEDIASTINUM ABSCESS	8	26	00.00
	POISON-PSYCHOTROPIC AGT	6	19	00.00
142 №	MAL NEO MAJOR SALIVARY	11	58	00.0
	OTHER MYCOSES	12	73	00.0
	ACUTE NECROSIS OF LIVER	11	35	00.0
	OTH SALMONELLA INFECTION	4	10	00.0
	MALIG NEOPL HYPOPHARYNX	4	58	00.0
520 T	TOOTH DEVELOP/ERUPT DIS	11	22	00.0
	OTH ANOM DIGESTIVE SYST	25	47	00.0
U	CONTRACEPTIVE MANAGEMENT	9	თ	00.0
	FALL NEC NOS	26	38	00.0
	OTH NONARTHROPOD CNS VIR	2	ĸ	00.00
	NEPHROTIC SYNDROME	17	30	00.00
	MULT FX SKULL W OTH BONE	∞	11	00.00
960 P	POISONING BY ANTIBIOTICS	M I	4 i	0.00
	PELVIC ORGAN INJURY	_	17	0.00

ACUTE PERICARDITIS SUJ/SELF-INJ BY CUT INST BACTERIAL MENINGITIS RIDDEN ANIMAL ACCIDENT GI TRACT INJURY TOX EFF CARBON MONOXIDE HEAD/NECK VESSEL INJURY MILIARY TUBERCULOSIS SPINA BIFIDA ACUTE MYOCARDITIS TRICHOMONIASIS CONVALESCENCE FITTING OF PROSTHESIS OTH SEVERE MALNUTRITION 10 TOXIC EFFECT OTH METALS PROCEDURES NOT DEPLAYMOTIC MALIGNANT NEOPLASM GUM AALIGNANT NEOPLASM GUM AALIGNANT NEOPLASM SYN TOXIC EFFECT OTH METALS PROSEDNES NOT DESP TOXIC EFFECT OTH METALS TOXIC EFFECT O	23 0.00 10 0.00	25 0.00	14 0.00	8 0.00	17 0.00	23 0.00	10 0.00	13 0.00	5 0.00	4 0.00	1 0.00	4 0.00	17 0.00	10 0.00	5 0.00	19 0.00	30 0.00	8 0.00	15 0.00	25 0.00	19 0.00	12 0.00	16 0.00	5 0.00	16 0.00	1 0.00	5 0.00	13 0.00	3 0.00	8 0.00	5 0.00	11 0.00	4 0.00	13 0.00 3 0.00
TE PERICARDITIS 'SELF-INJ BY CUT INST TERIAL MENINGITIS DEN ANIMAL ACCIDENT 'RACT INJURY EFF CARBON MONOXIDE D/NECK VESSEL INJURY 'ARY TUBERCULOSIS AN BIFIDA 5-WATEK/MIN/METAB AGT TE MYOCARDITIS EBITIS INTRCRAN SINUS CHOMONIASIS INALESCENCE ING OF PROSTHESIS SEVERE MALNUTRITION CEDURES NOT DONE NEO THYMUS/MEDIASTIN IGNANT NEOPLASM GUM EPHALOMYELITIS IC EFFECT OTH METALS SON-SEDATIVE/HYPNOTIC PROSTHESIS SON-SEDATIVE/HYPNOTIC PRACTORS SON-SEDATIVE/HYPNOTIC PRATORY DISTRESS SYN ER CNS DEMYELINATION FINAL NEC/NOS A SITU NEC/NOS A SITU NEC/NOS A SITU NEC/NOS IL VAULT FRACTURE 5-ANALGESIC/ANTIPYRET NIAL NERVE INJURY RECCIFIC DEVELOP DELAYS RT LUNG INJURY ERCULOSIS NEC	17 2 8 1	4	7	CJ.	4	19 2	1		2	М	Ŧ	4														 1	5			4	4		м	3 8
	TE PERICARDITIS SELF-INJ BY CUT INST	TERIAL MENINGITIS	DEN ANIMAL ACCIDENT	RACT INJURY	EFF CARBON MONOXIDE		ARY TUBERCULOSIS	A BIFIDA	:-WATER/MIN/METAB AGT	TE MYOCARDITIS			VALESCENCE	ING OF PROSTHESIS	SEVERE MALNUTRITION	CEDURES NOT DONE			EPHALOMYELITIS	IC EFFECT OTH METALS	ON-SEDATIVE/HYPNOTIC	PIRATORY DISTRESS SYN	ER CNS DEMYELINATION	RNAL INJURY NOS	N SITU NEC/NOS	/ILL-DEF MAL NEO RESP	JEY INJURY	ON-ANTICONVULSANTS	ABDOM HERNIA W GANGR	L VAULT FRACTURE	- 1	Z		\neg

		00000
01 0 0 0 0 8 V S 4 4 8 4 11	4	1 W 4 V W
0 m m r v v v v v v v v v v v v v v v v v	α ν н ι ν φ ν α α α α α α α α α α α α α α α α α	1 M M N H
OTH ARTHR INJURY TO JAW DISLO MENTAL/BE TOXOPLASI SILICA PNE MY TRAFFIC MILD MENT POISONING CEREBRAL CONG ANOI SMALL KIDI	542 OTHER APPENDICITIS 580 ACUTE NEPHRITIS 971 POISON-AUTONOMIC AGENT 452 PORTAL VEIN THROMBOSIS 961 POISONING-ANTI-INFEC NEC SCREENING FOR BLOOD DIS 864 LIVER INJURY 950 INJ OPTIC NERV/PATHWAYS 909 LATE EFF EXTER CAUSE NEC 767 BIRTH TRAUMA 749 CLEFT PALATE CLEFT LIP 316 PSYCHIC FACTOR W OTH DIS 946 BURN OF MULTIPLE SITE 20 PLAGUE 390 RHEUM FEV W/O HRT INVOLV 803 OTHER SKULL FRACTURE 122 ECHINOCOCCOSIS 947 ADV EFF MEDICINE NEC/NOS 878 OPEN WOUND GENITAL ORGAN 993 EFFECTS OF AIR PRESSURE	
۸40	778	V24

0.0000000000000000000000000000000000000		000000000000000000000000000000000000000	0.00	000000000000000000000000000000000000000
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	7 M M M M O N	4 N 4 N H M N M	2 5 2 8 1 1 1 1 7	W 4
1 8 8 8 1 1 7 1 1 6	7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7 7	1 2 1 1 2 3 2 3	1477111	C
1 CHOLERA DONOR EXPLANATION OF BENEFITS 7 OTH PROTOZOAL INTEST DIS 56 RUBELLA 27 OTHER BACTERIAL ZOONOSES 484 PNEUM IN OTH INFEC DIS 87 RELAPSING FEVER 656 OTH FETAL PROB AFF MOTH 925 CRIISH INI FACE/SCALPANCK	SCREEN-OT OTH COMPL BRUCELLOS OTHER BAC UTERINE IN		642 HYPERTENSION COMPL PREG PROB W SPECIAL FUNCTIONS 948 BURN BY % BODY SURFACE 74 COXSACKIE VIRAL DISEASE 102 YAWS 777 PERINATAL GI SYSTEM DIS 91 EARLY SYMPTOMATIC SYPHIL	
V59 EOB	V75	V28	V41	V61 MSP

V02	INFECTIOUS DIS CARRIER	2	2	0.00
	72 MUMPS		←	0.00
	265 THIAMINE/NIACIN DEFIC	П	Н	0.00
	908 LATE EFF INJURY NEC/NOS	П	П	0.00
		2	m	0.00
		 1	Н	0.00
	RABIES	H	H	0.00
	PRIMARY	2	2	00.0
	OTH COM	2	2	0.00
	OPPORTU	1	П	0.00
		1	П	00.0
	114 COCCIDIOIDOMYCOSIS	2	2	0.00
	637 UNSPECIFIED ABORTION	—	—	00.0
	648 OTH CURRENT COND IN PREG	П	1	00.0
	982 TOXIC EFFECT SOLVENT NEC	H	1	00.00
LTR	LETTER ON FILE	7	11	00.0
	90 CONGENITAL SYPHILIS	П	2	0.00
	103 PINTA	₩	₩.	00.0
	264 VITAMIN A DEFICIENCY	2	m	0.00
	393 CHR RHEUMATIC PERICARD	⊣	₩	0.00
		₩	₩	0.00
	640 HEMORRHAGE IN EARLY PREG	Н	₩	0.00
		 1	2	0.00
DEN	DENTAL TREATMENT	5	9	0.00
	976 POIS-SKIN/EENT/DENT AGT	П	щ	0.00
DEP	DEPENDENT NOT ON FILE	24	47	00.0
	926 CRUSHING INJURY OF TRUNK	П	П	0.00
EYE	VISION CARE	თ	6	0.00

FY 2008 Medical Cost Share

:		ry 2008 Medical Cost Share			
3 Digit ICD9					
Code	Diagnosis Description	Patients	Encounters	Cost Share	
	366 CATARACT	7,817	17,730	535,643.80	
	786 RESP SYS/OTH CHEST SYMP	11,987	46,925	489,800.70	
		18,556	53,485		
	250 DIABETES MELLITUS	9,631	54,418	358,020.15	
	780 GENERAL SYMPTOMS	9,212	33,526		
	414 OTH CHR ISCHEMIC HRT DIS	6,572	22,902		
	_	5,818	21,425		
	_	3,649	30,544	245,862.46	
		4,642	20,292	227,038.74	
		5,213	33,378	223,136.50	
		13,315	26,781	203,841.11	
		5,292	15,840	175,336.85	
	362 RETINAL DISORDERS NEC	3,726	7,843	165,175.16	
	365 GLAUCOMA	3,823		164,365.77	
	719 JOINT DISORDER NEC NOS	6,542	19,513	159,938.69	
	599 OTH URINARY TRACT DISOR	5,354	16,723	155,482.77	
		1,742	5,138	140,374.91	
	702 OTHER DERMATOSES	4,311	7,282	129,257.31	
		2,760	1		
		1,198	9,290	112,653.72	
	285 ANEMIA NEC/NOS	3,480	14,374	101,566.67	
	211 OTH BENIGN NEOPLASM GI	1,700	3,897	100,447.64	
		2,949	5,868	95,352.37	
		4,861	9,924	94,156.41	
	486 PNEUMONIA, ORGANISM NOS	1,853	10,513	92,196.53	
V58		2,700	31,886	91,447.42	
	787 GI SYSTEM SYMPTOMS	3,748	_	90,170.67	
	722 INTERVERTEBRAL DISC DIS	2,164	6,747	88,119.50	
		1,869	-	84,734.94	
		2,577	5,107	84,312	
	_	1,910	30,546	7	
	174 MALIG NEO FEMALE BREAST	1,003	7,610	75,240.52	

	2,340	4,776	74,969.37
_	1,485	7,447	70,983.25
	2,233	5,289	69,054.50
	1,900	6,113	67,849.96
	642	4,425	66,426.35
5 CARDIOVASCULAR SYS SYMP	2,579	4,713	65,704.74
	3,426	7,350	65,126.28
	1,775	4,234	62,379.40
	3,401	15,227	61,769.54
	2,154	3,849	58,729.48
	484	5,398	58,529.23
SCREENING-MALIG NEOPLASM	11,292	21,870	55,565.75
	2,836	2,097	55,553.96
4 ACQUIRED HYPOTHYROIDISM	3,745	7,253	55,055.19
4 OTH INFLAMM POLYARTHROP	772	4,337	54,214.14
SPECIAL EXAMINATIONS	6,027	10,010	52,304.80
4 ABNORMAL FUNCTION STUDY	1,944	3,138	51,809.06
4 CEREBRAL ARTERY OCCLUS	803	4,190	50,831.72
	3,421	2,086	50,521.21
	1,072	7,547	50,502.71
_	3,543	6,614	50,481.40
2 DIVERTICULA OF INTESTINE	1,459	3,063	50,028.95
3 ABN FIND-BODY STRUCT NOS	3,112	5,811	49,015.57
0 DERMATOPHYTOSIS	2,913	6,978	48,769.35
	1,451	5,663	48,098.19
'6 FLUID/ELECTROLYTE DIS	2,204	6,272	47,685.36
5 TRANSIENT CEREB ISCHEMIA	935	2,746	47,458.44
	9//	3,003	46,699.10
-	1,553	5,548	46,034.33
11 CEREBRAL DEGENERATION	1,177	5,174	45,783.58
4 MONONEURITIS UPPER LIMB	200	1,663	44,777.39
4 CHOLELITHIASIS	575	2,150	43,434.01
1 SPONDYLOSIS ET AL	1,457	3,485	43,163.89
7 ALLERGIC RHINITIS	1,634	7,489	42,551.64
2 MAL NEO TRACHEA/LUNG	375	6,065	41,996.00
		PRECEREBRAL OCCLUSION CHRONIC BRONCHITIS REHABILITATION PROCEDURE SYMPTOMS INVOL HEAD/NECK PERIPH ENTHESOPATHIES ACUTE MYOCARDIAL INFARCT CARDIOVASCULAR SYS SYMP ABNORMAL BLOOD FINDINGS UNC BEHAV NEO NEC/NOS OTHER LUNG DISEASE FRACTURE NECK OF FEMUR SCREENING-MALIG NEOPLASM SKIN/OTH INTEGUMENT SYMP ACQUIRED HYPOTHYROIDISM OTH INFLAMM POLYARTHROP SPECIAL EXAMINATIONS ABNORMAL FUNCTION STUDY CEREBRAL ARTERY OCCLUS URINARY SYSTEM SYMPTOMS AFFECTIVE PSYCHOSES OTH BONE CARTILAGE DIS DIVERTICULA OF INTESTINE ABN FIND-BODY STRUCT NOS DERMATOPHYTOSIS OTHER CELLULITIS/ABSCESS FLUID/ELECTROLYTE DIS TRANSIENT CEREB ISCHEMIA REPLACE GRAFT COMPLIC ASTHMA CEREBRAL DEGENERATION MONONEURITIS UPPER LIMB CHOLELITHIASIS SPONDYLOSIS ET AL ALLERGIC RHINITIS	PRECEREBRAL OCCLUSION CHRONIC BRONCHITIS CHRONIC BRONCHITIS CHRONIC BRONCHITIS CHRONIC BRONCHITIS SYMPTOMS INVOL HEAD/NECK PERIPH ENTHESOPATHIES ACUTE MYOCARDIAL INFARCT CARDIOVASCULAR SYMP ABNORMAL BLOOD FINDINGS ACUTE MYOCARDIAL DISEASE ASNORMAL BLOOD FINDINGS OTHER LONG DISEASE OTHER LONG DISEASE ASSERING-MALIG NEOPLASM SCREENING-MALIG NEOPLASM SCREENING-MALIGE DIS OTH BONE CARTILAGE DIS DIVERTICULA OF INTESTINE ABNORMAL CAREB ISCHEMIA TRANSIENT CEREB ISCHEMIA SCREENING-MANA TONDIC CHARTIC NOMPLIC TONDIC CONDIC CONTRACT NOMPLIC TONDIC CHARTIC NOMPLIC TONDIC CONDIC CONDIC CONTRACT NOMPLIC TONDIC CONTRACT NOMPLIC TONDIC CONDIC CONTRACT NOMPLIC TONDIC CONTRACT NOMPLIC TONDIC CONTRACT NOMPLIC TO

723 OTHER CERVICAL SPINE DIS 466 AC BRONCHITIS/BRONCHIOL	1,296	4,209	41,286.50
AORTIC ANEURYSM	730	2,478	39,295.21
GASTRITIS AND DUODENITIS	1,018	1,991	39,158.78
OTH ILL-DEF MORBID/MORTL	1,536	7,444	38,915.34
DIS OF MUSCLE/LIG/FASCIA	1,163	5,821	38,860.34
HX OF MALIGNANT NEOPLASM	1,919	3,249	37,871.39
INGUINAL HERNIA	231	901	37,395.39
OTH DIS SYNOV/TEND/BURSA	822	2,190	36,960.78
BENIGN NEOPLASM OF SKIN	1,418	1,985	35,911.18
RENAL/URETERAL CALCULUS	702	2,564	35,303.89
CHRONIC ULCER OF SKIN	955	8,976	34,779.40
ATHEROSCLEROSIS	1,012	2,610	33,986.54
NERV/MUSCULSKEL SYS SYMP	1,264	6,894	33,454.69
OTHER BREAST DISORDERS	1,088	2,437	33,221.43
OTH INTESTINAL DISORDERS	1,157	2,793	32,587.29
ANGINA PECTORIS	1,102	2,868	31,834.50
-OLLOW-UP EXAMINATION	1,503	2,159	31,705.00
DISLOCATION OF KNEE	329	1,193	31,407.08
ACUTE RENAL FAILURE	751	5,151	31,120.50
IRON DEFICIENCY ANEMIAS	1,107	3,612	29,884.07
SEPTICEMIA	441	1,994	29,758.32
ORGAN/TISSUE REPLACEMENT	2,030	6,243	29,401.47
CONTACT DERMATITIS	1,542	2,241	29,175.08
MALIGNANT NEOPLASM COLON	337	2,984	28,810.49
OTH MAL NEO LYMPH/HISTIO	280	3,014	28,734.63
OTH PERIPH VASCULAR DIS	1,279	2,991	27,933.15
VARICOSE VEINS, LEG	477	1,524	27,458.11
OTHER ABDOMINAL HERNIA	752	1,521	25,630.96
INTESTINAL OBSTRUCTION	422	1,736	25,544.82
FUNCT DIGESTIVE DIS NEC	1,272	2,504	25,184.65
GASTROINTESTINAL HEMORR	696	3,884	25,173.00
GENITAL PROLAPSE	391	1,119	24,860.41
RADIUS ULNA FRACTURE	284	1,756	24,787.75
I'S DISEASE	493	2,869	24,594.28
OTH RENAL URETERAL DIS	1,615	2,878	23,808.02

JTE SINUSITIS F FFF OF SEI F-INJI IRV	2,199	2,984	23,797.83
E EFF OF SELF-INJORY (EOFF/LANDING ACCIDENT	2,098 467	5,413 2.112	23,577.97
DISORDERS NEC	1,067	1,472	23,164.88
ONIC SINUSITIS	898	1,587	21,951.96
URI MULT SITES/NOS	2,148	2,720	21,911.05
DEFINED HEART DIS	1,817	3,438	21,653.76
ORDERS OF EYELIDS NEC	406	853	21,605.97
THROPATHIES NEC/NOS	1,053	2,176	21,461.21
DEFORMITIES OF TOE	492	1,094	21,400.08
1 VENOUS THROMBOSIS	612	2,972	21,362.16
JROTIC DISORDERS	1,035	2,474	21,221.07
AIN OF BACK NEC/NOS	840	2,736	20,948.65
HER SKIN DISORDERS	1,155	1,647	20,819.20
HOSTSURGICAL STATES	1,406	5,385	20,631.01
T VEHIC COLLISION NOS	218	2,097	20,540.06
ACEOUS GLAND DISEASE	688	1,092	20,497.46
IGN NEOPL BLADDER	260	1,572	20,263.39
HER ORGANIC PSYCH COND	839	3,213	20,081.87
I NONINF GASTROENTERIT	645	1,449	19,759.77
	758	3,511	19,486.25
IFICIAL OPNING STATUS	221	1,081	19,390.96
IIGN MAMMARY DYSPLASIA	265	1,036	19,237.27
ORDER OF EXTERNAL EAR	1,288	1,822	19,160.01
(DIOMYOPATHY	629	1,645	18,599.36
RING LOSS	825	1,135	18,364.47
H CIRCULATORY DISEASE	810	1,977	18,360.61
RIMAL SYSTEM DISORDER	854	1,139	18,176.20
VTUSION LEG OTH SITE	751	1,324	18,141.46
NTOXIC NODULAR GOITER	492	1,532	18,038.55
USTMENT OF OTH DEVICE	317	1,737	17,477.49
RIT/METAB/DEVEL SYMP	850	1,696	17,208.89
ADUCTION DISORDERS	592	1,732	16,858.36
OTENSION	622	1,478	16,697.88
ERTENSIVE HEART DIS	781	1,971	16,607.52
IALE GENITAL SYMPTOMS	473	877	16,214.19
	ACUTE SINUSITIS LATE EFF OF SELF-INJURY TAKEOFF/LANDING ACCIDENT EYE DISORDERS NEC CHRONIC SINUSITIS AC URI MULT SITES/NOS ILL-DEFINED HEART DIS DISORDERS OF EYELIDS NEC ARTHROPATHIES NEC/NOS ACQ DEFORMITIES OF TOE OTH VENOUS THROMBOSIS NEUROTIC DISORDERS OTH POSTSURGICAL STATES MOT VEHIC COLLISION NOS SEBACEOUS GLAND DISEASE MALIGN NEOPL BLADDER OTHER SKIN DISORDERS OTHER ORGANIC PSYCH COND OTH NONINF GASTROENTERIT CVA ARTIFICIAL OPNING STATUS BENIGN MAMMARY DYSPLASIA DISORDER OF EXTERNAL EAR CARDIOMYOPATHY HEARING LOSS OTH CIRCULATORY DISEASE LACRIMAL SYSTEM DISORDER CONTUSION LEG OTH SITE NONTOXIC NODULAR GOITER ADJUSTMENT OF OTH DEVICE NUTRIT/METAB/DEVEL SYMP CONDUCTION DISORDERS HYPOTENSION HYPERTENSIVE HEART DIS	TE SINUSITIS E EFF OF SELF-INJURY EOFF/LANDING ACCIDENT DISORDERS NEC ONIC SINUSITIS NEI MULT SITES/NOS DEFINED HEART DIS DRDERS OF EYELIDS NEC HROPATHIES NEC/NOS DEFORMITIES OF TOE VENOUS THROMBOSIS ROTIC DISORDERS AIN OF BACK NEC/NOS ER SKIN DISORDERS ER SKIN DISORDERS AIN OF BACK NEC/NOS ER SKIN DISORDERS GEN SEAR DISORDER ER OKGANIC PSYCH COND NONINF GASTROENTERIT FICIAL OPNING STATUS GEN MAMMARY DYSPLASIA DIOMYOPATHY RING LOSS CIRCULATORY DISEASE SIMAL SYSTEM DISORDER TUSION LEG OTH SITE TOXIC NODULAR GOITER JSTMENT OF OTH DEVICE RIT/METAB/DEVEL SYMP DUCTION DISORDERS STENSIVE HEART DIS ALE GENITAL SYMPTOMS	TE SINUSTITS TE SINUSTITS E EFF OF SELF-INJURY EOFF/LANDING ACCIDENT DISORDERS NEC ONIC SINUSTITS ONIC S

1,323 15,918.97	5 15,897.			1,252 15,256.43	1,027 15,031.12	969 14,856.14	2,735 14,462.30	3,608 14,318.51	946 14,095.98	1,633 14,092.25	•	933 13,871.61	•	744 13,664.26	1,038 13,478.46	•	1,616 13,352.91	• •	' '	•	₩.	-	 1		1,840 11,709.16	-	1,366 11,612.54	565 11,579.45	1,077 11,300.81	1,084 11,212.75	737 11,088.41	1,615 11,052.75	784 10,984.60	530 10,977.34	
675	194	682	341	296	332	486	209	463	473	1,139	671	461	282	407	524	934	193	406	404	151	589	448	870	555	727	1,013	783	323	657	212	156	692	512	314	
595 CYSTITIS	824 ANKLE FRACTURE		-		_				355 MONONEURITIS LEG	627 MENOPAUSAL DISORDERS				455 HEMORRHOIDS		490 BRONCHITIS NOS	154 MALIG NEO RECTUM/ANUS		386 VERTIGINOUS SYNDROMES		274 GOUT	998 OTH SURGICAL COMPL NEC	_	388 DISORDERS OF EAR NEC	411 OTH AC ISCHEMIC HRT DIS	OTH ORTHOPEDIC AFTERCARE		CUTTING I	DISEASES	_	_	DEPRESSIVE	381 NONSUPPUR OTITIS MEDIA	232 CARCINOMA IN SITU SKIN	

V54 V12

V70 V04

995 CERTAIN ADVERSE EFF NEC 552 OTH ABDOM HERNIA W OBSTR 696 PSORIASIS/LIKE DISORDERS 601 PROSTATIC INFLAMMATION 718 OTHER JOINT DERANGEMENT	787 54 255 351 281	2,100 171 610 591 615	7,578.69 7,566.28 7,515.65 7,438.04 7,413.83
-	88 510 149	1,058 2,196 847	7,383.49 7,325.66
	410	712	7,273.06
	228 224	86 / 62 7	7,269.96 7,248.29
FIREARM ACCIDENTS	352	565	7,238.35
897 IRAUMAIIC AMPOIAIION LEG 845 SPRAIN OF ANKLE FOOT	76 256	44 <i>2</i> 569	7,117.39 7,084.58
	284	623	6,968.33
_	337	512	6,959.87
	646	1,090	6,933.22
-	418	1,034	6,880.73
796 OTHEK ABNORMAL FINDINGS 710 DIFF CONNECTIVE TISS DIS	656 175	866	6,857.49
URETHRAL STRICTURE	127	265	6,800.16
_	120	720	6,717.33
_	260	683	6,643.34
_	180	351	6,567.79
	262	503	6,561.33
	119	616	6,423.26
	101	336	6,378.65
-	602	782	6,297.43
_	214	741	6,254.21
_	151	1,261	6,169.53
852 MENINGEAL HEM FOLLOW INJ	82	451	6,068.61
242 THYROTOXICOSIS	277	617	5,926.44
_	551	672	5,892.63
_	232	792	5,657.22
555 REGIONAL ENTERITIS	97	428	5,639.80
-	107	6/0	2,051.25

5,550.47 5,508.96 5,446.97	5,417.47 5,403.10	5,359.47	5,139.15	5,032.46	5,017.89	4,914.80	4,891.29	4,888.08	4,885.97	4,871.65	4,861.26	4,782.03	4,593.40	4,581.92	4,580.96	4,473.32	4,403.37	4,398.84	4,383.42	4,372.28	4,349.23	4,300.02	4,276.37	4,167.72	4,150.19	4,125.10	4,119.71	4,104.30	4,060.49	3,964.24	3,926.68
470 430 326	567 400	1,213	204 213	400	137	333	558	352	365	237	786	1,448	469	399	845	281	180	118	375	255	632	207	311	388	403	524	177	252	613	810	2,156
154 166 255	302 263	426	63 104	150	26	139	159	239	112	87	154	464	343	234	72	158	59	47	260	152	368	138	124	119	113	182	106	174	41	349	344
825 MV N-TRAFFIC ACC NEC/NOS 233 CA IN SITU BREAST/GU 690 ERYTHEMATOSQUAMOUS DERM			532 DUODENAL ULCER 537 OTH GASTRODUODENAL DIS		-			_	_				382 OTITIS MEDIA, SUPPUR/NOS	_	295 SCHIZOPHRENIC DISORDERS	_		LOWER URIN	_	708 URTICARIA	_	357 INFLAM/TOXIC NEUROPATHY		_					205 MYELOID LEUKEMIA		286 COAGULATION DEFECTS

VASC INSUFF INTESTINE URINARY SYSTEM ANOMALIES
D OF HAND DIS OVAR/ADNEX
SKIN INFECTION
ORGAN TRANSPLANT STATUS
HEMANGIOMA/LYMPHANGIOMA
ABNORMAL URINE FINDINGS BABATHYBOID DISOBNER
WAR INJ-UNCONVEN WAR NEC
OTH MUSCULOSKELET ANOMAL
INTRACRANIAL HEM NEC/NOS
FIND
OTHER ACQUIRED DEFORMITY
FRIGEMINAL NERV DISORDER
CHR PHARYNG/NASOPHARYNG

3,071.06 3,068.64 3,060.44	3,052.78	3,018.43	2,969.16	2,959.72	2,928.70	2,908.67	2,908.48	2,827.50	2,814.29	2,805.04	2,765.00	2,757.73	2,743.37	2,722.53	2,714.97	2,673.73	2,657.35	2,647.36	2,579.48	2,576.96	2,561.52	2,524.71	2,489.66	2,484.37	2,448.70	2,439.02	2,435.92	2,425.22	2,398.79	2,383.15	2,368.24	2,331.95
543 421 388	469 300	133	208	198	297	201	293	220	255	242	314	238	121	380	214	390	455	121	257	113	202	124	580	377	311	191	290	119	160	483	265	234
321 121 186	85 46	58	47	87	148	142	53	134	168	25	140	141	29	215	64	106	193	53	53	22	103	09	42	19	130	43	106	38	75	83		152
792 ABN FIND-OTH BODY SUBST 457 NONINFECT LYMPHATIC DIS 519 OTH RESP SYSTEM DISEASES	344 OTH PARALYTIC SYNDROMES 831 SHOULDER DISLOCATION	HYDROCE	PATELLA FRACTU		_	-			_		307 SPECIAL SYMPTOM OR SYNDROMES		622 NONINFLAMM DIS CERVIX	_			ᅱ	565 ANAL FISSURE FISTULA	_		527 SALIVARY GLAND DISEASES	PITUITARY/HYPOTHALM DI	MALIGNANT NEO			DIS IMMUNE ME(605 REDUN PREPUCE PHIMOSIS	850 CONCUSSION		246 OTH DISORDERS OF THYROID	FAMILY HX-MALIGNANCY

DISORD TYMPANIC MEMB NEC OTH ALVEOL PNEUMONOPATHY HYPERTEN HEART/RENAL DIS
JRETHRITIS/URETHRAL SYND
OLD MYOCARDIAL INFARCT BENICN NEODIASM OF EXE
OF UTERUS NEC
BLINDNESS AND LOW VISION
LYMPHOSARC/RETICULOSARC
1
MALIG NEOPL CERVIX UTERI
FB MOUTH/ESOPHAG/STOMACH
BEN NEO RESP SYST/THORAX
SUBARACHNOID HEMORRHAGE
DISORDER OF MENSTRUATION
MALIGNANT NEOPLASM BRAIN
NERVE DISORDER

TOX EFF OTH NONMED SUBST PEDAL CYCLE ACCIDENT	78	129 147	1,713.58 1,674.40
MUSCULAR DYSTROPHIES	79	358	1,650.01
SCREEN-OTHER CONDITIONS DISFASES OF MITRAL VALVE	500	574 80	1,647.01
VEHICLE-TRAIN COLLISION	37	87	1,609.36
MAL NEO FEM GEN NEC/NOS	54	242	1,565.04
	57	108	1,539.51
MALIGNANT NEO LARYNX	27	112	1,512.81
NONDEPENDENT DRUG ABUSE	09	147	1,477.83
SUPERFICIAL INJURY HEAD	70	88	1,462.07
EPIDIDYMITIS	26	149	1,456.75
POISON-PSYCHOTROPIC AGT	13	19	1,432.93
RECTAL ABSCESS	22	6	1,429.56
OTHER CONGEN HEART ANOM	108	181	1,429.53
	26	80	1,428.13
BEN NEO ORAL CAV/PHARYNX	65	95	1,404.51
FOREIGN BODY EXTERN EYE	81	66	1,394.02
TH NEC/NOS	18	109	1,389.47
	45	70	1,381.72
ACQUIRED IMMUNE DEFICIENCY SYN	14	99	1,354.80
PEPTIC ULCER, SITE NOS	98	130	1,339.24
OTH CONG CIRC SYST ANOM	77	130	1,337.72
SEQUELA OF CHR LIVER DIS	45	258	1,312.17
SUPERFICIAL INJ OTH SITE	93	108	1,307.10
ACQ HEMOLYTIC ANEMIA	23	75	1,305.29
ILL-DEFINED INTEST INF	99	117	1,304.92
DISEASE NEC	30	137	1,267.25
EARLY COMPLIC OF TRAUMA	65	106	1,264.02
BACT INF IN OTH DIS/NOS	191	555	1,262.68
OTHER ROAD VEHICLE ACC	20	161	1,247.15
DISEASE OF CAPILLARIES	29	9/	1,228.79
OTH ENDOCRINE DISORDERS	32	72	1,227.86
DERMAT D/T INTERN AGENT	62	96	1,214.62
MALIGNANT NEOPLASM LIP	10	22	1,195.51
ENDOCRINE/NERV	89	130	1,191.36

V82

1,187.14 1,185.71 1,174.95	1,172.28	1,162.83	1,160.62	1,154.07	1,147.95	1,137.92	1,131.55	1,085.46	1,083.75	1,081.03	1,079.14	1,063.58	1,049.68	1,028.29	1,023.61	1,018.35	1,007.50	988.25	973.06	972.11	958.81	955.97	938.47	934.38	933.14	931.97	931.75	925.08	899.32	894.01	888.13
249 170 90	88 104	234	145	107	8 4 ጥ	143	70	111	243	84	230	175	121	58	103	172	132	274	105	46	133	127	38	80	59	89	41	100	125		58
104 37 37	65 64	93	133	38	94 4 0 0	79	55	61	35	40	75	38	106	16	31	38	47	34	35	28	94	7	15	12	20	25	14	26	101	136	20
892 OPEN WOUND OF FOOT 155 MALIGNANT NEOPLASM LIVER 853 OTH TRAUMATIC BRAIN HEM	363 CHOROIDAL DISORDERS 136 INF/PARASITE DIS NEC/NOS			485 BRONCOPNEUMONIA ORG NOS 383 MASTOTATIS ET AL	_	CARBUNCLE AND F			-	-							-		MALIG NEO LYMPH	HARD TI							•	BENIGN NEOPLA	4	12 PN	851 CEREBRAL LACER/CONTUSION

913 SUPERFICIAL INJ FOREARM 291 ALCOHOLIC PSYCHOSES 292 DRUG PSYCHOSES 522 PULP PERIAPICAL DIS 421 AC/SUBAC ENDOCARDITIS
423 OTH PERICARDIAL DISEASE
916 SUPERFICIAL INJ HIP/LEG 579 INTESTINAL MALABSORPTION
VAC FOR DIS COMBINATION
_
754 CONG MUSCULOSKEL DEFORM
146 MALIG NEO OROPHARYNX
PERITONITIS
841 SPRAIN ELBOW FOREARM
_
890 OPEN WOUND OF HIP/THIGH
_
912 SUPERFIC INJ SHOULDR/ARM
156 MAL NEO GB/EXTRAHEPATIC
957 INJURY TO NERVE NEC/NOS
34 STREP THROAT/SCARLET FEV
745 CARDIAC SEPTAL CLOS ANOM
385 DIS MID EAR/MASTOID NEC
•
2 CONDUCT DISTURBANCE NEC

	221 BEN NEO OTH FEM GENITAL	17	25	659 28
		29	124	· LΩ
		99	82	639.50
	SKULL BASE	13	31	637.78
	376 DISORDERS OF THE ORBIT	25	42	636.18
		35	46	626.58
	751 OTH ANOM DIGESTIVE SYST	45	29	620.27
	303 ALCOHOL DEPENDENCE SYNDR	17	06	612.79
	583 NEPHRITIS NOS	31	117	603.26
	301 PERSONALITY DISORDERS	22	52	595.59
	229 BENIGN NEOPLASM NEC/NOS	52	59	589.65
	965 POIS-ANALGESIC/ANTIPYRET	11	40	585.62
	141 MALIG NEO TONGUE	11	53	579.45
	347 CATAPLEXY AND NARCOLEPSY	23	51	578.55
	911 SUPERFICIAL INJURY TRUNK	28	40	575.94
	884 OTH FALL-1 LEVEL TO OTH	54	69	575.74
		35	58	574.31
	MALIGNANT NEOPLASM	11	19	562.47
	917 SUPERFICIAL INJ FOOT/TOE	44	54	554.42
	529 TONGUE DISORDERS	49	29	553.74
777	SCREEN-ENDO/NUTR/METAB	83	87	546.72
	732 OSTEOCHONDROPATHIES	11	22	533.44
	713 ARTHROPATH IN OTHER DIS	24	52	533.00
	915 SUPERFICIAL INJ FINGER	19	25	523.46
	194 MAL NEO OTHER ENDOCRINE	17	81	510.76
	750 OTHER UPPER GI ANOMALY	27	46	504.05
	952 SPINAL CORD INJ W/O FX	7	06	503.83
	866 KIDNEY INJURY	8	26	500.00
	570 ACUTE NECROSIS OF LIVER	10	25	495.94
	270 DIS AMIN-ACID METABOLISM	20	36	495.75
	568 OTH PERITONEAL DISORDERS	46	61	490.25
	405 SECONDARY HYPERTENSION	42	88	490.22
	705 DISORDERS OF SWEAT GLAND	38	49	489.59
	159 OTH MALIG NEO GI/PERITON	11	28	488.90
V81		58	65	484.52
	117 OTHER MYCOSES	18	41	483.45

	619 FEMALE GENITAL FISTULA	12	53	469.78
	367 DISORDERS OF REFRACTION	35	36	466.43
	867 PELVIC ORGAN INJURY	7	16	452.74
	806 VERTEBRAL FX W CORD INJ	37	06	443.25
	581 NEPHROTIC SYNDROME	17	47	443.18
		10	13	441.78
	463 ACUTE TONSILLITIS	26	31	439.96
	334 SPINOCEREBELLAR DISEASE	18	59	427.06
	_	18	49	426.61
		49	70	424.63
		27	43	412.83
	942 BURN OF TRUNK	12	46	411.19
	_	10	26	408.92
	_	15	92	400.83
		15	30	400.21
	474 CHR T A DIS	25	35	397.11
	862 INTRATHORACIC INJURY NEC	10	24	396.04
V 65	OTHER REASON FOR CONSULT	58	89	392.98
	11 PULMONARY TUBERCULOSIS	12	30	387.11
	945 BURN OF LEG	24	59	380.03
	870 OCULAR ADNEXA OPEN WOUND	15	29	374.01
	685 PILONIDAL CYST	8	43	370.98
	900 HEAD/NECK VESSEL INJURY	11	14	365.61
	940 BURN OF EYE ADNEXA	5	8	356.40
		7	18	354.00
		18	24	350.98
	872 OPEN WOUND OF EAR	21	54	349.48
	838 DISLOCATION OF FOOT	20	30	349.27
۷48	HEAD/NECK/TRUNK PROBLEMS	5	23	345.24
	115 HISTOPLASMOSIS	25	58	338.07
	49 OTH NONARTHROPOD CNS VIR	⊣	12	333,45
	_	11	80	332.82
	483 PNEUMONIA: ORGANISM NEC	54	107	330.27
	282 HEREDIT HEMOLYTIC ANEMIA	26	43	324.63
V13		51	62	310.80
	990 WAR INJURY:FIRE/CONFLAG	2	11	307.82

304.33	200.86 298.38 296.84 296.15	295.88	295.13	292.72	289.10	273.39	267.56	267.25	265.14	259.96	259.38	257.00	255.61	254.70	251.46	249.97	249.95	248.74	244.40	242.74	235.63	234.28	226.01	225.64	225.53	225.44	224.68	224.15
35	10 28 23 23	305 8	158	55	22 16	52	48	13	52	106	∞	09	თ	19	31	20	24	40	20	24	10	5	20	20	24	20	2	_∞
21 5	12 2 1 15 2 1	96	34	35	20	13	31	4	46	51	2	28	∞	16	27	8	18	23	16	21	5	2	18	6	22	თ	Н	Ω
755 OTH CONGEN LIMB ANOMALY ASYMPTOMATIC HUMAN IMMUNODEF		263 PROT-CAL MALNUTR NEC/NOS 749 CLEFT PALATE CLEFT LIP	170 MAL NEO BONE/ARTIC CART 523 GINGIVAL/PERIODONTAL DIS	_	219 OTH BENIGN NEO UTERUS 928 CRUSHING INJURY OF LEG		_		_		671 VENOUS COMPLIC IN PREG			٠,		_	-		-	_	517 LUNG INVOLV W OTH COND	7 OTH PROTOZOAL INTEST DIS	77 OTH VIRAL CONJUNCTIVITIS	_	818 MV TRAFFIC ACCIDENT NEC	513 LUNG/MEDIASTINUM ABSCESS	27 OTHER BACTERIAL ZOONOSES	CONTRACEPTIVE MANAGEMENT
V08											!	V07																V25

4 221.68	9 213.80	30 207.66		12 206.56	19 205.86	45 201.42	61 201.11	22 200.86		21 197.15	32 195.45	8 190.17	15 186.23	55 182.74		74 179.14	24 178.53	20 176.56	64 174.00	23 172.12	33 171.62	34 170.86	27 168.50	29 166.16	74 166.00		16 155.05	38 152.28	5 149.93	9 146.44	58 146.28	70 571	
m N	ı o	19	2	11	10	16	22	9	9	11	10	8	9	19	7	∞	10	17	31	14	14	27	14	16	29	2	11	8	2	∞	4	4	•
		FAM HX-CHR DISABLING DIS	-	_		_	٠,	_	_	_		_	_	_	_	_		FAM HX-OTH SPECIF COND	_	_			_	OTH NERVOUS		RESPIRATORY DISTRESS	PROCEDURES NOT DONE			_		PROB W SPECIAL FUNCTIONS	

V02	INFECTIOUS DIS CARRIER 391 RHEUM FEV W HEART INVOLV 972 POISON-CARDIOVASC AGENT	25 5 18	35 10 31	132.48 130.45 129.25
	- 0	15	, 20	126.36 119.01
99/	\sim	23	39	116.15
		9	6	115.24
	_	15	17	115.17
		2	12	115.09
	_	m	8	113.56
	938 FOREIGN BODY GI NOS	14	19	112.70
N26	-	17	65	111.76
	617 ENDOMETRIOSIS	9	8	106.74
	98 GONOCOCCAL INFECTIONS	7	7	106.58
	_	m	23	106.38
	-	13	17	105.91
	254 DISEASES OF THYMUS GLAND	⊣	9	105.61
	_	23	63	100.65
	589 SMALL KIDNEY	15	16	97.55
	231 CARCINOMA IN SITU OF RESPIRATO	21	46	93.41
	895 TRAUMATIC AMPUTATION TOE	11	41	93.24
	306 PSYCHOPHYSIOLOGIC DIS	2	7	92.33
	500 COAL WORKERS' PNEUMOCON	27	43	91.62
	534 GASTROJEJUNAL ULCER	4	11	90.05
	319 MENTAL RETARDATION NOS	6	23	89.95
		4	15	87.36
	837 DISLOCATION OF ANKLE	5	2	86.70
	330 CEREBRAL DEGEN IN CHILD	ĸ	5	86.24
٧19	FAM HX-OTHER CONDITIONS	თ	10	86.13
	752 GENITAL ORGAN ANOMALIES	9	8	83.89
	524 DENTOFACIAL ANOMALIES	8	15	82.64
	908 LATE EFF INJURY NEC/NOS	4	9	81.91
	615 UTERINE INFLAMMATORY DIS	2	7	81.88
	234 CA IN SITU NEC/NOS	m	11	81.10
	_	4	4	80.08
	143 MALIGNANT NEOPLASM GUM	2	65	80.00

	10	25 33	79.17 72.62
582 CHRONIC NEPHRITIS 127 OTH INTEST HELMINTHIASES	∞ т	16 6	71.21
_	m	m	70.00
	7	თ	68.32
420 ACUTE PERICARDITIS	10	25	67.82
_	5	7	67.22
	က	4	65.51
817 MULTIPLE HAND FRACTURES	5	8	63.97
964 POIS-BLOOD AFFECTING AGT	17	77	61.89
341 OTHER CNS DEMYELINATION	10	11	61.33
987 TOXIDE EFF GAS/VAPOR NEC	2	2	60.63
869 INTERNAL INJURY NOS	8	∞	60.59
-	2	m	59.10
861 HEART LUNG INJURY	9	11	58.01
142 MAL NEO MAJOR SALIVARY	11	31	57.37
_	4	2	56.71
767 BIRTH TRAUMA	m	m	54.40
761 MATERNAL COMPL AFF NB	7	7	53.84
	m	m	53.48
_	16	44	52.96
35 ERYSIPELAS	5	10	52.73
947 ADV EFF MEDICINE NEC/NOS	2	m	52.00
830 JAW DISLOCATION	4	თ	51.56
929 LATE EFF OF ACCID INJURY		 1	50.00
131 TRICHOMONIASIS	2	2	49.37
551 OTH ABDOM HERNIA W GANGR	9	9	45.39
885 TRAUM AMPUTATION THUMB	m	12	43.46
75 INFECTIOUS MONONUCLEOSIS	9	9	40.78
164 MAL NEO THYMUS/MEDIASTIN	2	57	40.17
152 MALIG NEO SMALL BOWEL	8	6	39.93
OTHER MACHINE DEPENDENCE	71	268	39.19
541 APPENDICITIS NOS	14	29	35.17
SCREENING FOR VIRAL DIS	10	14	34.45
39 ACTINOMYCOTIC INFECTIONS	4	4	33.13

32.36	31,88	31.09	30.00	30.00	30.00	28.86	25.72	25.03	21.85	20.00	20.00	20.00	20.00	20.00	17.84	15.26	15.05	14.00	13.94	13.56	13.30	11.41	11.22	10.68	10.60	10.21	10.06	10.00	10.00	10.00	10.00	10.00	10.00
70	10	m	m	11	16	4	9	က	29	H	2	П	4	16	1	4	7	m	H	13	2	21	27	2	2	2	2	m	4	1	2	m	2
0 0	4	2	2	8	72	4	9	m	13	⊣	2	П	M	9	1	4	7	2	⊣	8	2	21	23	7	2	2	2	m	m	ᆏ	2	m	2
960 POISONING BY ANTIBIOTICS 871 EYEBALL OPEN WOUND	941 BURN OF HEAD/FACE/NECK	963 POISONING-SYSTEMIC AGENT	132 PEDICULOSIS AND PHTHIRUS	683 ACUTE LYMPHADENITIS	906 OTH INJ CAUSED BY ANIMAL	•	712 CRYSTAL ARTHROPATHIES	SCREENING-MENTAL DISORD		18 MILIARY TUBERCULOSIS	56 RUBELLA		506 FUM/VAPOR RESP DISEASES	966 POISON-ANTICONVULSANTS	NORMAL PREGNANCY	734 FLAT FOOT	125 FILARIAL INFECTION	475 PERITONSILLAR ABSCESS	740 ANENCEPHALUS/SIMIL ANOM	163 MALIGNANT NEOPL PLEURA	741 SPINA BIFIDA	SCREEN-NEURO/EYE/EAR DIS	SCREENING FOR BLOOD DIS	ANTENATAL SCREENING	66 OTHER ARTHROPOD VIRUS		118 OPPORTUNISTIC MYCOSES	51 COWPOX AND PARAVACCINIA	123 OTHER CESTODE INFECTION	84 MALARIA	129 INTESTIN PARASITISM NOS	390 RHEUM FEV W/O HRT INVOLV	760 MATERN COND AFF FETUS/NEWBORN
								٨٧9							V22							V80	718	V28									

10.00 10.00 10.00 10.00 10.00 10.00 9.93 9.84	3.55 3.13 2.26 2.00 2.00	6 9 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
- 1 2 2 3 1 1 3 5 5 F	. 4 T C T E 9 -	- 2
1778148981	4 4 1 7 1 7 9 1	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
878 OPEN WOUND GENITAL ORGAN 946 BURN OF MULTIPLE SITE 956 SUI/SELF-INJ BY CUT INST 939 FOREIGN BODY GU TRACT POSTPARTUM CARE/EXAM OTH PSYCHOSOCIAL CIRCUM 128 HELMINTHIASES NEC NOS 323 ENCEPHALOMYELITIS 206 MONOCYTIC LEUKEMIA 101 VINCENT'S ANGINA		, , , , , , , , , ,
V24 V62	V75	

		0.00
08 1 1 1 2 7 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	7 0	+ <i>(</i> 0 0
м м н м н н и и и и н и н и н и н и н и		1 7 7
324 CNS ABSCESS 488 FLU D/T AVIAN FLU VIRUS 503 INORG DUST PNEUMOCON NEC 502 SILICA PNEUMOCON NEC 580 ACUTE NEPHRITIS 744 CONG ANOM EAR/FACE/NECK 773 NB HEMOLYT DIS:ISOIMMU 648 OTH CURRENT COND IN PREG 800 SKULL VAULT FRACTURE 833 WRIST DISLOCATION 803 OTHER SKULL W OTH BONE 868 OTH INTRA-ABDOMINAL INJ 896 TRAUMATIC AMPUTAT FOOT 903 TRAVEL AND MOTION 950 INJ OPTIC NERV/PATHWAYS 965 TOX EFF CARBON MONOXIDE 937 FOREIGN BODY ANUS/RECTUM 971 POISON-AUTONOMIC AGENT 975 POISONING-MUSCLE AGENT 975 POISONING-MUSCLE AGENT 976 FB IN INTESTINE COLON 951 CRANIAL NERVE INJURY NEC 967 POISON-SEDATIVE/HYPNOTIC		768 INTRAUTERINE ASPHYXIA DONOR
	V40 V51 V68	V59

FY 2007 Pharmaceutical Cost Share

Name	Dationto	Drocerintion C	
NEXIUM 40 MG CAPSULE	1,812		.ost 311ai 111g 436,429.14
PREVACID 30 MG CAPSULE DR	1,524	11,707	354,347.95
LIPITOR 10 MG TABLET	1,492	8,065	323,770.56
PLAVIX 75 MG TABLET	3,907	14,995	298,857.97
LIPITOR 20 MG TABLET	1,285	6,981	276,624.20
FOSAMAX 70 MG TABLET	2,502	12,012	268,230.37
CELEBREX 200 MG CAPSULE	1,495	6,561	242,802.59
OMEPRAZOLE 20 MG CAPSULE	6,373	39,554	237,382.63
CRESTOR 10 MG TABLET	2,290	11,053	230,979.52
ZETIA 10 MG TABLET	2,193	11,251	228,065.23
NORVASC 5 MG TABLET	1,253	2,967	226,545.33
	2,174	10,794	216,815.88
TOPROL XL 50 MG TABLET SA	2,073	11,070	197,800.21
NORVASC 10 MG TABLET	996	4,704	176,392.98
EVISTA 60 MG TABLET	1,358	7,459	164,598.49
VYTORIN 10/20 TABLET	1,647	7,771	163,785.76
SINGULAIR 10 MG TABLET	1,636	9,064	162,740.24
PROTONIX 40 MG TABLET EC	723	5,304	158,321.96
ACTONEL 35 MG TABLET	1,462	7,460	157,312.78
LIPITOR 40 MG TABLET	689	3,615	137,308.60
ZYRTEC 10 MG TABLET	931	4,577	131,026.67
ARICEPT 10 MG TABLET	1,191	7,690	128,299.32
DETROL LA 4 MG CAPSULE SA	889	3,499	127,652.31
VYTORIN 10/40 TABLET	1,309	6,251	125,649.28
SIMVASTATIN 20 MG TABLET	3,185	15,045	125,366.09
XALATAN 0.005% EYE DROPS	1,153	6,462	117,262.23
TOPROL XL 100 MG TABLET S	1,149	6,146	113,866.03
BONIVA 150 MG TABLET	089	94	111,992.94
TRICOR 145 MG TABLET	1,072	5,535	110,666.70
LEVAQUIN 500 MG TABLET	\circ	4,613	105,651.92
	S	11,662	7,4
AMBIEN 10 MG TABLET	7	4	3,651.1
DIOVAN 160 MG TABLET	899	4,656	91,480.95

NAMENDA 10 MG TABLET	822	5,362	133.4
ADVAIR 250/50 DISKUS ACTPHEX 20 MG TABLET EC	1,375	5,303	വ
	3,775	\circ	85,873.99
SPIRIVA 18 MCG CP-HANDIHA	ത	4,815	79,152.04
DIOVAN HCT 160/12.5 MG TA	693	3,683	78,675.39
CR 12.5 MG TABLET	542	2,626	78,485.65
AVANDIA 4 MG TABLET	828	4,470	77,658.48
	718	3,857	77,359.24
LISINOPRIL 20 MG TABLET	2,430	11,616	76,708.75
COZAAR 50 MG TABLET	403	1,962	75,779.66
LANTUS 100 UNITS/ML VIAL	1,027	5,010	74,556.10
LISINOPRIL 10 MG TABLET	2,563	12,043	73,148.49
HYZAAR 100-25 TABLET	321	1,826	72,842.12
METOPROLOL 50 MG TABLET	2,449	12,912	70,941.64
LEXAPRO 10 MG TABLET	785	4,122	70,758.94
TOPROL XL 25 MG TABLET SA	1,230	3,941	68,875.39
ACTOS 30 MG TABLET	803	3,782	68,407.01
METFORMIN HCL 500 MG TABL	2,238	10,985	66,701.06
SYNTHROID 100 MCG TABLET	582	2,902	65,249.09
HYDROCHLOROTHIAZIDE 25 MG	3,281	15,601	65,006.72
COSOPT EYE DROPS	415	1,665	64,557.62
MIACALCIN 200 UNITS NASAL	442	1,738	62,860.31
ATENOLOL 50 MG TABLET	1,913	10,542	62,578.94
ALTACE 10 MG CAPSULE	286	1,611	62,089.89
TRIAMTERENE/HCTZ 37.5/25	1,957	10,004	62,081.15
PREMARIN 0.625 MG TABLET	604	3,024	62,064.30
LOTREL 5/20 MG CAPSULE	529	2,790	59,345.64
AVANDIA 8 MG TABLET	614	3,220	59,310.11
AVAPRO 150 MG TABLET	300	1,515	59,245.43
PROPOXY-N/APAP 100-650 TA	3,790	11,916	58,072.39
CLOPIDOGREL BISULFATE 75	3,048	9,651	57,601.07
LYRICA 75 MG CAPSULE	472	78	57,290.09
	490	2,451	56,939.50
MG T	3,060		574.1
COZAAR 100 MG TABLET	272	~	53,812.49

9 52,708,21			3 51,004.68						0 49,018.60					4 45,572.21		3 45,114.31								2 42,076.33	6 41,865.51	4 41,781.29	7 41,527.17	9 41,431.22	9 41,355.83	3 40,955.84	6/6
1,81	•			2,856	3,442	8,603	2,381		1,270	3,129	8,661	1,287	2,998	2,634	7,834	2,853		867	9,894	9,741	1,367	6,507	2,168	1,072	2,31	2,314	2,377	1,959	2,219	1,95	985,680
411	234	496	873	550	514	5,901	561	1,675	237	436	1,716	240	1,075	502	2,908	475	1,411	126	4,094	1,620	308	1,291	551	303	454	406	531	511	530	380	298,607
CLARINEX 5 MG TABLET	HYZAAR 50-12.5 TABLET	SYNTHROID 50 MCG TABLET	COMBIVENT INHALER	COREG 6.25 MG TABLET	CYMBALTA 60 MG CAPSULE	AZITHROMYCIN 250 MG TABLE	CRESTOR 20 MG TABLET	POTASSIUM CL 10 MEQ CAP S	AVAPRO 300 MG TABLET	EFFEXOR XR 75 MG CAPSULE	ATENOLOL 25 MG TABLET	ALTACE 5 MG CAPSULE	NASONEX 50 MCG NASAL SPRA	ACTOS 45 MG TABLET	FLUTICASONE 50 MCG NASAL	LEXAPRO 20 MG TABLET	LEVOTHYROXINE 50 MCG TABL	FORTEO 750 MCG/3 ML PEN	HYDROCODONE/APAP 5/500 TA	ALPRAZOLAM 0.5 MG TABLET	COUMADIN 5 MG TABLET	LISINOPRIL 40 MG TABLET	NIASPAN 500 MG TABLET SA	WELCHOL 625 MG TABLET	COREG 12.5 MG TABLET	COREG 25 MG TABLET	ACTOS 15 MG TABLET	FOSAMAX PLUS D 70 MG/2,80	OMACOR CAPSULE	DIOVAN 320 MG TABLET	OTHER DRUGS

Cost Share
Pharmaceutical
Y 2008

סייים איים	E		ָר פּ הַרְּ
Ding Name	_	SUO	rıng
LIPITOR	3,138	23,442	799,563.64
PLAVIX	4,083	90	459,183.08
VYTORIN	89	23,068	321,199.68
CRESTOR	Ō	22,134	313,617.08
NEXIUM	$^{\circ}$	26,402	305,823.32
CELEBREX	27	38	279,544.16
OMEPRAZOLE	,59	60,653	263,444.45
SIMVASTATIN	-	7,12	40,824.1
LEVAQUIN	94	8,839	24,780.7
ZETIA	1	16,049	793.2
FLOMAX	\vdash	5,92	18,060.9
FOSAMAX	,64	o`	~~
LISINOPRIL	6,820	61,266	214,790.27
SYNTHROID	∞	17,570	1,216.1
LEVOTHYROXIN	5,737	U,	199,772.58
DIOVAN	\sim	9,023	1,839.4
ARICEPT	1,721	18,116	799.
TRICOR	1,149	7,542	3,6
AVAPRO	S	12,466	8,511.
DETROL LA	808	0	54,948.
COZAAR	702		4
ACTOS	1,647	14,216	500.
EVISTA	1,199	10,469	149,279.42
SINGULAIR	1,483	4	147,180.72
BONIVA	4	62	145,773.12
DIOVAN HCT	915	6,239	40,890.1
ADVAIR DISKU	2,058	∞	9,112.
LEXAPRO	4	2,66	8,125.8
HYZAAR	0	11	492.2
HYDROCO/APAP	ωĺ	8,0	136,210.37
METOPROLOL		8,4	173.1
IPINE	,16	2,68	8,633.7
FUROSEMIDE	6,393	50,609	127,638.67

ALTACE	582	4,406	121,720,05
METOPROLO ER	4,324	27,023	121,492.59
CYMBALTA	999	97	119,894.45
PROTONIX	1,487	11,616	112,864.08
WARFARIN	0	1,25	111,152.94
AVALIDE	1,059	8,575	110,624.29
NAMENDA	0	11,677	109,241.37
METFORMIN	3,406	27,708	0
ATENOLOL	\sim	30,263	105,330.29
PREMARIN	906	7,491	100,641.99
EFFEXOR XR	784	8,892	97,089.04
LYRICA	609	4,174	93,569.47
ACTONEL 4PK	715	3,573	91,147.86
XALATAN	738	4,381	0
JANUVIA	979	4,625	87,680.75
SPIRIVA	1,167	8,176	87,651.07
BENICAR	648	3,935	85,812.40
ZYRTEC	675	3,654	84,759.03
HYDROCHLOROT	3,884	29,082	81,524.37
TOPROL XL	1,784	8,511	77,587.80
LANTUS	1,175	9,634	77,486.04
PREVACID	936	4,493	76,870.74
ALPRAZOLAM	3,120	27,143	76,422.88
GABAPENTIN	2,840	20,771	75,570.79
LORAZEPAM	2,668	22,902	75,160.21
ATACAND	281	2,393	72,078.73
MICARDIS	721	5,543	66,462.75
NIASPAN ER	707	5,729	\sim
AVODART	585	3,588	63,176.50
VESICARE	379	2,301	62,744.34
LISINOP/HCTZ	4	13,794	59,860.09
ENALAPRIL	1,355	90	8,784.4
REQUIP		97	/
BENICAR HCT		4	1.5
LOVASTATIN	7	,45	6,415.
FOSAMAX+D	585	90	6,379.2

CADUET	190	1,538	55,873.13
FELODIPINE	1,117	9,870	55,680.21
COREG	Ó	6,216	55,632.64
POT CHLORIDE	2,529	31	55,444.36
TRIAMT/HCTZ	1,928	14,676	54,010.94
OXYBUTYNIN	1,084	8,343	53,548.07
ISOSORB MONO	1,602	28	53,328.63
AZITHROMYCIN	6,521	9	52,969.49
AVANDIA	641	5,189	796.1
SERTRALINE	1,651	15,010	51,154.70
ZOLPIDEM	18	<u>L</u> 3	50,848.58
SEROQUEL	573	S	594.
WELCHOL	324	10	278.
LUNESTA	358	-	ő.
ACTONEL PACK	299		8
AMLOD/BENAZE	1,034	\sim	49,098.42
FEXOFENADINE	1,926	11,507	5.
LUMIGAN	588	\sim	539.
PROPO-N/APAP			789.
PAROXETINE	1,328	\sim	225.
CATAPRES-TTS	199	1,757	479.
PRAVASTATIN	1,275	\sim	17
MICARDIS HCT	484	ľ	383.
POTASSIUM CL	2,073	3,8	285.9
FLUTICASONE	43	10,231	44,184.79
RESTASIS(32)	492	2,294	305.9
NASONEX	1,097	3,898	42,128.34
COMBIVENT	969	3,853	40,908.45
COUMADIN		3,805	40,427.76
ALPHAGAN-P	379	2,223	40,168.27
ARINEX	388	1,668	39,886.58
OTHER DRUGS	208,046	1,030,762	5,623,686.76
	396,356	2,419,592	17,336,331.49

Public	Employ	vees Insur	ance Agency
--------	--------	------------	-------------

ICD9 Code Diagnosis Description	Pakieniks R	E STEELS IN COLUMN	d To To	Fost Share. Gos	and the state of t	Broommers Per Parlient
401	16,953	958	37.54	86		2.59
786 RESP SYS/OTH CHEST SYMP	12,285	49,223	\$77,123.40	\$6.28	\$1.57	4.01
V76 SCREENING-MALIG NEOPLASM	10,479	20,952	\$18,225.04	\$1.74	\$0.87	2.00
250 DIABETES MELLITUS	9,620	59,909	\$74,226.95	\$7.72	\$1.24	6.23
272 DIS OF LIPOID METABOLISM	8,285	13,875	\$41,867.91	\$5.05	\$3.02	1.67
780 GENERAL SYMPTOMS	8,234	33,307	\$55,164.21	\$6.70	\$1.66	4.05
366 CATARACT	8,190	20,128	\$53,543.65	\$6.54	\$2.66	2.46
719 JOINT DISORDER NEC NOS	6,642	21,207	\$44,290.12	\$6.67	\$2.09	3.19
414 OTH CHR ISCHEMIC HRT DIS	6,502	21,983	\$50,938.11	\$7.83	\$2.32	3.38
715 OSTEOARTHROSIS ET AL	6,052	22,974	\$53,829.44	\$8.89	\$2.34	3.80
789 OTH ABDOMEN/PELVIS SYMP	5,502	17,641	\$34,050.71	\$6.19	\$1.93	3.21
V72 SPECIAL EXAMINATIONS	5,172	8,769	\$13,821.52	\$2.67	\$1.58	1.70
427 CARDIAC DYSRHYTHMIAS	5,043	24,548	\$61,572.62	\$12.21	\$2.51	4.87
729 OTHER SOFT TISSUE DIS	4,972	10,841	\$25,059.22	\$5.04	\$2.31	2.18
724 BACK DISORDER NEC NOS	4,951	23,169	\$39,894.92	\$8.06	\$1.72	4.68
702 OTHER DERMATOSES	4,468	8,011	\$45,865.83	\$10.27	\$5.73	1.79
362 RETINAL DISORDERS NEC	4,085	8,915	\$28,871.52	\$7.07	\$3.24	2.18
599 OTH URINARY TRACT DISOR	4,059	12,244	\$20,156.60	\$4.97	\$1.65	3.02
365 GLAUCOMA	4,007	9,253	\$53,535.13	\$13.36	\$5.79	2.31
496 CHR AIRWAY OBSTRUCT NEC	3,932	34,623	\$22,275.08	\$5.67	\$0.64	8.81
787 GI SYSTEM SYMPTOMS	3,861	11,556	\$16,462.42	\$4.26	\$1.42	2.99
733 OTH BONE CARTILAGE DIS	3,551	6,851	\$23,196.39	\$6.53	\$3.39	1.93
518 OTHER LUNG DISEASES	3,385	14,612	\$12,144.59	\$3.59	\$0.83	4.32
110 DERMATOPHYTOSIS	3,364	8,617	\$22,464.62	\$9.9\$	\$2.61	2.56
793 ABN FIND-BODY STRUCT NOS	3,321	6,310	\$14,212.92	\$4.28	\$2.25	1.90
V58 AFTERCARE NEC NOS	3,286	12,985	\$16,207.13	\$4.93	\$1.25	3.95
530 DISEASES OF ESOPHAGUS	2,866	5,804	\$11,776.48	\$4.11	\$2.03	2.03
428 HEART FAILURE	2,777	18,068	\$27,753.23	\$9.99	\$1.54	6.51
782 SKIN/OTH INTEGUMENT SYMP	2,720	4,930	\$9,948.44	\$3.66	\$2.02	1.81
785 CARDIOVASCULAR SYS SYMP	2,654	5,271	\$13,265.50	\$5.00	\$2.52	1.99
466 AC BRONCHITIS/BRONCHIOL	2,598	4,477	\$10,231.92	\$3.94	\$2.29	1.72
600 HYPERPLASIA OF PROSTATE	2,574	5,003	\$13,915.97	\$5.41	\$2.78	1.94
433 PRECEREBRAL OCCLUSION	2,469	5,464	\$11,670.79	\$4.73	\$2.14	2.21
788 URINARY SYSTEM SYMPTOMS	2,375	5,510	\$9,771.85	\$4.11	\$1.77	2.32
285 ANEMIA NEC/NOS	2,333	10,461	\$11,401.83	\$4.89	\$1.09	4.48
722 INTERVERTEBRAL DISC DIS	2,331	7,369	\$11,736.82	\$5.04	\$1.59	3.16
784 SYMPTOMS INVOL HEAD/NECK	2,245	5,250	\$14,312.47	\$6.38	\$2.73	2.34
461 ACUTE SINUSITIS	2,233	3,166	\$9,235.89	\$4.14	\$2.92	1.42
726 PERIPH ENTHESOPATHIES	2,188	7,602	\$21,259.63	\$9.72	\$2.80	3.47
V43 ORGAN/TISSUE REPLACEMENT	2,176	5,741	\$7,573.22	\$3.48	\$1.32	2.64
959 LATE EFF OF SELF-INJURY	2,161	3,544	\$7,810.50	\$3.61	\$2.20	1.64
DAA ACQUITEED HVEOTHVEOTOTS	2 115	3 649	49 521 40	¢4 50	- F-U-C+	7 7

	424 OTH ENDOCARDIAL DISFAS	ASE	2.097	3.807	\$8 710 11	44 15	\$2.20	1 87
	1		2,087	2,851	\$9,046.72	\$4,33	\$3.17	1.37
	739 SOMATIC DYSFUNCTION		2,073	21,269	\$53,926.70	\$26.01	\$2.54	10.26
	-	NGS	2,046	4,200	\$11,293.79	\$5.52	\$2.69	2.05
	429 ILL-DEFINED HEART DIS		1,975	3,680	\$5,918.46	\$3.00	\$1.61	1.86
	238 UNC BEHAV NEO NEC/NOS		1,947	4,580	\$16,259.16	\$8.35	\$3.55	2.35
	173 OTHER MALIG NEOPL SKIN		1,876	5,867	\$13,854.83	\$7.39	\$2.36	3.13
	211 OTH BENIGN NEOPLASM GI		1,848	4,624	\$8,243.98	\$4,46	\$1.78	2.50
V10	HX OF MALIGNANT NEOPLA	SM	1,821	3,376	\$11,655.38	\$6.40	\$3.45	1.85
	794 ABNORMAL FUNCTION STU	DY	1,818	2,946	\$5,642.50	\$3.10	\$1.92	1.62
		SC	1,808	6,857	\$8,294.34	\$4.59	\$0.84	5.45
V57		IRE	1,769	20,529	\$10,834.98	\$6.12	\$0.53	11.60
	493 ASTHMA		1,716	6,712	\$19,601.19	\$11.42	\$2.92	3.91
	477 ALLERGIC RHINITIS		1,695	7,601	\$10,526.68	\$6.21	\$1.38	4.48
	692 CONTACT DERMATITIS		1,655	2,584	\$8,286.93	\$5.01	\$3.21	1.56
V 04	VACCIN FOR VIRAL DISEA	SE	1,636	1,750	\$1,679.44	\$1.03	\$0.96	1.07
			1,555	20,245	\$23,811.79	\$15.31	\$1.18	13.02
	NAL	EAR	1,537	2,285	\$9,044.45	\$5.88	\$3.96	1.49
	721 SPONDYLOSIS ET AL		1,498	3,772	\$10,346.45	\$6.91	\$2.74	2.52
	276 FLUID/ELECTROLYTE DIS		1,480	4,792	\$4,501.76	\$3.04	\$0.94	3.24
	491 CHRONIC BRONCHITIS		1,466	7,193	\$6,824.23	\$4.66	\$0.95	4.91
V45	OTH POSTSURGICAL STATE	S	1,464	6,723	\$8,372.93	\$5.72	\$1.25	4.59
	562 DIVERTICULA OF INTESTIN	Ш	1,461	3,063	\$4,798.96	\$3.28	\$1.57	2.10
	216 BENIGN NEOPLASM OF SKI	2	1,437	2,074	\$7,524.25	\$5.24	\$3.63	1.44
767	FOLLOW-UP EXAMINATION		1,417	2,218	\$3,313.13	\$2.34	\$1.49	1.57
	682 OTHER CELLULITIS/ABSCE	SS	1,397	5,341	\$10,355.99	\$7.41	\$1.94	3.82
	593 OTH RENAL URETERAL DI:	(0)	1,378	2,635	\$3,985.91	\$2.89	\$1.51	1.91
	443 OTH PERIPH VASCULAR DIS		1,369	3,538	\$7,406.23	\$5.41	\$2.09	2.58
	723 OTHER CERVICAL SPINE DI	S	1,345	4,464	\$8,557.34	\$6.36	\$1.92	3.32
	564 FUNCT DIGESTIVE DIS NEC		1,328	2,549	\$4,377.49	\$3.30	\$1.72	1.92
	627 MENOPAUSAL DISORDERS		1,326	2,024	\$8,520.19	\$6.43	\$4.21	1.53
	781 NERV/MUSCULSKEL SYS SY	МР	1,323	7,178	\$8,842.25	\$6.68	\$1.23	5.43
	569 OTH INTESTINAL DISORDERS	RS	1,298	3,220	\$5,281.79	\$4.07	\$1.64	2.48
	611 OTHER BREAST DISORDER	.0	1,255	3,041	\$9,625.03	\$7.67	\$3.17	2.42
	331 CEREBRAL DEGENERATION		1,235	4,937	\$11,341.45	\$9.18	\$2.30	4.00
	511 PLEURISY		1,222	4,066	\$2,011.94	\$1.65	\$0.49	3.33
	709 OTHER SKIN DISORDERS		1,220	1,774	\$5,174.64	\$4.24	\$2.92	1.45
	296 AFFECTIVE PSYCHOSES		1,191	8,198	\$23,802.72	\$19.99	\$2.90	6.88
	413 ANGINA PECTORIS		1,170	2,727	\$7,488.12	\$6.40	\$2.75	2.33
	535 GASTRITIS AND DUODENIT	SILIS	1,160	2,392	\$3,464.46	\$2.99	\$1.45	2.06
	379 EYE DISORDERS NEC		1,150	1,610	\$4,460.86	\$3.88	\$2.77	1.40
	TATE		1,145	8,012	\$11,912.15	\$10.40	\$1.49	7.00
	728 DIS OF MUSCLE/LIG/FASCIA	A	1,145	5,531	\$10,151.48	\$8.87	\$1.84	4.83
770			1,133	1,437	\$5,989.87	\$5.29	\$4.17	1.27
	716 ARTHROPATHIES NEC/NOS		1,080	2,151	\$7,041.71	\$6.52	\$3.27	1.99
	473 CHRONIC SINUSITIS		1,075	2,057	\$5,672.90	\$5.28	\$2.76	1.91

300 NEUROTIC DISORDERS	1.069	2 666	\$10.048.11	\$9 A0	43 77	07.0
440 ATHEROSCLEROSIS	1,065	2,797	\$4.695.20	\$4.41	\$1.68	2.43
372 DISORDERS OF CONJUNCTIVA	1,048	1,457	\$4,075.48	\$3.89	\$2,80	1.39
799 OTH ILL-DEF MORBID/MORTL	966	5,939	\$4,231.03	\$4.25	\$0.71	5.96
389 HEARING LOSS	995	1,380	\$5,060.37	\$5.09	\$3.67	1.39
707 CHRONIC ULCER OF SKIN	066	7,292	\$7,939.88	\$8.02	\$1.09	7.37
174 MALIG NEO FEMALE BREAST	686	7,275	\$9,261.72	\$9.36	\$1.27	7.36
435 TRANSIENT CEREB ISCHEMIA	886	2,990	\$4,925.63	\$4.99	\$1.65	3.03
578 GASTROINTESTINAL HEMORR	977	4,073	\$23,872.62	\$24.43	\$5.86	4.17
490 BRONCHITIS NOS	951	1,477	\$3,878.80	\$4.08	\$2.63	1.55
375 LACRIMAL SYSTEM DISORDER	906	1,247	\$3,997.88	\$4.41	\$3.21	1.38
727 OTH DIS SYNOV/TEND/BURSA	968	2,707	\$8,802.67	\$9.82	\$3.25	3.02
459 OTH CIRCULATORY DISEASE	878	1,963	\$9,037.14	\$10.29	\$4.60	2.24
294 OTHER ORGANIC PSYCH COND	828	3,249	\$6,201.28	\$7.23	\$1.91	3.79
553 OTHER ABDOMINAL HERNIA	835	1,650	\$2,758.19	\$3.30	\$1.67	1.98
368 VISUAL DISTURBANCES	833	1,179	\$5,813.22	\$6.9\$	\$4.93	1.42
280 IRON DEFICIENCY ANEMIAS	833	2,841	\$3,885.54	\$4.66	\$1.37	3.41
411 OTH AC ISCHEMIC HRT DIS	832	2,167	\$2,009.01	\$2.41	\$0.93	2.60
847 SPRAIN OF BACK NEC/NOS	830	2,563	\$5,012.22	\$6.04	\$1.96	3.09
436 CVA	828	3,706	\$5,439.18	\$6.57	\$1.47	4.48
V54 OTH ORTHOPEDIC AFTERCARE	800	3,047	\$4,254.19	\$5.32	\$1.40	3.81
558 OTH NONINF GASTROENTERIT	779	1,692	\$2,850.66	\$3.66	\$1.68	2.17
402 HYPERTENSIVE HEART DIS	797	1,700	\$3,266.81	\$4.26	\$1.92	2.22
706 SEBACEOUS GLAND DISEASE	751	1,319	\$5,014.98	\$6.68	\$3.80	1.76
996 REPLACE GRAFT COMPLIC	748	3,251	\$21,248.69	\$28.41	\$6.54	4.35
714 OTH INFLAMM POLYARTHROP	748	3,618	\$7,036.21	\$9.41	\$1.94	4.84
	734	1,338	\$4,134.57	\$5.63	\$3.09	1.82
V71 OBSERVATION-SUSPECT COND	730	942	\$963.47	\$1.32	\$1.02	1.29
924 CONTUSION LEG OTH SITE	725	1,362	\$2,993.82	\$4.13	\$2.20	1.88
441 AORTIC ANEURYSM	717	2,605	\$8,218.73	\$11.46	\$3.15	3.63
434 CEREBRAL ARTERY OCCLUS	714	3,648	\$2,075.49	\$2.91	\$0.57	5.11
783 NUTRIT/METAB/DEVEL SYMP	713	1,579	\$2,098.81	\$2.94	\$1.33	2.21
592 RENAL/URETERAL CALCULUS	208	3,049	\$7,171.87	\$10.13	\$2.35	4.31
437 OTH CEREBROVASC DISEASE	700	1,099	\$1,696.21	\$2.42	\$1.54	1.57
311 DEPRESSIVE DISORDER NEC	089	1,566	\$4,818.93	\$7.09	\$3.08	2.30
239 UNSPECIFIED NEOPLASM	678	1,343	\$2,188.68	\$3.23	\$1.63	1.98
584 ACUTE RENAL FAILURE	672	3,937	\$4,743.37	\$7.06	\$1.20	5.86
425 CARDIOMYOPATHY	664	1,479	\$2,859.74	\$4.31	\$1.93	2.23
462 ACUTE PHARYNGITIS	663	853	\$2,740.62	\$4.13	\$3.21	1.29
514 PULM CONGEST/HYPOSTASIS	652	1,269	\$433.57	\$0.66	\$0.34	1.95
373 INFLAMMATION OF EYELIDS	637	895	\$2,575.63	\$4.04	\$2.88	1,41
410 ACUTE MYOCARDIAL INFARCT	625	4,398	\$3,238.94	\$5.18	\$0.74	7.04
610 BENIGN MAMMARY DYSPLASIA	619	1,053	\$3,434.68	\$5.55	\$3.26	1.70
281 OTHER DEFICIENCY ANEMIA	615	2,303	\$3,164.41	\$5.15	\$1.37	3.74
426 CONDUCTION DISORDERS	609	1,632	\$1,949.61	\$3.20	\$1.19	2.68
290 SENILE/PRESENILE PSYCHOS	809	2,760	\$11,920.16	\$19.61	\$4.32	4.54

V12 HY OF DISEASE NEC	605	7 1 0 1 7	42 050 27	07 04	44 02	1
595	200	1 151	\$2,039.37 ¢2,084,09	\$5.40 ¢3.48	41.97	1.73
574 CHOLELTHIASIS	787	7 205	42,004.03	40.40	\$1.01 44.01	1.92
A58 HVDOTENCION	100	4 540	41,076,00	\$10.39	\$4.01	4.08
ASSOCIATION OF TAXABLE	200	1,040	\$1,020.UZ	0/.T¢	\$0.0\ 2	7.04
388 DISURDERS OF EAR NEC	281	835	\$2,767.88	\$4.76	\$3.31	1.44
354 MONONEURITIS UPPER LIMB	578	1,881	\$3,732.97	\$6.46	\$1.98	3.25
356 HERED PERIPH NEUROPATHY	268	1,381	\$3,078.19	\$5.42	\$2.23	2.43
840 TAKEOFF/LANDING ACCIDENT	554	2,338	\$4,019.90	\$7.26	\$1.72	4.22
995 CERTAIN ADVERSE EFF NEC	548	1,392	\$1,462.89	\$2.67	\$1.05	2.54
381 NONSUPPUR OTITIS MEDIA	540	829	\$2,536.21	\$4.70	\$2.95	1.59
681 CELLULITIS, FINGER/TOE	538	975	\$3,099.29	\$5.76	\$3.18	1.81
453 OTH VENOUS THROMBOSIS	531	1,857	\$2,645.90	\$4.98	\$1.42	3.50
274 GOUT	524	1,053	\$2,085.00	\$3.98	\$1.98	2.01
596 OTHER BLADDER DISORDERS	515	974	\$1,845.57	\$3.58	\$1.89	1.89
625 FEMALE GENITAL SYMPTOMS	512	945	\$1,830.76	\$3.58	\$1.94	1.85
	503	3,102	\$4,558.52	\$9.06	\$1.47	6.17
695 ERYTHEMATOUS CONDITIONS	497	800	\$2,302.51	\$4.63	\$2.88	1.61
348 OTHER BRAIN CONDITIONS	491	1,034	\$1,073.78	\$2.19	\$1.04	2.11
	489	1,144	\$2,546.15	\$5.21	\$2.23	2.34
374 DISORDERS OF EYELIDS NEC	487	1,025	\$2,656.23	\$5.45	\$2.59	2.10
560 INTESTINAL OBSTRUCTION	487	2,252	\$1,752.24	\$3.60	\$0.78	4.62
454 VARICOSE VEINS, LEG	486	1,415	\$1,897.19	\$3.90	\$1.34	2.91
820 FRACTURE NECK OF FEMUR	485	5,014	\$4,164.72	\$8.59	\$0.83	10.34
53 HERPES ZOSTER	484	1,134	\$2,189.80	\$4.52	\$1.93	2.34
701 OTH SKIN HYPERTRO/ATROPH	483	702	\$2,054.09	\$4.25	\$2.93	1.45
370 KERATITIS	479	784	\$2,138.89	\$4.47	\$2.73	1.64
333 EXTRAPYRAMIDAL DIS NEC	472	926	\$1,728.24	\$3.66	\$1.87	1.96
735 ACQ DEFORMITIES OF TOE	463	1,047	\$8,056.27	\$17.40	\$7.69	2.26
618 GENITAL PROLAPSE	462	1,269	\$2,676.60	\$5.79	\$2.11	2.75
796 OTHER ABNORMAL FINDINGS	461	646	\$1,305.05	\$2.83	\$2.02	1.40
438 LATE EFF CEREBROVASC DIS	454	3,279	\$2,003.68	\$4.41	\$0.61	7.22
386 VERTIGINOUS SYNDROMES	453	799	\$1,800.43	\$3.97	\$2.25	1.76
298 OTH NONORGANIC PSYCHOSES	440	1,172	\$2,149.74	\$4.89	\$1.83	2.66
998 OTH SURGICAL COMPL NEC	440	1,726	\$540.88	\$1.23	\$0.31	3.92
536 STOMACH FUNCTION DISORD	435	830	\$1,272.03	\$2.92	\$1.53	1.91
266 B-COMPLEX DEFICIENCIES	424	1,724	\$1,806.57	\$4.26	\$1.05	4.07
515 POSTINFLAM PULM FIBROSIS	420	1,178	\$1,381.01	\$3.29	\$1.17	2.80
455 HEMORRHOIDS	416	857	\$2,485.34	\$5.97	\$2.90	2.06
241 NONTOXIC NODULAR GOI	403	1,221	\$3,398.54	\$8.43	\$2.78	3.03
V49 LIMB PROBLEM/PROBLEM NEC	401	750	\$1,507.61	\$3.76	\$2.01	1.87
492 EMPHYSEMA	400	1,393	\$832.43	\$2.08	\$0.60	3.48
	399	2,010	\$778.06	\$1.95	\$0.39	5.04
293 TRANSIENT ORG MENTAL DIS	398	948	\$1,228.51	\$3.09	\$1.30	2.38
162 MAL NEO TRACHEA/LUNG	390	6,043	\$23,280.07	\$59.69	\$3.85	15.49
873 OTHER OPEN WOUND OF HEAD	390	801	\$6,473.35	\$16.60	\$8.08	2.05
922 FIREARM ACCIDENTS	385	644	\$1,664.76	\$4.32	\$2.59	1.67

	288 WBC DISORDERS	384	1.434	\$1.742.68	\$4.54	\$1.22	3.73
	451 THROMBOPHLEBITIS	383	940	\$2,263.62	\$5.91	\$2.41	2.45
<u></u>	478 OTH UPPR RESPIRATORY DIS	382	634	\$1,156.80	\$3.03	\$1.82	1.66
	371 CORNEAL OPACITY/DISORDER	381	929	\$3,085.24	\$8.10	\$4.70	1.72
V82	SCREEN-OTHER CONDITIONS	380	451	\$2,812.37	\$7.40	\$6.24	1.19
	382 OTITIS MEDIA, SUPPUR/NOS	380	581	\$1,447.95	\$3.81	\$2.49	1.53
	403 HYPERTENSIVE RENAL DIS	372	1,019	\$1,138.82	\$3.06	\$1.12	2.74
	573 OTH LIVER DISORDERS	371	649	\$1,456.26	\$3.93	\$2.24	1.75
	923 CONTUSION OF UPPER LIMB	355	609	\$1,806.91	\$5.09	\$2.97	1.72
	586 RENAL FAILURE NOS	338	1,416	\$1,261.03	\$3.73	\$0.89	4.19
	718 OTHER JOINT DERANGEMENT	334	1,109	\$1,196.34	\$3.58	\$1.08	3.32
	112 CANDIDIASIS	332	504	\$680.01	\$2.05	\$1.35	1.52
	920 CUTTING INSTRUMENT ACCID	325	299	\$1,344.16	\$4.14	\$2.24	1.84
	575 OTH GALLBLADDER DISORDER	323	1,097	\$5,388.50	\$16.68	\$4.91	3.40
	232 CARCINOMA IN SITU SKIN	323	293	\$1,446.11	\$4,48	\$2.44	1.84
	601 PROSTATIC INFLAMMATION	323	527	\$957.73	\$2.97	\$1.82	1.63
	845 SPRAIN OF ANKLE FOOT	322	703	\$2,537.59	\$7.88	\$3.61	2.18
	153 MALIGNANT NEOPLASM COLON	320	3,323	\$6,155.46	\$19.24	\$1.85	10.38
		312	506	\$2,266.48	\$7.26	\$4.48	1.62
	690 ERYTHEMATOSQUAMOUS DERM	310	441	\$2,172.59	\$7.01	\$4.93	1.42
	805 VERTEBRL FX W/O CORD INJ	308	1,271	\$1,576.15	\$5.12	\$1.24	4.13
	346 MIGRAINE	306	724	\$1,433.66	\$4.69	\$1.98	2.37
	607 DISORDERS OF PENIS	300	562	\$1,092.90	\$3.64	\$1.94	1.87
	616 OTH FEMALE GEN INFLAM	300	436	\$652.55	\$2.18	\$1.50	1.45
	447 OTHER ARTERIAL DISEASE	565	541	\$1,444.81	\$4.83	\$2.67	1.81
	188 MALIGN NEOPL BLADDER	297	1,797	\$2,269.05	\$7.64	\$1.26	6.05
	792 ABN FIND-OTH BODY SUBST	291	536	\$728.60	\$2.50	\$1.36	1.84
	836 DISLOCATION OF KNEE	281	945	\$1,300.49	\$4.63	\$1.38	3.36
	550 INGUINAL HERNIA	279	1,227	\$2,259.60	\$8.10	\$1.84	4.40
	698 PRURITUS LIKE COND	276	422	\$1,416.95	\$5.13	98.8\$	1.53
	571 CHR LIVER DIS/CIRRHOSIS	274	738	\$1,255.56	\$4.58	\$1.70	2.69
	813 RADIUS ULNA FRACTURE	592	1,855	\$3,087.14	\$11.48	\$1.66	6.90
	795 ABN HISTOLOG/IMMUNO FIND	268	444	\$877.39	\$3.27	\$1.98	1.66
	844 SPRAIN OF KNEE LEG	267	702	\$2,310.65	\$8.65	\$3.29	2.63
V53	ADJUSTMENT OF OTH DEVICE	265	806	\$1,545.21	\$5.83	\$1.70	3.43
	8 INTESTINAL INFECTION NEC	260	951	\$1,037.93	\$3.99	\$1.09	3.66
	202 OTH MAL NEO LYMPH/HISTIO	256	2,768	\$3,942.11	\$15.40	\$1.42	10.81
	700 CORNS AND CALLOSITIES	256	571	\$1,681.84	\$6.57	\$2.95	2.23
	846 SPRAIN SACROILIAC REGION	255	807	\$1,337.61	\$5.25	\$1.66	3.16
	717 INTERNAL DERANGEMNT KNEE	255	559	\$976.00	\$3.83	\$1.75	2.19
	472 CHR PHARYNG/NASOPHARYNG	250	348	\$1,007.33	\$4.03	\$2.89	1.39
	416 CHR PULMONARY HEART DIS	249	734	\$511.75	\$2.06	\$0.70	2.95
V44		248	1,455	\$3,898.22	\$15.72	\$2.68	5.87
	883 OPEN WOUND OF FINGER	244	509	\$2,892.03	\$11.85	\$5.68	2.09
	286 COAGULATION DEFECTS	238	743	\$1,004.81	\$4.22	\$1.35	3.12
	696 PSORIASIS/LIKE DISORDERS	237	929	\$1,631.24	\$6.88	\$2.49	2.77

287 PURPURA OTH HEMOR COND 482 OTH BACTERIAL PNEUMONIA 444 ARTERIAL EMBOLISM 235 UNC BEHAV NEO GI/RESP 686 OTH LOCAL SKIN INFECTION 891 OPEN WND KNFF/I FG/ANKIF	236		00.00	,)) ·) ·	00.00	16.7
482 OTH BACTERIAL PNEUMONIA 444 ARTERIAL EMBOLISM 235 UNC BEHAV NEO GI/RESP 686 OTH LOCAL SKIN INFECTION 891 OPEN WND KNEF/I FG/ANKI F		269	\$732.72	\$3.10	\$1.05	2.95
444 ARTERIAL EMBOLISM 235 UNC BEHAV NEO GI/RESP 686 OTH LOCAL SKIN INFECTION 891 OPEN WND KNEF/I FG/ANKI F	236	1,061	\$495.57	\$2.10	\$0.47	4.50
235 UNC BEHAV NEO GI/RESP 686 OTH LOCAL SKIN INFECTION 891 OPEN WND KNFF/I FG/ANKI F	231	522	\$799.99	\$3.46	\$1.53	2.26
686 OTH LOCAL SKIN INFECTION 891 OPEN WND KNFF/I FG/ANKI F	231	398	\$665.31	\$2.88	\$1.67	1.72
891 OPEN WND KNFF/I FG/ANKI F	230	428	\$3,381.20	\$14.70	\$7.90	1.86
	230	672	\$745.59	\$3.24	\$1.11	2.92
367 DISORDERS OF REFRACTION	229	249	\$369.92	\$1.62	\$1.49	1.09
807 FX RIB/STERN/LARYN/TRACH	228	603	\$957.10	\$4.20	\$1.59	2.64
251 OTH PANCREATIC DISORDER	227	496	\$557.63	\$2.46	\$1.12	2.19
309 ADJUSTMENT REACTION	223	1,045	\$2,828.76	\$12.69	\$2.71	4.69
577 DISEASES OF PANCREAS	217	1,118	\$849.65	\$3.92	\$0.76	5.15
275 DIS MINERAL METABOLISM	216	524	\$620.11	\$2.87	\$1.18	2.43
812 MOT VEHIC COLLISION NOS	215	1,797	\$2,028.17	\$9.43	\$1.13	8.36
824 ANKLE FRACTURE	213	1,468	\$6,279.25	\$29.48	\$4.28	68.9
528 ORAL SOFT TISSUE DISEASE	210	315	\$519.88	\$2.48	\$1.65	1.50
154 MALIG NEO RECTUM/ANUS	209	1,707	\$752.81	\$3.60	\$0.44	8.17
415 ACUTE PULMONARY HRT DIS	205	1,282	\$827.33	\$4.04	\$0.65	6.25
791 ABNORMAL URINE FINDINGS	204	302	\$687.33	\$3.37	\$2.28	1.48
737 CURVATURE OF SPINE	203	417	\$476.31	\$2.35	\$1.14	2.05
825 MV N-TRAFFIC ACC NEC/NOS	201	639	\$1,991.76	\$9.91	\$3.12	3.18
691 ATOPIC DERMATITIS	199	280	\$692.20	\$3.48	\$2.47	1.41
481 PNEUMOCOCCAL PNEUMONIA	199	533	\$344.61	\$1.73	\$0.65	2.68
289 OTHER BLOOD DISEASE	197	519	\$883.48	\$4.48	\$1.70	2.63
198 SEC MALIG NEO OTH SITES	197	1,116	\$550.54	\$2.79	\$0.49	5.66
361 RETINAL DETACHMENT	194	416	\$1,037.98	\$5.35	\$2.50	2.14
377 DISORDERS OF OPTIC NERVE	193	305	\$1,271.16	\$6.59	\$4.17	1.58
704 HAIR FOLLICLE DISEASE	192	258	\$864.37	\$4.50	\$3.35	1.34
519 OTH RESP SYSTEM DISEASES	187	314	\$342.49	\$1.83	\$1.09	1.68
591 HYDRONEPHROSIS	186	585	\$1,569.59	\$8.44	\$2.68	3.15
	186	307	\$909.78	\$4.89	\$2.96	1.65
736 OTH ACQ LIMB DEFORMITIES	184	327	\$636.50	\$3.46	\$1.95	1.78
242 THYROTOXICOSIS	182	442	\$1,031.61	\$5.67	\$2.33	2.43
720 INFLAM SPONDYLOPATHIES	182	480	\$989.21	\$5.44	\$2.06	2.64
228 HEMANGIOMA/LYMPHANGIOMA	179	239	\$931.17	\$5.20	\$3.90	1.34
V03 VACCIN FOR BACTERIAL DIS	179	196	\$243.23	\$1.36	\$1.24	1.09
412 OLD MYOCARDIAL INFARCT	172	592	\$301.87	\$1.76	\$0.51	3.44
730 OSTEOMYELITIS	171	992	\$879.32	\$5.14	\$0.89	5.80
345 EPILEPSY	169	463	\$588.00	\$3.48	\$1.27	2.74
214 LIPOMA	169	343	\$570.46	\$3.38	\$1.66	2.03
753 URINARY SYSTEM ANOMALIES	169	249	\$406.12	\$2.40	\$1.63	1.47
172 MALIGNANT MELANOMA SKIN	168	643	\$1,848.45	\$11.00	\$2.87	3.83
236 UNC BEHAV NEO GU	168	246	\$385.43	\$2.29	\$1.57	1.46
197 SECONDRY MAL NEO GI/RESP	165	269	\$442.51	\$2.68	\$0.63	4.22
396 MITRAL/AORTIC VALVE DIS	165	215	\$346.12	\$2.10	\$1.61	1.30
531 GASTRIC ULCER	163	470	\$3,097.43	\$19.00	\$6.59	2.88

357 INFLAM/TOXIC NEUROPATHY	161	558	\$3.532.69	\$21.94	\$6.33	3 47
V06 VAC FOR DIS COMBINATION	161	180	\$409.10	\$2.54	\$2.27	1.12
V16 FAMILY HX-MALIGNANCY	159	247	\$578.24	\$3.64	\$2.34	1.55
997 WAR INJ-UNCONVEN WAR NEC	159	441	\$439.66	\$2.77	\$1.00	2.77
255 ADRENAL GLAND DISORDERS	157	225	\$291.24	\$1.86	\$1.29	1.43
41 BACT INF IN OTH DIS/NOS	157	489	\$262.06	\$1.67	\$0.54	3.11
V55 ATTEN TO ARTIFICIAL OPEN	155	628	\$1,195.78	\$7.71	\$1.90	4.05
79 VIRAL INF IN OTH DIS/NOS	155	212	\$710.69	\$4.59	\$3.35	1.37
710 DIFF CONNECTIVE TISS DIS	154	614	\$1,512.07	\$9.82	\$2.46	3.99
V42 ORGAN TRANSPLANT STATUS	153	1,374	\$2,175.99	\$14.22	\$1.58	8.98
189 MAL NEO URINARY NEC/NOS	147	714	\$672.53	\$4.58	\$0.94	4.86
842 SPRAIN WRIST HAND	144	290	\$645.44	\$4.48	\$2.23	2.01
246 OTH DISORDERS OF THYROID	143	225	\$737.65	\$5.16	\$3.28	1.57
598 URETHRAL STRICTURE	141	326	\$571.86	\$4.06	\$1.75	2.31
278 OBESITY/HYPERALIMENT	138	457	\$1,990.83	\$14.43	\$4.36	3.31
V05 OTH VACCIN FOR SINGL DIS	137	174	\$2,518.79	\$18.39	\$14.48	1.27
746 OTHER CONGEN HEART ANOM	137	207	\$302.43	\$2.21	\$1.46	1.51
233 CA IN SITU BREAST/GU	136	374	\$340.02	\$2.50	\$0.91	2.75
378 STRABISMUS	135	244	\$884.55	\$6.55	\$3.63	1.81
882 OPEN WOUND OF HAND	134	261	\$1,126.29	\$8.41	\$4.32	1.95
527 SALIVARY GLAND DISEASES	134	284	\$601.69	\$4.49	\$2.12	2.12
756 OTH MUSCULOSKELET ANOMAL	134	289	\$359.10	\$2.68	\$1.24	2.16
507 SOLID/LIQ PNEUMONITIS	133	693	\$613.99	\$4.62	\$0.93	4.98
808 PELVIC FRACTURE	130	654	\$3,862.46	\$29.71	\$5.91	5.03
620 NONINFLAM DIS OVAR/ADNEX	130	314	\$828.71	\$6.37	\$2.64	2.42
284 APLASTIC ANEMIA	128	648	\$213.33	\$1.67	\$0.33	5.06
204 LYMPHOID LEUKEMIA	127	842	\$2,447.40	\$19.27	\$2.91	6.63
307 SPECIAL SYMPTOM OR SYNDROMES		211	\$790.76	\$6.23	\$3.75	1.66
918 SUPERFIC INJ EYE/ADNEXA		211	\$537.50	\$4.27	\$2.55	1.67
821 OTHER FEMORAL FRACTURE		694	\$1,304.84	\$10.44	\$1.88	5.55
881 OPEN WOUND OF LOWER ARM		249	\$546.52	\$4.37	\$2.19	1.99
224 BENIGN NEOPLASM OF EYE	123	174	\$685.72	\$5.57	\$3.94	1.41
397 ENDOCARDIAL DISEASE NEC		139	\$251.41	\$2.04	\$1.81	1.13
470 DEVIATED NASAL SEPTUM		226	\$594.26	\$4.87	\$2.63	1.85
623 NONINFLAMM DIS VAGINA	121	210	\$720.86	\$5.96	\$3.43	1.74
725 POLYMYALGIA RHEUMATICA	120	352	\$582.82	\$4.86	\$1.66	2.93
602 OTH PROSTATIC DISORDERS	119	161	\$349.58	\$2.94	\$2.17	1.35
432 INTRACRANIAL HEM NEC/NOS	119	989	\$173.94	\$1.46	\$0.27	5.34
738 OTHER ACQUIRED DEFORMITY	119	210	\$145.96	\$1.23	\$0.70	1.76
217 BENIGN NEOPLASM BREAST	118	190	\$544.74	\$4.62	\$2.87	1.61
590 KIDNEY INFECTION	118	379	\$387.15	\$3.28	\$1.02	3.21
512 PNEUMOTHORAX	118	536	\$123.27	\$1.04	\$0.23	4.54
182 MALIG NEOPL UTERUS BODY	117	689	\$835.74	\$7.14	\$1.21	5.89
199 MALIGNANT NEOPLASM NOS	116	268	\$188.96	\$1.63	\$0.71	2.31
823 TIBIA FIBULA FRACTURE	115	719	\$987.96	\$8.59	\$1.37	6.25
460 ACUTE NASOPHARYNGITIS	115	125	\$409.15	\$3.56	\$3.27	1.09

608 MAI E GENTTAL DIS NEC	113	258	¢520 38	44.68	\$2.05	06.6
556 IDIOPATHIC PROCTOCOLITIS	110	346	\$1,684,77	\$15.32	\$4.02	3.15
	110	416	\$355.56	\$3.23	\$0.85	3 78
879 OPEN WOUND SITE NEC	110	319	\$219.39	\$1.99	\$0.69	2.90
464 AC LARYNGITIS/TRACHEITIS	107	155	\$249.38	\$2.33	\$1.61	1.45
364 IRIS/CILIARY BODY DIS	106	224	\$529.43	\$4.99	\$2.36	2.11
225 BENIGN NEO NERVOUS SYST	105	325	\$462.80	\$4.41	\$1.42	3.10
54 HERPES SIMPLEX	105	240	\$355.72	\$3.39	\$1.48	2.29
369 BLINDNESS AND LOW VISION	104	218	\$238.52	\$2.29	\$1.09	2.10
537 OTH GASTRODUODENAL DIS	103	224	\$279.44	\$2.71	\$1.25	2.17
195 MAL NEO OTH/ILL-DEF SITE	102	418	\$229.53	\$2.25	\$0.55	4.10
848 SPRAIN NEC	101	153	\$452.08	\$4.48	\$2.95	1.51
533 PEPTIC ULCER, SITE NOS	101	176	\$224.13	\$2.22	\$1.27	1.74
344 OTH PARALYTIC SYNDROMES	66	426	\$776.39	\$7.84	\$1.82	4.30
852 MENINGEAL HEM FOLLOW INJ	66	577	\$253.84	\$2.56	\$0.44	5.83
747 OTH CONG CIRC SYST ANOM	66	320	\$132.29	\$1.34	\$0.41	3.23
516 OTH ALVEOL PNEUMONOPATHY	86	308	\$371.11	\$3.79	\$1.20	3.14
252 PARATHYROID DISORDER	86	218	\$122.25	\$1.25	\$0.56	2.22
457 NONINFECT LYMPHATIC DIS	26	345	\$920.77	\$9.49	\$2.67	3.56
826 PEDAL CYCLE ACCIDENT	26	226	\$552.79	\$5.70	\$2.45	2.33
892 OPEN WOUND OF FOOT	96	272	\$446.17	\$4.65	\$1.64	2.83
431 INTRACEREBRAL HEMORRHAGE	96	447	\$210.60	\$2.19	\$0.47	4.66
621 DISORDERS OF UTERUS NEC	95	188	\$320.30	\$3.37	\$1.70	1.98
897 TRAUMATIC AMPUTATION LEG	93	478	\$580.76	\$6.24	\$1.21	5.14
487 INFLUENZA	93	169	\$301.67	\$3.24	\$1.79	1.82
442 OTHER ANEURYSM	91	268	\$576.70	\$6.34	\$2.15	2.95
340 MULTIPLE SCLEROSIS	06	663	\$2,809.80	\$31.22	\$4.24	7.37
999 COMPLIC MEDICAL CARE NEC	06	141	\$1,450.05	\$16.11	\$10.28	1.57
212 BEN NEO RESP SYST/THORAX	68	171	\$290.05	\$3.26	\$1.70	1.92
EOB EXPLANATION OF BENEFITS	88	134	\$0.00	\$0.00	\$0.00	1.52
989 TOX EFF OTH NONMED SUBST	87	143	\$429.74	\$4.94	\$3.01	1.64
597 URETHRITIS/URETHRAL SYND	98	135	\$540.40	\$6.28	\$4.00	1.57
215 OTH BEN NEO SOFT TISSUE	98	117	\$304.49	\$3.54	\$2.60	1.36
350 TRIGEMINAL NERV DISORDER	85	229	\$247.83	\$2.92	\$1.08	2.69
557 VASC INSUFF INTESTINE	85	344	\$156.53	\$1.84	\$0.46	4.05
295 SCHIZOPHRENIC DISORDERS	84	815	\$3,723.71	\$44.33	\$4.57	9.70
342 HEMIPLEGIA	84	499	\$296.88	\$3.53	\$0.59	5.94
919 SUPERFICIAL INJ OTH SITE	84	104	\$284.35	\$3.39	\$2.73	1.24
480 VIRAL PNEUMONIA	84	163	\$30.59	\$0.36	\$0.19	1.94
850 CONCUSSION	83	160	\$412.57	\$4.97	\$2.58	1.93
555 REGIONAL ENTERITIS	82	336	\$753.15	\$9.18	\$2.24	4.10
305 NONDEPENDENT DRUG ABUSE	82	112	\$375.81	\$4.58	\$3.36	1.37
814 MV COLLISION W PEDEST	82	320	\$356.96	\$4.35	\$1.12	3.90
693 DERMAT D/T INTERN AGENT	82	118	\$320.52	\$3.91	\$2.72	1.44
494 BRONCHIECTASIS	81	321	\$485.99	\$6.00	\$1.51	3.96
423 OTH PERICARDIAL DISEASE	81	373	\$414.99	\$5.12	\$1.11	4.60

624 NONINFLAMM DIS VULVA 80 138 183 MAL NEO UTERINE ADNEXA 79 900 273 DIS PLASMA PROTEIN METAB 79 229 203 MULTIPLE MYELOMA ET AL 77 894 802 FRACTURE OF FACE BONES 77 251 384 DISORD TYMPANIC MEMB NEC 76 151 363 CHOROIDAL DISORDERS 76 136 210 BEN NEO ORAL CAV/PHARYNX 76 232 351 FACIAL NERVE DISORDERS 76 152 352 FACIAL NERVE DISORDERS 76 232 843 SPRAIN OF HIP THIGH 75 159 277 METABOLISM DIS NEC/NOS 75 176 240 FOREIGN BODY EXTERN EYE 74 92 250 BEN NEO OTH ENDOCRINE 74 176 404 HYPERTEN HEART/RENAL DIS 73 174 250 OVARIAN DYSFUNCTION 71 78 604 ORCHITIS EPIDIDYMITIS 71 104 516 SUPERFICIAL INJ HIP/LEG 71 104	\$535.41 \$6,351.53 \$297.82 \$1,084.71 \$488.01 \$854.17 \$377.11 \$347.24 \$289.22 \$563.04 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.31 \$53.60 \$52.31 \$53.60 \$5	\$2.94 \$80.40 \$3.77 \$14.09 \$6.34 \$11.24 \$4.57 \$4.96 \$4.57 \$3.81 \$5.33 \$5.33 \$5.33 \$5.33 \$5.33 \$5.33 \$5.33 \$5.33 \$5.33 \$5.34 \$5.33 \$5.33 \$5.33 \$5.34 \$5.33 \$5.33 \$5.33 \$5.34 \$5.33 \$5.34 \$5.33 \$5.34 \$5.33 \$5.34 \$5.33 \$5.34 \$5.	\$1.71 \$7.06 \$1.30 \$1.21 \$1.94 \$5.66 \$3.81 \$2.55 \$1.25	1.73 1.73 1.39 1.99 1.30
183 MAL NEO UTERINE ADNEXA 79 900 273 DIS PLASMA PROTEIN METAB 79 229 203 MULTIPLE MYELOMA ET AL 77 894 802 FRACTURE OF FACE BONES 77 251 384 DISORD TYMPANIC MEMB NEC 76 151 363 CHOROIDAL DISORDERS 76 99 210 BEN NEO ORAL CAV/PHARYNX 76 232 351 FACIAL NERVE DISORDERS 76 232 843 SPRAIN OF HIP THIGH 75 159 277 METABOLISM DIS NEC/NOS 75 159 263 PROT-CAL MALNUTR NEC/NOS 75 176 404 HYPERTEN HEART/RENAL DIS 74 176 404 HYPERTEN HEART/RENAL DIS 73 170 310 NONPSYCHOTIC BRAIN SYND 71 78 604 ONCHITIS EPIDIDYMITIS 71 127 516 SUPERFICIAL INJ HIP/LEG 71 104	\$6,351.53 \$297.82 \$1,084.71 \$488.01 \$854.17 \$377.11 \$347.24 \$289.22 \$563.04 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$53.04 \$52.18 \$53.04 \$52.31 \$53.04 \$54.04 \$54	\$80.40 \$3.77 \$14.09 \$6.34 \$11.24 \$4.96 \$4.57 \$3.81 \$5.39 \$3.99 \$3.99 \$5.39 \$5.39 \$5.39 \$5.39 \$5.39 \$5.39	\$1.71 \$1.30 \$1.21 \$1.94 \$5.66 \$3.81 \$2.55 \$1.25	11.39 2.90 11.61 3.26 1.99 1.30
273 DIS PLASMA PROTEIN METAB 79 229 203 MULTIPLE MYELOMA ET AL 77 894 802 FRACTURE OF FACE BONES 77 251 384 DISORD TYMPANIC MEMB NEC 76 151 363 CHOROIDAL DISORDERS 76 99 210 BEN NEO ORAL CAV/PHARYNX 76 232 351 FACIAL NERVE DISORDERS 76 232 843 SPRAIN OF HIP THIGH 75 159 277 METABOLISM DIS NEC/NOS 75 159 263 PROT-CAL MALNUTR NEC/NOS 75 176 404 HYPERTEN HEART/RENAL DIS 74 176 404 HYPERTEN HEART/RENAL DIS 73 170 310 NONPSYCHOTIC BRAIN SYND 72 174 256 OVARIAN DYSFUNCTION 71 78 604 ORCHITIS EPIDIDYMITIS 71 127 916 SUPERFICIAL INJ HIP/LEG 71 104	\$1,084.71 \$4,084.71 \$4,084.71 \$4,084.71 \$3,084.71 \$3,077.11 \$3,077.11 \$563.04 \$563.04 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$52.18 \$53.04 \$54.04	\$14.09 \$6.34 \$11.24 \$11.24 \$4.96 \$4.96 \$7.51 \$7.51 \$7.51 \$7.94 \$7.94 \$7.94 \$7.94 \$7.94 \$7.94 \$7.94	\$1.30 \$1.31 \$1.21 \$1.94 \$5.66 \$3.81 \$2.55 \$1.25	11.55 2.90 11.61 3.26 1.99 1.30
203 MULTIPLE MYELOMA ET AL 77 894 802 FRACTURE OF FACE BONES 77 251 384 DISORD TYMPANIC MEMB NEC 76 151 363 CHOROIDAL DISORDERS 76 99 210 BEN NEO ORAL CAV/PHARYNX 76 136 351 BEN NEO ORAL CAV/PHARYNX 76 232 351 FACIAL NERVE DISORDERS 76 232 843 SPRAIN OF HIP THIGH 75 159 277 METABOLISM DIS NEC/NOS 75 159 263 PROT-CAL MALNUTR NEC/NOS 75 176 930 FOREIGN BODY EXTERN EYE 74 176 404 HYPERTEN HEART/RENAL DIS 73 170 310 NONPSYCHOTIC BRAIN SYND 72 174 256 OVARIAN DYSFUNCTION 71 78 604 ORCHITIS EPIDIDYMITIS 71 104 916 SUPERFICIAL INJ HIP/LEG 71 104	\$1,084.71 \$488.01 \$854.71 \$377.11 \$347.24 \$289.22 \$563.04 \$369.18 \$52.18 \$445.87 \$294.96 \$275.37 \$294.96 \$275.37 \$294.96 \$275.37 \$294.96 \$275.37 \$294.96 \$275.37 \$294.96 \$275.37 \$294.96 \$275.37 \$294.96 \$275.37 \$294.96 \$275.37 \$294.96 \$275.37 \$294.96 \$275.37 \$294.96 \$275.37 \$296.340 \$369.33 \$260.33 \$218.91 \$201.33 \$201.33	\$14.09 \$6.34 \$11.24 \$4.96 \$4.57 \$3.81 \$5.33 \$5.03 \$5.03 \$5.33 \$5.33 \$5.33 \$5.33 \$5.33 \$5.33 \$5.33 \$5.33 \$5.33 \$5.33 \$5.33	\$1.21 \$1.94 \$5.66 \$3.81 \$2.55 \$1.25	3.26 1.19 1.99 1.30
802 FRACTURE OF FACE BONES 77 251 384 DISORD TYMPANIC MEMB NEC 76 151 363 CHOROIDAL DISORDERS 76 99 210 BEN NEO ORAL CAV/PHARYNX 76 136 351 FACIAL NERVE DISORDERS 76 232 843 SPRAIN OF HIP THIGH 75 192 277 METABOLISM DIS NEC/NOS 75 159 263 PROT-CAL MALNUTR NEC/NOS 75 226 930 FOREIGN BODY EXTERN EYE 74 176 404 HYPERTEN HEART/RENAL DIS 73 170 310 NONPSYCHOTIC BRAIN SYND 72 174 256 OVARIAN DYSFUNCTION 71 78 604 ORCHITIS EPIDIDYMITIS 71 127 916 SUPERFICIAL INJ HIP/LEG 71 104	\$488.01 \$854.17 \$377.11 \$347.24 \$289.22 \$563.04 \$369.18 \$52.18 \$445.87 \$294.96 \$275.37 \$294.96 \$275.37 \$292.31 \$292.31 \$53.826	\$11.24 \$11.24 \$4.96 \$4.96 \$3.81 \$5.39 \$5.03 \$5.03 \$5.03 \$5.03 \$5.03 \$5.39 \$5.39 \$5.39 \$5.39 \$5.39 \$5.39	\$1.94 \$1.94 \$5.66 \$3.81 \$2.55 \$1.25	3.26
384 DISORD TYMPANIC MEMB NEC 76 151 363 CHOROIDAL DISORDERS 76 99 210 BEN NEO ORAL CAV/PHARYNX 76 136 351 FACIAL NERVE DISORDERS 76 232 843 SPRAIN OF HIP THIGH 75 192 277 METABOLISM DIS NEC/NOS 75 159 263 PROT-CAL MALNUTR NEC/NOS 75 226 930 FOREIGN BODY EXTERN EYE 74 92 227 BEN NEO OTH ENDOCRINE 74 176 404 HYPERTEN HEART/RENAL DIS 73 170 310 NONPSYCHOTIC BRAIN SYND 72 174 256 OVARIAN DYSFUNCTION 71 78 604 ORCHITIS EPIDIDYMITIS 71 127 916 SUPERFICIAL INJ HIP/LEG 71 104	\$854.17 \$377.11 \$347.24 \$289.22 \$563.04 \$369.18 \$52.18 \$445.87 \$294.96 \$275.37 \$294.96 \$275.37 \$292.31 \$292.31 \$53.40 \$53.826 \$278.87 \$53.826 \$278.87 \$53.826 \$278.87 \$53.826	\$11.24 \$4.96 \$4.57 \$3.81 \$6.03 \$6.03 \$6.03 \$3.77 \$7.94 \$7.94 \$5.33 \$3.17	\$5.66 \$3.81 \$2.55 \$1.25	1.99
363 CHOROIDAL DISORDERS 76 99 210 BEN NEO ORAL CAV/PHARYNX 76 136 351 FACIAL NERVE DISORDERS 76 232 843 SPRAIN OF HIP THIGH 75 192 277 METABOLISM DIS NEC/NOS 75 159 263 PROT-CAL MALNUTR NEC/NOS 75 226 930 FOREIGN BODY EXTERN EYE 74 92 227 BEN NEO OTH ENDOCRINE 74 176 404 HYPERTEN HEART/RENAL DIS 73 170 310 NONPSYCHOTIC BRAIN SYND 72 174 256 OVARIAN DYSFUNCTION 71 78 604 ORCHITIS EPIDIDYMITIS 71 127 916 SUPERFICIAL INJ HIP/LEG 71 104	\$377.11 \$347.24 \$289.22 \$563.04 \$369.18 \$52.18 \$445.87 \$294.96 \$275.37 \$292.31 \$292.31 \$5292.31 \$5292.31 \$5218.91 \$518.91 \$218.91 \$501.33 \$501.33	\$4.96 \$4.96 \$3.81 \$6.03 \$6.03 \$6.03 \$3.77 \$4.06 \$7.94 \$7.94 \$7.94 \$5.33 \$3.17	\$3.81 \$2.55 \$1.25	1.30
210 BEN NEO ORAL CAV/PHARYNX 76 351 FACIAL NERVE DISORDERS 76 843 SPRAIN OF HIP THIGH 75 277 METABOLISM DIS NEC/NOS 75 263 PROT-CAL MALNUTR NEC/NOS 74 930 FOREIGN BODY EXTERN EYE 74 227 BEN NEO OTH ENDOCRINE 74 404 HYPERTEN HEART/RENAL DIS 73 310 NONPSYCHOTIC BRAIN SYND 72 256 OVARIAN DYSFUNCTION 71 604 ORCHITIS EPIDIDYMITIS 71 916 SUPERFICIAL INJ HIP/LEG 71	\$347.24 \$289.22 \$563.04 \$369.18 \$52.18 \$445.87 \$294.96 \$275.37 \$292.31 \$292.31 \$563.40 \$378.26 \$278.87 \$218.91 \$201.33 \$92.43	\$4.57 \$3.81 \$4.92 \$6.03 \$6.03 \$3.77 \$4.06 \$5.33 \$3.93 \$5.33 \$5.33	\$2.55 \$1.25	
351 FACIAL NERVE DISORDERS 76 843 SPRAIN OF HIP THIGH 75 277 METABOLISM DIS NEC/NOS 75 263 PROT-CAL MALNUTR NEC/NOS 75 930 FOREIGN BODY EXTERN EYE 74 227 BEN NEO OTH ENDOCRINE 74 404 HYPERTEN HEART/RENAL DIS 73 310 NONPSYCHOTIC BRAIN SYND 72 256 OVARIAN DYSFUNCTION 71 604 ORCHITIS EPIDIDYMITIS 71 916 SUPERFICIAL INJ HIP/LEG 71	\$289.22 \$563.04 \$369.18 \$52.18 \$445.87 \$294.96 \$275.37 \$292.31 \$592.31 \$563.40 \$378.26 \$278.87 \$218.91 \$201.33 \$92.43	\$3.81 \$4.92 \$0.70 \$6.03 \$3.39 \$3.77 \$4.06 \$7.94 \$5.33 \$3.93	\$1.25	1.79
843 SPRAIN OF HIP THIGH 75 277 METABOLISM DIS NEC/NOS 75 263 PROT-CAL MALNUTR NEC/NOS 75 930 FOREIGN BODY EXTERN EYE 74 227 BEN NEO OTH ENDOCRINE 74 404 HYPERTEN HEART/RENAL DIS 73 310 NONPSYCHOTIC BRAIN SYND 72 256 OVARIAN DYSFUNCTION 71 604 ORCHITIS EPIDIDYMITIS 71 916 SUPERFICIAL INJ HIP/LEG 71	\$563.04 \$369.18 \$52.18 \$445.87 \$294.96 \$275.37 \$292.31 \$563.40 \$378.26 \$278.87 \$218.91 \$201.33 \$92.43	\$7.51 \$4.92 \$0.70 \$6.03 \$3.39 \$3.77 \$4.06 \$7.94 \$5.33 \$3.93		3.05
277 METABOLISM DIS NEC/NOS 75 263 PROT-CAL MALNUTR NEC/NOS 75 930 FOREIGN BODY EXTERN EYE 74 227 BEN NEO OTH ENDOCRINE 74 404 HYPERTEN HEART/RENAL DIS 73 310 NONPSYCHOTIC BRAIN SYND 72 256 OVARIAN DYSFUNCTION 71 604 ORCHITIS EPIDIDYMITIS 71 916 SUPERFICIAL INJ HIP/LEG 71	\$369.18 \$52.18 \$445.87 \$294.96 \$275.37 \$292.31 \$563.40 \$378.26 \$278.87 \$218.91 \$201.33 \$92.43	\$4.92 \$0.70 \$6.03 \$3.99 \$3.77 \$4.06 \$7.94 \$5.33 \$3.17	\$2.93	2.56
263 PROT-CAL MALNUTR NEC/NOS 75 930 FOREIGN BODY EXTERN EYE 74 227 BEN NEO OTH ENDOCRINE 74 404 HYPERTEN HEART/RENAL DIS 73 310 NONPSYCHOTIC BRAIN SYND 72 256 OVARIAN DYSFUNCTION 71 604 ORCHITIS EPIDIDYMITIS 71 916 SUPERFICIAL INJ HIP/LEG 71	\$52.18 \$445.87 \$294.96 \$275.37 \$292.31 \$563.40 \$378.26 \$278.87 \$218.91 \$201.33 \$92.43	\$6.03 \$6.03 \$3.99 \$4.06 \$7.94 \$5.33 \$3.93 \$3.17	\$2.32	2.12
930 FOREIGN BODY EXTERN EYE 74 227 BEN NEO OTH ENDOCRINE 74 404 HYPERTEN HEART/RENAL DIS 73 310 NONPSYCHOTIC BRAIN SYND 72 256 OVARIAN DYSFUNCTION 71 604 ORCHITIS EPIDIDYMITIS 71 916 SUPERFICIAL INJ HIP/LEG 71	\$445.87 \$294.96 \$275.37 \$292.31 \$563.40 \$378.26 \$278.87 \$218.91 \$201.33 \$92.43	\$6.03 \$3.99 \$3.77 \$4.06 \$7.94 \$5.33 \$3.17	\$0.23	3.01
227 BEN NEO OTH ENDOCRINE 74 404 HYPERTEN HEART/RENAL DIS 73 310 NONPSYCHOTIC BRAIN SYND 72 256 OVARIAN DYSFUNCTION 71 604 ORCHITIS EPIDIDYMITIS 71 916 SUPERFICIAL INJ HIP/LEG 71	\$294.96 \$275.37 \$292.31 \$563.40 \$378.26 \$278.87 \$218.91 \$201.33 \$92.43	\$3.99 \$3.77 \$4.06 \$7.94 \$5.33 \$3.17	\$4.85	1.24
404 HYPERTEN HEART/RENAL DIS 73 310 NONPSYCHOTIC BRAIN SYND 72 256 OVARIAN DYSFUNCTION 71 604 ORCHITIS EPIDIDYMITIS 71 916 SUPERFICIAL INJ HIP/LEG 71	\$275.37 \$292.31 \$563.40 \$378.26 \$278.87 \$218.91 \$201.33 \$92.43	\$3.77 \$4.06 \$7.94 \$5.33 \$3.93 \$3.17	\$1.68	2.38
310 NONPSYCHOTIC BRAIN SYND 72 256 OVARIAN DYSFUNCTION 71 604 ORCHITIS EPIDIDYMITIS 71 916 SUPERFICIAL INJ HIP/LEG 71	\$292.31 \$563.40 \$378.26 \$278.87 \$218.91 \$201.33 \$92.43	\$4.06 \$7.94 \$5.33 \$3.93 \$3.17	\$1.62	2.33
256 OVARIAN DYSFUNCTION 71 604 ORCHITIS EPIDIDYMITIS 71 916 SUPERFICIAL INJ HIP/LEG 71	\$563.40 \$378.26 \$278.87 \$218.91 \$201.33 \$92.43	\$7.94 \$5.33 \$3.93 \$3.17 \$2.96	\$1.68	2.42
604 ORCHITIS EPIDIDYMITIS 71 916 SUPERFICIAL INJ HIP/LEG 71	\$378.26 \$278.87 \$218.91 \$201.33 \$92.43	\$5.33 \$3.93 \$3.17 \$2.96	\$7.22	1.10
916 SUPERFICIAL INJ HIP/LEG	\$278.87 \$218.91 \$201.33 \$92.43	\$3.93	\$2.98	1.79
	\$218.91 \$201.33 \$92.43	\$3.17	\$2.68	1.46
SULT 69	\$201.33 \$92.43	96 6	\$1.94	1.64
89	\$92.43		\$1.04	2.85
89		\$1.36	\$0.86	1.59
910 SUPERFICIAL INJURY HEAD 67 100	\$461.92	\$6.89	\$4.62	1.49
67	\$377.89	\$5.64	\$1.80	3.13
67	\$348.04	\$5.19	\$1.76	2.96
	\$274.26	\$4.09	\$1.66	2.46
854 OTHER BRAIN INJURY 67	\$43.10	\$0.64	\$0.31	2.04
ENCE 67	\$28.85	\$0.43	\$0.13	3.22
M 66	\$345.99	\$5.24	\$3.33	1.58
T NODOSA ET AL 66	\$281.43	\$4.26	\$1.61	2.65
	\$534.01	\$8.34	\$3.71	2.25
64	\$85.61	\$1.34	\$0.34	3.91
ES 63	\$331.89	\$5.27	\$4.37	1.21
63	\$274.28	\$4.35	\$1.06	4.10
	\$392.94	\$6.34	\$2.07	3.06
62	\$363.84	\$5.87	\$3.06	1.92
61 2	\$99.59	\$1.63	\$0.41	3.93
-E 59	\$422.47	\$7.16	\$4.54	1.58
59	\$312.75	\$5.30	\$2.33	2.27
1 59	\$309.76	\$5.25	\$3.73	1.41
	\$36.79	\$0.66	\$0.31	2.13
VEC.	\$395.00	\$7.18	\$3.76	1.91
	\$276.78	\$5.03	\$1.04	4.85
	\$62.95	\$1.20	\$0.50	2.40
54 149	\$1,247.45	\$23.10	\$8.37	2.76

552 OTH ABDOM HERNIA W OBSTR	54	216	\$236.14	\$4.37	\$1.09	4 00
394 DISEASES OF MITRAL VALVE	54	83	\$117.93	\$2.18	\$1.42	1.54
9 ILL-DEFINED INTEST INF	54	125	\$83.99	\$1.56	\$0.67	2.31
222 BENIGN NEO MALE GENITAL	53	59	\$488.35	\$9.21	\$8.28	1.11
529 TONGUE DISORDERS	53	74	\$174.49	\$3.29	\$2.36	1.40
213 BEN NEO BONE/ARTIC CART	53	91	\$51.69	\$0.98	\$0.57	1.72
697 LICHEN	52	101	\$453.67	\$8.72	\$4.49	1.94
471 NASAL POLYPS	52	107	\$447.02	\$8.60	\$4.18	2.06
226 BENIGN NEOPLASM THYROID	52	96	\$244.12	\$4.69	\$2.54	1.85
815 MV COLLISION W OTH OBJ	52	144	\$148.18	\$2.85	\$1.03	2.77
1	52	58	\$82.86	\$1.59	\$1.43	1.12
933 FB PHARYNX LARYNX	51	92	\$66.20	\$1.30	\$0.72	1.80
839 DISLOCATION NEC	20	182	\$1,087.15	\$21.74	\$5.97	3.64
917 SUPERFICIAL INJ FOOT/TOE	50	74	\$207.75	\$4.16	\$2.81	1.48
853 OTH TRAUMATIC BRAIN HEM	20	115	\$120.81	\$2.42	\$1.05	2.30
237 UNCER NEO ENDOCRINE/NERV	49	104	\$208.36	\$4.25	\$2.00	2.12
572 SEQUELA OF CHR LIVER DIS	49	286	\$125.34	\$2.56	\$0.44	5.84
157 MALIGNANT NEO PANCREAS	48	909	\$234.88	\$4.89	\$0.46	10.54
336 SPINAL CORD DISEASE NEC	48	121	\$132.89	\$2.77	\$1.10	2.52
V13 HX OF OTHER DISEASES	48	61	\$112.18	\$2.34	\$1.84	1.27
230 CA IN SITU DIGESTIVE ORG	48	209	\$92.22	\$1.92	\$0.44	4.35
V81 SCREEN-HEART/RESP/GU DIS	47	59	\$248.87	\$5.30	\$4.22	1.26
935 FB MOUTH/ESOPHAG/STOMACH	46	129	\$506.48	\$11.01	\$3.93	2.80
358 MYONEURAL DISORDERS	46	194	\$306.47	\$6.66	\$1.58	4.22
711 ARTHROPATHY W INFECTION	46	252	\$190.00	\$4.13	\$0.75	5.48
713 ARTHROPATH IN OTHER DIS	46	73	\$109.82	\$2.39	\$1.50	1.59
485 BRONCOPNEUMONIA ORG NOS	46	111	\$78.55	\$1.71	\$0.71	2.41
524 DENTOFACIAL ANOMALIES	46	75	\$65.40	\$1.42	\$0.87	1.63
193 MALIGN NEOPL THYROID	45	299	\$709.44	\$15.77	\$2.37	6.64
155 MALIGNANT NEOPLASM LIVER	45	264	\$20.00	\$0.44	\$0.0\$	5.87
383 MASTOIDITIS ET AL	44	88	\$705.13	\$16.03	\$8.01	2.00
705 DISORDERS OF SWEAT GLAND	44	09	\$222.15	\$5.05	\$3.70	1.36
170 MAL NEO BONE/ARTIC CART	44	199	\$152.34	\$3.46	\$0.77	4.52
229 BENIGN NEOPLASM NEC/NOS	44	47	\$108.25	\$2.46	\$2.30	1.07
829 OTHER ROAD VEHICLE ACC	44	118	\$96.50	\$2.19	\$0.82	2.68
565 ANAL FISSURE FISTULA	43	110	\$80.00	\$1.86	\$0.73	2.56
522 PULP PERIAPICAL DIS	42	99	\$94.83	\$2.26	\$1.44	1.57
822 PATELLA FRACTURE	41	259	\$428.00	\$10.44	\$1.65	6.32
205	41	528	\$342.00	\$8.34	\$0.65	12.88
V07 PROPHYLACTIC MEASURES	41	114	\$100.34	\$2.45	\$0.88	2.78
405 SECONDARY HYPERTENSION	41	72	\$77.73	\$1.90	\$1.08	1.76
567 PERITONITIS	41	249	\$15.00	\$0.37	\$0.06	6.07
HST HISTORICAL CLAIM ADDED BY R&R	40	40	\$3,799.51	\$94.99	\$94.99	1.00
754 CONG MUSCULOSKEL DEFORM	40	61	\$368.83	\$9.22	\$6.05	1.53
337 AUTONOMIC NERVE DISORDER	40	66	\$279.24	\$6.98	\$2.82	2.48
430 SUBARACHNOID HEMORRHAGE	40	213	\$207.37	\$5.18	\$0.97	5.33

893 OPEN WOUND OF TOE	40	70	\$171.17	\$4.28	\$2.45	1.75
196 MALIG NEO LYMPH NODES	40	112	\$28.04	\$0.70	\$0.25	2.80
540 ACUTE APPENDICITIS	39	222	\$700.69	\$17.97	\$3.16	5.69
135 SARCOIDOSIS	39	117	\$251.20	\$6.44	\$2.15	3.00
463 ACUTE TONSILLITIS	39	45	\$93.40	\$2.39	\$2.08	1.15
271 DIS CARBOHYDRATE METABOL	39	45	\$90.13	\$2.31	\$2.00	1.15
456 VARICOSE VEINS NEC	39	73	\$42.84	\$1.10	\$0.59	1.87
894 OPEN WOUND OF LEG NEC	38	85	\$190.00	\$5.00	\$2.24	2.24
184 MAL NEO FEM GEN NEC/NOS	38	269	\$175.48	\$4.62	\$0.65	7.08
476 CHR LARYNG/LARYNGOTRACH	38	48	\$49.12	\$1.29	\$1.02	1.26
587 RENAL SCLEROSIS NOS	38	48	\$46.49	\$1.22	\$0.97	1.26
594 LOWER URIN TRACT CALCUL	38	110	\$17.53	\$0.46	\$0.16	2.89
268 VITAMIN D DEFICIENCY	38	48	\$15.00	\$0.39	\$0.31	1.26
161 MALIGNANT NEO LARYNX	37	220	\$407.50	\$11.01	\$1.85	5.95
	37	105	\$235.52	\$6.37	\$2.24	2.84
34 STREP THROAT/SCARLET FEV	37	50	\$99.82	\$2.70	\$2.00	1.35
525 OTHER DENTAL DISORDER	37	44	\$64.69	\$1.75	\$1.47	1.19
568 OTH PERITONEAL DISORDERS	37	92	\$0.00	\$0.00	\$0.00	2.49
191 MALIGNANT NEOPLASM BRAIN	36	293	\$1,042.94	\$28.97	\$3.56	8.14
200 LYMPHOSARC/RETICULOSARC	36	150	\$788.76	\$21.91	\$5.26	4.17
579 INTESTINAL MALABSORPTION	36	64	\$112.01	\$3.11	\$1.75	1.78
279 DIS IMMUNE MECHANISM	36	181	\$75.00	\$2.08	\$0.41	5.03
245 THYROIDITIS	35	89	\$119.13	\$3.40	\$1.75	1.94
308 ACUTE REACTION TO STRESS	35	51	\$40.66	\$1.16	\$0.80	1.46
111 DERMATOMYCOSIS NEC/NOS	34	40	\$109.11	\$3.21	\$2.73	1.18
259 OTH ENDOCRINE DISORDERS	34	68	\$63.61	\$1.87	\$0.71	2.62
V80 SCREEN-NEURO/EYE/EAR DIS	34	37	\$15.80	\$0.46	\$0.43	1.09
501 ASBESTOSIS	33	129	\$144.28	\$4.37	\$1.12	3.91
292 DRUG PSYCHOSES	33	92	\$36.74	\$1.11	\$0.40	2.79
V77 SCREEN-ENDO/NUTR/METAB	33	46	\$7.48	\$0.23	\$0.16	1.39
810 VEHICLE-TRAIN COLLISION	32	119	\$168.18	\$5.26	\$1.41	3.72
376 DISORDERS OF THE ORBIT	32	53	\$94.19	\$2.94	\$1.78	1.66
806 VERTEBRAL FX W CORD INJ	31	97	\$20.52	\$0.66	\$0.21	3.13
521 HARD TISSUE DIS OF TEETH	31	99	\$0.00	\$0.00	\$0.00	1.81
150 MALIGNANT NEO ESOPHAGUS	30	375	\$2,281.02	\$76.03	\$6.08	12.50
302 SEXUAL DISORDERS	30	47	\$91.44	\$3.05	\$1.95	1.57
180 MALIG NEOPL CERVIX UTERI	30	176	\$91.36	\$3.05	\$0.52	5.87
151 MALIGNANT NEO STOMACH	30	183	\$63.26	\$2.11	\$0.35	6.10
136 INF/PARASITE DIS NEC/NOS	30	49	\$0.00	\$0.00	\$0.00	1.63
911 SUPERFICIAL INJURY TRUNK	29	40	\$153.03	\$5.28	\$3.83	1.38
743 CONGENITAL EYE ANOMALY	29	37	\$144.64	\$4.99	\$3.91	1.28
70 VIRAL HEPATITIS	29	113	\$70.68	\$2.44	\$0.63	3.90
605 REDUN PREPUCE PHIMOSIS	28	98	\$176.79	\$6.31	\$2.06	3.07
684 IMPETIGO	28	33	\$176.52	\$6.30	\$5.35	1.18
179 MALIG NEOPL UTERUS NOS	28	207	\$167.57	\$5.98	\$0.81	7.39
750 OTHER UPPER GI ANOMALY	28	38	\$25.31	\$0.90	\$0.67	1.36
				,		T

	566 ANAL RECTAL ABSCESS	27	59	\$308.48	\$11.43	\$5.23	2.19
	303 ALCOHOL DEPENDENCE SYNDR	27	132	\$205.17	\$7.60	\$1.55	4,89
	138 LATE EFFECT ACUTE POLIO	27	72	\$182.00	\$6.74	\$2.53	2.67
	977 POIS-MEDICINAL NEC/NOS	27	65	\$181.10	\$6.71	\$2.79	2.41
	421 AC/SUBAC ENDOCARDITIS	27	132	\$65.58	\$2.43	\$0.50	4.89
	208 LEUKEMIA-UNSPECIF CELL	27	69	\$41.91	\$1.55	\$0.61	2.56
	870 OCULAR ADNEXA OPEN WOUND	26	44	\$271.16	\$10.43	\$6.16	1.69
	385 DIS MID EAR/MASTOID NEC	26	47	\$169.08	\$6.50	\$3.60	1.81
	343 INFANTILE CEREBRAL PALSY	26	137	\$139.52	\$5.37	\$1.02	5.27
	914 SUPERFICIAL INJ OF HAND	26	35	\$136.84	\$5.26	\$3.91	1.35
	945 BURN OF LEG	26	55	\$98.57	\$3.79	\$1.79	2.12
	888 FALL NEC NOS	26	38	\$0.00	\$0.00	\$0.00	1.46
	270 DIS AMIN-ACID METABOLISM	25	34	\$187.28	\$7.49	\$5.51	1.36
	588 IMPAIRED RENAL FUNCTION	25	30	\$105.52	\$4.22	\$3.52	1.20
	583 NEPHRITIS NOS	25	42	\$98.47	\$3.94	\$2.34	1.68
	745 CARDIAC SEPTAL CLOS ANOM	25	40	\$58.31	\$2.33	\$1.46	1.60
	972 POISON-CARDIOVASC AGENT	25	47	\$5.55	\$0.22	\$0.12	1.88
	483 PNEUMONIA: ORGANISM NEC	25	52	\$2.22	\$0.09	\$0.04	2.08
	751 OTH ANOM DIGESTIVE SYST	25	47	\$0.00	\$0.00	\$0.00	1.88
	890 OPEN WOUND OF HIP/THIGH	24	58	\$1,173.13	\$48.88	\$20.23	2.42
	797 SENILITY W/O PSYCHOSIS	24	81	\$111.00	\$4.63	\$1.37	3.38
DEP	DEPENDENT NOT ON FILE	24	47	\$0.00	\$0.00	\$0.00	1.96
	742 OTH NERVOUS SYSTEM ANOM	23	46	\$403.61	\$17.55	\$8.77	2.00
	201 HODGKIN'S DISEASE	23	220	\$229.56	\$9.97	\$1.04	9.57
	827 LOWER LIMB FRACTURE NEC	23	22	\$38.36	\$1.67	\$0.67	2.48
	335 ANT HORN CELL DISEASE	22	114	\$188.18	\$8.55	\$1.65	5.18
	541 APPENDICITIS NOS	22	48	\$157.03	\$7.14	\$3.27	2.18
	190 MALIGNANT NEOPLASM EYE	22	103	\$152.35	\$6.93	\$1.48	4.68
	915 SUPERFICIAL INJ FINGER	22	28	\$104.72	\$4.76	\$3.74	1.27
	931 FOREIGN BODY IN EAR	22	31	\$100.58	\$4.57	\$3.24	1.41
N68	ADMINISTRATIVE ENCOUNTER	22	32	\$36.14	\$1.64	\$1.13	1.45
	PERIODONTAL	22	34	\$31.97	\$1.45	\$0.94	1.55
	133 ACARIASIS	22	25	\$30.81	\$1.40	\$1.23	1.14
		22	20	\$23.43	\$1.07	\$0.47	2.27
	334 SPINOCEREBELLAR DISEASE	22	36	\$2.51	\$0.11	\$0.07	1.64
N56	ADMIT FOR DIALYSIS	21	82	\$1,428.00	\$68.00	\$17.41	3.90
	912 SUPERFIC INJ SHOULDR/ARM	21	27	\$168.06	\$8.00	\$6.22	1.29
	77 OTH VIRAL CONJUNCTIVITIS	21	31	\$112.93	\$5.38	\$3.64	1.48
	219 OTH BENIGN NEO UTERUS	21	31	\$25.97	\$1.24	\$0.84	1.48
	835 DISLOCATION OF HIP	21	82	\$25.33	\$1.21	\$0.31	3.90
	880 OPN WND SHOULDR/UPPR ARM	21	20	\$18.03	\$0.86	\$0.36	2.38
	905 LATE EFF MUSCULOSKEL INJ	21	41	\$2.22	\$0.11	\$0.05	1.95
	297 PARANOID STATES	20	32	\$170.57	\$8.53	\$5.33	1.60
	838 DISLOCATION OF FOOT	20	53	\$85.74	\$4.29	\$1.62	2.65
	841 SPRAIN ELBOW FOREARM	20	30	\$35.75	\$1.79	\$1.19	1.50
V18	FAM HX-OTH SPECIF COND	19	28	\$47.08	\$2.48	\$1.68	1.47

22	221 BEN NEO OTH FEM GENITAL	19	27	\$23.49	\$1.24	\$0.87	1.42
06	D HEAD/NECK VESSEL INJURY	19	23	\$0.00	\$0.00	\$0.00	1.21
30	301 PERSONALITY DISORDERS	18	72	\$305.87	\$16.99	\$4.25	4.00
.89	895 TRAUMATIC AMPUTATION TOE	18	23	\$52.65	\$2.93	\$2.29	1.28
19,	4 MAL NEO OTHER ENDOCRINE	18	103	\$50.09	\$2.78	\$0.49	5.72
50	500 COAL WORKERS' PNEUMOCON	18	34	\$43.54	\$2.42	\$1.28	1.89
15	S MAL NEO GB/EXTRAHEPATIC	18	168	\$26.45	\$1.47	\$0.16	9.33
50.	505 PNEUMOCONIOSIS NOS	18	38	\$15.00	\$0.83	\$0.39	2.11
75.	755 OTH CONGEN LIMB ANOMALY	18	35	\$7.79	\$0.43	\$0.22	1.94
93	934 FB TRACHEA/BRONCHUS/LUNG	18	35	\$3.95	\$0.22	\$0.11	1.94
11.	115 HISTOPLASMOSIS	17	30	\$132.57	\$7.80	\$4.42	1.76
28.	282 HEREDIT HEMOLYTIC ANEMIA	17	22	\$91.23	\$5.37	\$4.15	1.29
V17	FAM HX-CHR DISABLING DIS	17	24	\$85.59	\$5.03	\$3.57	1.41
58	581 NEPHROTIC SYNDROME	17	30	\$0.00	\$0.00	\$0.00	1.76
45	420 ACUTE PERICARDITIS	17	23	\$0.00	\$0.00	\$0.00	1.35
35.	352 DISORDER CRAN NERVE NEC	16	41	\$271.76	\$16.99	\$6.63	2.56
14	146 MALIG NEO OROPHARYNX	16	248	\$141.44	\$8.84	\$0.57	15.50
81	3 MV TRAFFIC ACCIDENT NEC	16	17	\$111.76	\$6.99	\$6.57	1.06
75	759 CONGEN ANOMALIES NEC/NOS	16	25	\$75.28	\$4.71	\$3.01	1.56
73.	732 OSTEOCHONDROPATHIES	16	32	\$49.79	\$3.11	\$1.56	2.00
26	269 OTH NUTRITION DEFICIENCY	16	25	\$46.00	\$2.88	\$1.84	1.56
94.	942 BURN OF TRUNK	16	35	\$43.11	\$2.69	\$1.23	2.19
34	347 CATAPLEXY AND NARCOLEPSY	16	41	\$34.20	\$2.14	\$0.83	2.56
83,	834 DISLOCATION OF FINGER	16	52	\$25.22	\$1.58	\$0.49	3.25
- 1	474 CHR T A DIS	16	26	\$3.44	\$0.22	\$0.13	1.63
V64	PROCEDURES NOT DONE	16	19	\$0.00	\$0.00	\$0.00	1.19
94,	944 BURN OF HAND WRIST	15	39	\$286.61	\$19.11	\$7.35	2.60
14.	141 MALIG NEO TONGUE	15	383	\$188.35	\$12.56	\$0.49	25.53
88	885 TRAUM AMPUTATION THUMB	15	25	\$149.63	\$6.6\$	\$5.99	1.67
15	158 MALIG NEO PERITONEUM	15	83	\$128.17	\$8.54	\$1.54	5.53
16	160 MAL NEO NASAL CAV/SINUS	15	38	\$121.73	\$8.12	\$3.20	2.53
87.	871 EYEBALL OPEN WOUND	15	35	\$78.70	\$5.25	\$2.25	2.33
.94.	943 BURN OF ARM	15	32	\$74.77	\$4.98	\$2.34	2.13
58.	2 CHRONIC NEPHRITIS	15	30	\$48.93	\$3.26	\$1.63	2.00
23.	231 CARCINOMA IN SITU OF RESPIRATO	15	37	\$4.81	\$0.32	\$0.13	2.47
22(220 BENIGN NEOPLASM OVARY	15	19	\$0.00	\$0.00	\$0.00	1.27
31,	314 HYPERKINETIC SYNDROME	14	23	\$116.78	\$8.34	\$5.08	1.64
⁷ 96	964 POIS-BLOOD AFFECTING AGT	14	46	\$103.24	\$7.37	\$2.24	3.29
80	801 SKULL BASE FRACTURE	14	25	\$65.55	\$4.68	\$2.62	1.79
198	D TRAUM PNEUMOHEMOTHORAX	14	74	\$58.66	\$4.19	\$0.79	5.29
87.	7 OPEN WOUND OF BUTTOCK	14	63	\$56.97	\$4.07	\$0.90	4.50
41	7 OTH PULMON CIRCULAT DIS	14	28	\$20.00	\$1.43	\$0.71	2.00
	952 SPINAL CORD INJ W/O FX	14	44	\$12.64	\$0.90	\$0.29	3.14
V50	OTHER ELECTIVE SURGERY	13	14	\$202.07	\$15.54	\$14.43	1.08
14	145 MALIG NEO MOUTH NEC/NOS	13	113	\$119.14	\$9.16	\$1.05	8.69
71.	712 CRYSTAL ARTHROPATHIES	13	16	\$100.35	\$7.72	\$6.27	1.23

872 OPEN WOUND OF EAR 619 FEMALE GENITAL FISTULA	7	20	\$54.12	47 16	11:11:11:11:11:11:11:11:11:11:11:11:11:	3.0
506 FEMALE GENITAL FISTULA	13	77	11::)	#4.FC	\$2.46	1.69
STG CICKING SOC	13	42	\$41.51	\$3.19	\$0.99	3.23
SOURSICHOPHISIOLOGIC DIS	13	21	\$35.13	\$2.70	\$1.67	1.62
291 ALCOHOLIC PSYCHOSES	13	99	\$17.76	\$1.37	\$0.27	5.08
876 OPEN WOUND OF BACK	13	22	\$15.93	\$1.23	\$0.72	1.69
322 MENINGITIS, UNSPECIFIED	13	49	\$15.32	\$1.18	\$0.31	3.77
731 OSTEITIS DEFORMANS	12	44	\$53.34	\$4.45	\$1.21	3.67
140 MALIGNANT NEOPLASM LIP	12	23	\$40.90	\$3.41	\$1.78	1.92
752 GENITAL ORGAN ANOMALIES	12	18	\$20.40	\$1.70	\$1.13	1.50
117 OTHER MYCOSES	12	73	\$0.00	\$0.00	\$0.00	80.9
304 DRUG DEPENDENCE	11	89	\$1,088.42	\$98.95	\$16.01	6.18
734 FLAT FOOT	11	19	\$257.83	\$23.44	\$13.57	1.73
261 NUTRITIONAL MARASMUS	11	31	\$162.72	\$14.79	\$5.25	2.82
42 ACQUIRED IMMUNE DEFICIENCY SYN	11	61	\$102.45	\$9.31	\$1.68	5.55
940 BURN OF EYE ADNEXA	11	17	\$98.23	\$8.93	\$5.78	1.55
45 ACUTE POLIOMYELITIS	11	33	\$96.74	\$8.79	\$2.93	3.00
851 CEREBRAL LACER/CONTUSION	11	20	\$76.59	\$6.96	\$1.53	4.55
318 OTHER MENTAL RETARDATION	11	15	\$55.46	\$5.04	\$3.70	1.36
258 POLYGLANDULAR DYSFUNCT	F	16	\$53.19	\$4.84	\$3.32	1.45
159 OTH MALIG NEO GI/PERITON	11	25	\$49.51	\$4.50	\$1.98	2.27
886 TRAUM AMPUTATION FINGER	F	51	\$47.38	\$4.31	\$0.93	4.64
798 SUDDEN DEATH CAUSE UNKNW	11	12	\$42.81	\$3.89	\$3.57	1.09
938 FOREIGN BODY GI NOS	11	17	\$36.73	\$3.34	\$2.16	1.55
508 RESP COND D/T EXT AGENT	11	26	\$12.38	\$1.13	\$0.48	2.36
939 FOREIGN BODY GU TRACT	11	14	\$5.51	\$0.50	\$0.39	1.27
94 NEUROSYPHILIS	11	23	\$2.51	\$0.23	\$0.11	2.09
142 MAL NEO MAJOR SALIVARY	11	58	\$0.00	\$0.00	\$0.00	5.27
570 ACUTE NECROSIS OF LIVER	11	35	\$0.00	\$0.00	\$0.00	3.18
520 TOOTH DEVELOP/ERUPT DIS	11	22	\$0.00	\$0.00	\$0.00	2.00
887 TRAUMATIC AMPUT ARM/HAND	10	15	\$90.24	\$9.02	\$6.02	1.50
510 EMPYEMA	10	43	\$49.90	\$4.99	\$1.16	4.30
319 MENTAL RETARDATION NOS	10	18	\$48.92	\$4.89	\$2.72	1.80
962 POISONING BY HORMONES	10	30	\$36.63	\$3.66	\$1.22	3.00
9	10	12	\$36.28	\$3.63	\$3.02	1.20
V01 COMMUNICABLE DIS CONTACT	10	12	\$35.47	\$3.55	\$2.96	1.20
31 OTHER MYCOBACTERIAL DIS	10	43	\$28.24	\$2.82	\$0.66	4.30
761 MATERNAL COMPL AFF NB	10	10	\$25.46	\$2.55	\$2.55	1.00
243 CONGENITAL HYPOTHYROIDSM	10	13	\$23.38	\$2.34	\$1.80	1.30
495 EXT ALLERGIC ALVEOLITIS	10	20	\$19.53	\$1.95	\$6.0\$	2.00
779 OTH PERINATAL CONDITION	10	14	\$16.69	\$1.67	\$1.19	1.40
629 OTH FEMALE GENITAL DIS	10	12	\$16.53	\$1.65	\$1.38	1.20
614 FEMALE PELVIC INFLAM DIS	10	19	\$14.45	\$1.45	\$0.76	1.90
617 ENDOMETRIOSIS	10	18	\$11.94	\$1.19	\$0.66	1.80
387 OTOSCLEROSIS	10	11	\$8.90	\$0.89	\$0.81	1.10
147 MALIG NEO NASOPHARYNX	10	114	\$0.00	\$0.00	\$0.00	11.40

			00.0	00:0	00:00	2
341 OTHER CNS DEMYELINATION	10	16	\$0.00	\$0.00	\$0.00	1.60
38 OTH ARTHROPOD-BORNE DIS	10	19	\$0.00	\$0.00	\$0.00	1.90
865 SPLEEN INJURY	6	27	\$647.38	\$71.93	\$23.98	3.00
811 SCAPULA FRACTURE	6	54	\$225.08	\$25.01	\$4.17	00.9
904 BLOOD VESSEL INJURY NEC	6	13	\$105.06	\$11.67	\$8.08	1.44
534 GASTROJEJUNAL ULCER	6	17	\$77.23	\$8.58	\$4.54	1.89
862 INTRATHORACIC INJURY NEC	6	13	\$4.65	\$0.52	\$0.36	1.44
59 POISON-PSYCHOTROPIC AGT	6	19	\$0.00	\$0.00	\$0.00	2.11
CONVALESCENCE	6	17	\$0.00	\$0.00	\$0.00	1.89
VISION CARE	6	6	\$0.00	\$0.00	\$0.00	1.00
152 MALIG NEO SMALL BOWEL	8	19	\$422.00	\$52.75	\$22.21	2.38
53 SUICIDE-STRANGUL/SUFFOC	8	16	\$123.22	\$15.40	\$7.70	2.00
748 RESPIRATORY SYST ANOMALY	8	19	\$93.00	\$11.63	\$4.89	2.38
53 MALIGNANT NEOPL PLEURA	8	24	\$90.00	\$11.25	\$3.75	3.00
58 CHROMOSOMAL ANOMALIES	8	17	\$69.03	\$8.63	\$4.06	2.13
30 WAR INJURY:FIRE/CONFLAG	8	151	\$56.51	\$7.06	\$0.37	18.88
FAM HX-OTHER CONDITIONS	∞	10	\$51.98	\$6.50	\$5.20	1.25
949 BURN UNSPECIFIED	8	10	\$20.00	\$2.50	\$2.00	1.25
186 MALIGN NEOPL TESTIS	8	15	\$20.00	\$2.50	\$1.33	1.88
192 MAL NEO NERVE NEC/NOS	8	19	\$15.00	\$1.88	\$0.79	2.38
1 EFF REDUCED TEMPERATURE	8	31	\$15.00	\$1.88	\$0.48	3.88
987 TOXIDE EFF GAS/VAPOR NEC	8	14	\$10.11	\$1.26	\$0.72	1.75
3 LUNG/MEDIASTINUM ABSCESS	8	26	\$0.00	\$0.00	\$0.00	3.25
4 MULT FX SKULL W OTH BONE	8	11	\$0.00	\$0.00	\$0.00	1.38
956 SUI/SELF-INJ BY CUT INST	8	10	\$0.00	\$0.00	\$0.00	1.25
FITTING OF PROSTHESIS	8	10	\$0.00	\$0.00	\$0.00	1.25
861 HEART LUNG INJURY	8	13	\$0.00	\$0.00	\$0.00	1.63
OTH PSYCHOSOCIAL CIRCUM	7	33	\$495.52	\$70.79	\$15.02	4.71
9 OTH MALIG NEO OROPHARYNX	7	09	\$38.73	\$5.53	\$0.65	8.57
6 OTH INJ CAUSED BY ANIMAL	7	10	\$16.00	\$2.29	\$1.60	1.43
907 LATE EFF NERV SYSTEM INJ	7	30	\$13.23	\$1.89	\$0.44	4.29
175 MALIG NEO MALE BREAST	7	21	\$8.12	\$1.16	\$0.39	3.00
506 FUM/VAPOR RESP DISEASES	7	12	\$6.80	\$0.97	\$0.57	1.71
867 PELVIC ORGAN INJURY	7	17	\$0.00	\$0.00	\$0.00	2.43
828 RIDDEN ANIMAL ACCIDENT	7	14	\$0.00	\$0.00	\$0.00	2.00
323 ENCEPHALOMYELITIS	7	15	\$0.00	\$0.00	\$0.00	2.14
130 TOXOPLASMOSIS	7	8	\$0.00	\$0.00	\$0.00	1.14
580 ACUTE NEPHRITIS	7	7	\$0.00	\$0.00	\$0.00	1.00
SCREENING FOR BLOOD DIS	7	8	\$0.00	\$0.00	\$0.00	1.14
LETTER ON FILE	7	11	\$0.00	\$0.00	\$0.00	1.57
832 ELBOW DISLOCATION	9	18	\$105.57	\$17.60	\$5.87	3.00
SCREENING FOR VIRAL DIS	9	9	\$94.84	\$15.81	\$15.81	1.00
0 OTH NB RESPIRATORY COND	9	27	\$38.54	\$6.42	\$1.43	4.50
324 CNS ABSCESS	9	12	\$23.90	\$3.98	\$1.99	2.00
01.02.02.02.000.010.010.000	,					

	75 INFECTIOUS MONONUCLEOSIS	9	6	\$22.60	\$3.77	\$2.51	1 50
	685 PILONIDAL CYST	9	12	\$20.00	\$3.33	\$1.67	2,00
	671 VENOUS COMPLIC IN PREG	9	16	\$10.65	\$1.78	\$0.67	2.67
	927 CRUSHING INJ UPPER LIMB	9	9	\$6.25	\$1.04	\$1.04	1.00
-	874 OPEN WOUND OF NECK	9	6	\$5.90	\$0.98	\$0.66	1.50
- [941 BURN OF HEAD/FACE/NECK	9	23	\$0.00	\$0.00	\$0.00	3.83
V25	CONTRACEPTIVE MANAGEMENT	9	6	\$0.00	\$0.00	\$0.00	1.50
	741 SPINA BIFIDA	9	13	\$0.00	\$0.00	\$0.00	2.17
	164 MAL NEO THYMUS/MEDIASTIN	9	30	\$0.00	\$0.00	\$0.00	5.00
	330 CEREBRAL DEGEN IN CHILD	9	8	\$0.00	\$0.00	\$0.00	1.33
	589 SMALL KIDNEY	9	11	\$0.00	\$0.00	\$0.00	1.83
	961 POISONING-ANTI-INFEC NEC	9	8	\$0.00	\$0.00	\$0.00	1.33
	299 PSYCHOSES OF CHILDHOOD	5	13	\$148.49	\$29.70	\$11.42	2.60
	868 OTH INTRA-ABDOMINAL INJ	5	14	\$46.52	\$9.30	\$3.32	2.80
	809 FRACTURE OF TRUNK BONES	5	15	\$21.99	\$4.40	\$1.47	3.00
	517 LUNG INVOLV W OTH COND	5	33	\$20.00	\$4.00	\$0.61	09.9
	11 PULMONARY TUBERCULOSIS	5	55	\$17.54	\$3.51	\$0.32	11.00
	254 DISEASES OF THYMUS GLAND	5	9	\$4.39	\$0.88	\$0.73	1.20
V 48	HEAD/NECK/TRUNK PROBLEMS	5	5	\$3.26	\$0.65	\$0.65	1.00
	896 TRAUMATIC AMPUTAT FOOT	5	10	\$0.00	\$0.00	\$0.00	2.00
	863 GI TRACT INJURY	5	8	\$0.00	\$0.00	\$0.00	1.60
-	967 POISON-SEDATIVE/HYPNOTIC	5	19	\$0.00	\$0.00	\$0.00	3.80
	869 INTERNAL INJURY NOS	5	5	\$0.00	\$0.00	\$0.00	1.00
	234 CA IN SITU NEC/NOS	5	16	\$0.00	\$0.00	\$0.00	3.20
- 1	866 KIDNEY INJURY	5	2	\$0.00	\$0.00	\$0.00	1.00
٧40	MENTAL/BEHAVIORAL PROB	5	9	\$0.00	\$0.00	\$0.00	1.20
	452 PORTAL VEIN THROMBOSIS	5	11	\$0.00	\$0.00	\$0.00	2.20
- 1	947 ADV EFF MEDICINE NEC/NOS	5	5	\$0.00	\$0.00	\$0.00	1.00
	SCREEN-OTH INFECTIVE DIS	5	9	\$0.00	\$0.00	\$0.00	1.20
DEN	DENTAL TREATMENT	5	9	\$0.00	\$0.00	\$0.00	1.20
	39 ACTINOMYCOTIC INFECTIONS	4	9	\$75.54	\$18.89	\$12.59	1.50
V20	HEALTH SUPERVISION CHILD	4	9	\$51.75	\$12.94	\$8.63	1.50
	928 CRUSHING INJURY OF LEG	4	8	\$20.69	\$5.17	\$2.59	2.00
	833 WRIST DISLOCATION	4	2	\$20.00	\$5.00	\$4.00	1.25
	206 MONOCYTIC LEUKEMIA	4	6	\$20.00	\$5.00	\$2.22	2.25
	127 OTH INTEST HELMINTHIASES	4	5	\$19.44	\$4.86	\$3.89	1.25
	99 OTHER VENEREAL DISEASE	4	9	\$19.20	\$4.80	\$3.20	1.50
	837 DISLOCATION OF ANKLE	4	5	\$8.04	\$2.01	\$1.61	1.25
	52 CHICKENPOX	4	7	\$0.46	\$0.12	\$0.07	1.75
	3 OTH SALMONELLA INFECTION	4	10	\$0.00	\$0.00	\$0.00	2.50
	148 MALIG NEOPL HYPOPHARYNX	4	58	\$0.00	\$0.00	\$0.00	14.50
	320 BACTERIAL MENINGITIS	4	25	\$0.00	\$0.00	\$0.00	6.25
	986 TOX EFF CARBON MONOXIDE	4	17	\$0.00	\$0.00	\$0.00	4.25
	131 TRICHOMONIASIS	4	4	\$0.00	\$0.00	\$0.00	1.00
	800 SKULL VAULT FRACTURE	4	8	\$0.00	\$0.00	\$0.00	2.00
	965 POIS-ANALGESIC/ANTIPYRET	4	5	\$0.00	\$0.00	\$0.00	1.25

	317 MILD MENTAL RETARDATION	4	4	\$0.00	\$0.00	100 O\$	1 00
	744 CONG ANOM EAR/FACE/NECK	4	4	\$0.00	\$0.00	\$0.00	1.00
	878 OPEN WOUND GENITAL ORGAN	4	24	\$0.00	\$0.00	\$0.00	6.00
V41	PROB W SPECIAL FUNCTIONS	4	5	\$0.00	\$0.00	\$0.00	1.25
	762 COMPL PLACEN/CORD AFF NB	4	4	\$0.00	\$0.00	\$0.00	1.00
	98 GONOCOCCAL INFECTIONS	3	4	\$112.21	\$37.40	\$28.05	1.33
V08	ASYMPTOMATIC HUMAN IMMUNODE	က	6	\$69.79	\$23.26	\$7.75	3.00
	35 ERYSIPELAS	3	4	\$15.40	\$5.13	\$3.85	1.33
V22	NORMAL PREGNANCY	3	9	\$14.18	\$4.73	\$2.36	2.00
	766 LONG GESTAT/HIGH BIRTHWT	3	c	\$8.03	\$2.68	\$2.68	1.00
V30	SINGLE LIVEBORN	3	4	\$1.63	\$0.54	\$0.41	1.33
	960 POISONING BY ANTIBIOTICS	3	4	\$0.00	\$0.00	\$0.00	1.33
	422 ACUTE MYOCARDITIS	3	4	\$0.00	\$0.00	\$0.00	1.33
	143 MALIGNANT NEOPLASM GUM	3	8	\$0.00	\$0.00	\$0.00	2.67
	966 POISON-ANTICONVULSANTS	3	13	\$0.00	\$0.00	\$0.00	4.33
	551 OTH ABDOM HERNIA W GANGR	3	Э	\$0.00	\$0.00	\$0.00	1.00
	951 CRANIAL NERVE INJURY NEC	Э	11	\$0.00	\$0.00	\$0.00	3.67
	315 SPECIFIC DEVELOP DELAYS	3	4	\$0.00	\$0.00	\$0.00	1.33
	17 TUBERCULOSIS NEC	3	3	\$0.00	\$0.00	\$0.00	1.00
	957 INJURY TO NERVE NEC/NOS	3	σ	\$0.00	\$0.00	\$0.00	3.00
	830 JAW DISLOCATION	3	6	\$0.00	\$0.00	\$0.00	3.00
	767 BIRTH TRAUMA	3	10	\$0.00	\$0.00	\$0.00	3.33
	20 PLAGUE	e.	8	\$0.00	\$0.00	\$0.00	1.00
	207 OTHER SPECIFIED LEUKEMIA	3	3	\$0.00	\$0.00	\$0.00	1.00
	392 RHEUMATIC CHOREA	3	4	\$0.00	\$0.00	\$0.00	1.33
V59	DONOR	3	3	\$0.00	\$0.00	\$0.00	1.00
	7 OTH PROTOZOAL INTEST DIS	3	2	\$0.00	\$0.00	\$0.00	1.67
	615 UTERINE INFLAMMATORY DIS	3	m	\$0.00	\$0.00	\$0.00	1.00
	57 OTHER VIRAL EXANTHEMATA	3	4	\$0.00	\$0.00	\$0.00	1.33
	123 OTHER CESTODE INFECTION	3	4	\$0.00	\$0.00	\$0.00	1.33
	628 FEMALE INFERTILITY	2	2	\$15.00	\$7.50	\$7.50	1.00
	129 INTESTIN PARASITISM NOS	2	2	\$15.00	\$7.50	\$7.50	1.00
	82 TICK-BORNE RICKETTSIOSES	2	2	\$15.00	\$7.50	\$7.50	1.00
	817 MULTIPLE HAND FRACTURES	2	2	\$15.00	\$7.50	\$7.50	1.00
	49 OTH NONARTHROPOD CNS VIR	2	3	\$0.00	\$0.00	\$0.00	1.50
	974 POIS-WATER/MIN/METAB AGT	2	2	\$0.00	\$0.00	\$0.00	2.50
	262 OTH SEVERE MALNUTRITION	2	5	\$0.00	\$0.00	\$0.00	2.50
	502 SILICA PNEUMOCON NEC	2	7	\$0.00	\$0.00	\$0.00	3.50
	819 MV TRAFFIC ACCIDENT NOS	2	2	\$0.00	\$0.00	\$0.00	1.00
	542 OTHER APPENDICITIS	2	4	\$0.00	\$0.00	\$0.00	2.00
	864 LIVER INJURY	2	7	\$0.00	\$0.00	\$0.00	3.50
	950 INJ OPTIC NERV/PATHWAYS	2	2	\$0.00	\$0.00	\$0.00	1.00
	909 LATE EFF EXTER CAUSE NEC	2	4	\$0.00	\$0.00	\$0.00	2.00
	749 CLEFT PALATE CLEFT LIP	2	2	\$0.00	\$0.00	\$0.00	1.00
	316 PSYCHIC FACTOR W OTH DIS	2	2	\$0.00	\$0.00	\$0.00	1.00
	390 RHEUM FEV W/O HRT INVOLV	2	2	\$0.00	\$0.00	\$0.00	1.00

	803 OTHER SKULL FRACTURE	2	3	\$0.00	\$0.00	\$0.00	1.50
V24	POSTPARTUM CARE/EXAM	2	2	\$0.00	\$0.00	\$0.00	1.00
	484 PNEUM IN OTH INFEC DIS	2	3	\$0.00	\$0.00	\$0.00	1.50
	925 CRUSH INJ FACE/SCALP/NCK	2	2	\$0.00	\$0.00	\$0.00	1.00
V28	ANTENATAL SCREENING	2	2	\$0.00	\$0.00	\$0.00	1.00
	260 KWASHIORKOR	2	2	\$0.00	\$0.00	\$0.00	1.00
	128 HELMINTHIASES NEC NOS	2	2	\$0.00	\$0.00	\$0.00	1.00
	948 BURN BY % BODY SURFACE	2	2	\$0.00	\$0.00	\$0.00	1.00
	74 COXSACKIE VIRAL DISEASE	2	3	\$0.00	\$0.00	\$0.00	1.50
	937 FOREIGN BODY ANUS/RECTUM	2	3	\$0.00	\$0.00	\$0.00	1.50
V 02	INFECTIOUS DIS CARRIER	2	2	\$0.00	\$0.00	\$0.00	1.00
	120 SCHISTOSOMIASIS	2	3	\$0.00	\$0.00	\$0.00	1.50
	10 PRIMARY TB INFECTION	2	2	\$0.00	\$0.00	\$0.00	1.00
	763 OTH COMPL DELIV AFF NB	2	2	\$0.00	\$0.00	\$0.00	1.00
	114 COCCIDIOIDOMYCOSIS	2	2	\$0.00	\$0.00	\$0.00	1.00
	264 VITAMIN A DEFICIENCY	2	3	\$0.00	\$0.00	\$0.00	1.50
	988 TOXIC EFF NOXIOUS FOOD	T	9	\$38.54	\$38.54	\$6.42	6.00
	606 MALE INFERTILITY	T	F	\$15.00	\$15.00	\$15.00	1.00
09/	HOUSEHOLD CIRCUMSTANCES	1	1	\$15.00	\$15.00	\$15.00	1.00
	391 RHEUM FEV W HEART INVOLV	1	1	\$13.36	\$13.36	\$13.36	1.00
	765 SHORT GESTAT/LOW BIRTHWT	1	1	\$10.33	\$10.33	\$10.33	1.00
	33 WHOOPING COUGH	Ţ	1	\$5.23	\$5.23	\$5.23	1.00
	73 ORNITHOSIS	H	1	\$5.12	\$5.12	\$5.12	1.00
	37 TETANUS	T	1	\$2.51	\$2.51	\$2.51	1.00
	670 MAJOR PUERPERAL INFECT	1	Т	\$2.07	\$2.07	\$2.07	1.00
	66 OTHER ARTHROPOD VIRUS	1	3	\$0.79	\$0.79	\$0.26	3.00
	18 MILIARY TUBERCULOSIS	T	10	\$0.00	\$0.00	\$0.00	10.00
	325 PHLEBITIS INTRCRAN SINUS	1	1	\$0.00	\$0.00	\$0.00	1.00
	769 RESPIRATORY DISTRESS SYN	1	12	\$0.00	\$0.00	\$0.00	12.00
	165 OTH/ILL-DEF MAL NEO RESP	1	1	\$0.00	\$0.00	\$0.00	1.00
	963 POISONING-SYSTEMIC AGENT	1	4	\$0.00	\$0.00	\$0.00	4.00
	971 POISON-AUTONOMIC AGENT	H	8	\$0.00	\$0.00	\$0.00	8.00
	946 BURN OF MULTIPLE SITE	H	10	\$0.00	\$0.00	\$0.00	10.00
	122 ECHINOCOCCOSIS	Ħ	1	\$0.00	\$0.00	\$0.00	1.00
	993 EFFECTS OF AIR PRESSURE	τΗ	1	\$0.00	\$0.00	\$0.00	1.00
	6 AMEBIASIS	FT	3	\$0.00	\$0.00	\$0.00	3.00
	1 CHOLERA	T	T	\$0.00	\$0.00	\$0.00	1.00
		Ţ	14	\$0.00	\$0.00	\$0.00	14.00
	27 OTHER BACTERIAL ZOONOSES	Ţ	4	\$0.00	\$0.00	\$0.00	4.00
	87 RELAPSING FEVER	1	3	\$0.00	\$0.00	\$0.00	3.00
	656 OTH FETAL PROB AFF MOTH	1	1	\$0.00	\$0.00	\$0.00	1.00
	BOR/DELIV	1	1	\$0.00	\$0.00	\$0.00	1.00
	23 BRUCELLOSIS	H	5	\$0.00	\$0.00	\$0.00	2.00
	40 OTHER BACTERIAL DISEASES	1	2	\$0.00	\$0.00	\$0.00	2.00
	968 POISONING-CNS DEPRESSANT	-1	T	\$0.00	\$0.00	\$0.00	1.00
	903 TRAVEL AND MOTION	1	3	\$0.00	\$0.00	\$0.00	3.00

321 OTH ORGANISM MENINGITIS	1	3	\$0.00	\$0.00	\$0.00	3.00
642 HYPERTENSION COMPL PREG	1	2	\$0.00	\$0.00	\$0.00	2.00
102 YAWS	, 	T	\$0.00	\$0.00	\$0.00	1.00
777 PERINATAL GI SYSTEM DIS	1	T	\$0.00	\$0.00	\$0.00	1.00
91 EARLY SYMPTOMATIC SYPHIL	1	1	\$0.00	\$0.00	\$0.00	1.00
760 MATERN COND AFF FETUS/NEWBORI	1	1	\$0.00	\$0.00	\$0.00	1.00
- 1	1	T	\$0.00	\$0.00	\$0.00	1.00
MSP MEDICARE SECONDARY PAYOR		1	\$0.00	\$0.00	\$0.00	1.00
134 OTHER INFESTATION		1	\$0.00	\$0.00	\$0.00	1.00
72 MUMPS	1	1	\$0.00	\$0.00	\$0.00	1.00
265 THIAMINE/NIACIN DEFIC	T	Ţ	\$0.00	\$0.00	\$0.00	1.00
908 LATE EFF INJURY NEC/NOS	1	T	00'0\$	\$0.00	\$0.00	1.00
768 INTRAUTERINE ASPHYXIA	1	Ţ	\$0.00	\$0.00	\$0.00	1.00
71 RABIES	1	1		\$0.00	\$0.00	1.00
118 OPPORTUNISTIC MYCOSES	1	1	\$0.00	\$0.00	\$0.00	1.00
101 VINCENT'S ANGINA	1	1	\$0.00	\$0.00	\$0.00	1.00
637 UNSPECIFIED ABORTION	1	+1	\$0.00	\$0.00	\$0.00	1.00
648 OTH CURRENT COND IN PREG	Ţ	1	\$0.00	\$0.00	\$0.00	1.00
982 TOXIC EFFECT SOLVENT NEC		1	\$0.00	\$0.00	\$0.00	1.00
90 CONGENITAL SYPHILIS	П	2	\$0.00	\$0.00	\$0.00	2.00
103 PINTA	Т	1	\$0.00	\$0.00	\$0.00	1.00
393 CHR RHEUMATIC PERICARD	-	П	\$0.00	\$0.00	\$0.00	1.00
655 FETAL ABN AFFECT MOTHER			\$0.00	\$0.00	\$0.00	1.00
640 HEMORRHAGE IN EARLY PREG	1	П	\$0.00	\$0.00	\$0.00	1.00
740 ANENCEPHALUS/SIMIL ANOM	1	2	\$0.00	\$0.00	\$0.00	2.00
976 POIS-SKIN/EENT/DENT AGT	1		\$0.00	\$0.00	\$0.00	1.00
926 CRUSHING INJURY OF TRUNK	1	T	\$0.00	\$0.00	\$0.00	1.00
	370,634	1,176,401	\$2,332,663.36			
		MIN	\$0.00	\$0.00	\$0.00	
		MAX	\$116,337.54	\$98.95	\$94.99	
		MEDIAN	\$225.08	\$3.81	\$1.53	
		AVERAGE	\$2,741.09	\$5.49	\$2.21	2.83

Public	Employ	vees Insi	urance A	gency
--------	--------	-----------	----------	-------

3 Digit	Advantra Freedom Medical Cost Sharing FY 2008	1 Madires Cost	Sharring FY 2010s			
1CD9 Code Diagnosis Description		नगडकागामध्यस्य जि	(a) (a) (b) (c) (c) (c) (c) (c) (c) (c) (c) (c) (c	Mask Share G	Cost State Prior	Zinganinitars Jan Patroni
401 ESSENTIAL HYPERTENSION	18,556	85	742.94	.22	33	2.88
272 DIS OF LIPOID METABOLISM	13,315	26,781	\$203,841.11	\$15.31	\$7.61	2.01
786	11,987	46,925	\$489,800.70	\$40.86	\$10.44	3.91
	11,292	21,870	\$55,565.75	\$4.92	\$2.54	1.94
V04 VACCIN FOR VIRAL DISEASE	11,176	11,407	\$9,397.97	\$0.84	\$0.82	1.02
250 DIABETES MELLITUS	9,631	54,418	\$358,020.15	\$37.17	\$6.58	5.65
780 GENERAL SYMPTOMS	9,212	33,526	\$319,736.11	\$34.71	\$9.54	3.64
366 CATARACT	7,817	17,730	\$535,643.80	\$68.52	\$30.21	2.27
414 OTH CHR ISCHEMIC HRT DIS	6,572	22,902	\$313,592.78	\$47.72	\$13.69	3.48
719	6,542	19,513	\$159,938.69	\$24.45	\$8.20	2.98
V72 SPECIAL EXAMINATIONS	6,027	10,010	\$52,304.80	\$8.68	\$5.23	1.66
715	5,818	21,425	\$299,976.24	\$51.56	\$14.00	3.68
V58 AFTERCARE NEC NOS	2,700	31,886	\$91,447.42	\$16.04	\$2.87	5.59
599 OTH URINARY TRACT DISOR	5,354	16,723	\$155,482.77	\$29.04	\$9.30	3.12
789 OTH ABDOMEN/PELVIS SYMP	5,292	15,840	\$175,336.85	\$33.13	\$11.07	2.99
427 CARDIAC DYSRHYTHMIAS	5,213	33,378	\$223,136.50	\$42.80	\$6.69	6.40
\cap	4,861	9,924	\$94,156.41	\$19.37	\$9.49	2.04
724 BACK DISORDER NEC NOS	4,642	20,292	\$227,038.74	\$48.91	\$11.19	4.37
702 OTHER DERMATOSES	4,311	7,282	\$129,257.31	\$29.98	\$17.75	1.69
365 GLAUCOMA	3,823	8,625	\$164,365.77	\$42.99	\$19.06	2.26
787 GI SYSTEM SYMPTOMS	3,748	10,455	\$90,170.67	\$24.06	\$8.62	2.79
244 ACQUIRED HYPOTHYROIDISM	3,745	7,253	\$55,055.19	\$14.70	\$7.59	1.94
362 RETINAL DISORDERS NEC	3,726	7,843	\$165,175.16	\$44.33	\$21.06	2.10
496 CHR AIRWAY OBSTRUCT NEC	3,649	30,544	\$245,862.46	\$67.38	\$8.05	8.37
733 OTH BONE CARTILAGE DIS	3,543	6,614	\$50,481.40	\$14.25	\$7.63	1.87
285 ANEMIA NEC/NOS	3,480	14,374	\$101,566.67	\$29.19	\$7.07	4.13
790 ABNORMAL BLOOD FINDINGS	3,426	7,350	\$65,126.28	\$19.01	\$8.86	2.15
788 URINARY SYSTEM SYMPTOMS	3,421	2,086	\$50,521.21	\$14.77	\$7.13	2.07
518 OTHER LUNG DISEASES	3,401	15,227	\$61,769.54	\$18.16	\$4.06	4.48
793 ABN FIND-BODY STRUCT NOS	3,112	5,811	\$49,015.57	\$15.75	\$8.43	1.87
530 DISEASES OF ESOPHAGUS	2,949	2,868	\$95,352.37	\$32.33	\$16.25	1.99
110 DERMATOPHYTOSIS	2,913	6,978	\$48,769.35	\$16.74	\$6.99	2.40
466 AC BRONCHITIS/BRONCHIOL	2,883	4,842	\$40,392.82	\$14.01	\$8.34	1.68
782 SKIN/OTH INTEGUMENT SYMP	2,836	2,097	\$55,553.96	\$19.59	\$10.90	1.80
428 HEART FAILURE	2,760	18,786	\$127,820.20	\$46.31	\$6.80	6.81
785 CARDIOVASCULAR SYS SYMP	2,579	4,713	\$65,704.74	\$25.48	\$13.94	1.83
600 HYPERPLASIA OF PROSTATE	2,577	5,107	\$84,312.23	\$32.72	\$16.51	1.98
433 PRECEREBRAL OCCLUSION	2,340		\$74,969.37	\$32.04	\$15.70	2.04
784	2,322	5,289	\$69,054.50	\$29.74	\$13.06	2.28
V57 REHABILITATION PROCEDURE	2,235	21,324	\$69,460.99	\$31.08	\$3.26	9.54
276 FLUID/ELECTROLYTE DIS	2,204	6,272	\$47,685.36	\$21.64	\$7.60	2.85

461 ACUTE SINUSITIS	2,199	2,984	\$23,797.83	\$10.82	\$7.98	1.36
722 INTERVERTEBRAL DISC DIS	2,164	6,747	\$88,119.50	\$40.72	\$13.06	3.12
424 OTH ENDOCARDIAL DISEASE	2,154	3,849	\$58,729.48	\$27.27	\$15.26	1.79
465 AC URI MULT SITES/NOS	2,148	2,720	\$21,911.05	\$10.20	\$8.06	1.27
959	2,098	3,413	\$23,577.97	\$11.24	\$6.91	1.63
V43 ORGAN/TISSUE REPLACEMENT	2,030	6,243	\$29,401.47	\$14.48	\$4.71	3.08
794	1,944	3,138	\$51,809.06	\$26.65	\$16.51	1.61
V10 HX OF MALIGNANT NEOPLASM	1,919	3,249	\$37,871.39	\$19.73	\$11.66	1.69
585 CHRONIC RENAL FAILURE	1,910	30,546	\$79,390.57	\$41.57	\$2.60	15.99
726 PERIPH ENTHESOPATHIES	1,900	6,113	\$67,849.96	\$35.71	\$11.10	3.22
739 SOMATIC DYSFUNCTION	1,869	18,361	\$84,734.94	\$45.34	\$4.61	9.82
486 PNEUMONIA, ORGANISM NOS	1,853	10,513	\$92,196.53	\$49.76	\$8.77	5.67
429 ILL-DEFINED HEART DIS	1,817	3,438	\$21,653.76	\$11.92	\$6.30	1.89
238 UNC BEHAV NEO NEC/NOS	1,775	4,234	\$62,379.40	\$35.14	\$14.73	2.39
173 OTHER MALIG NEOPL SKIN	1,742	5,138	\$140,374.91	\$80.58	\$27.32	2.95
211 OTH BENIGN NEOPLASM GI	1,700	3,897	\$100,447.64	\$59.09	\$25.78	2.29
477 ALLERGIC RHINITIS	1,634	7,489	\$42,551.64	\$26.04	\$5.68	4.58
593 OTH RENAL URETERAL DIS	1,615	2,878	\$23,808.02	\$14.74	\$8.27	1.78
493 ASTHMA	1,553	5,548	\$46,034.33	\$29.64	\$8.30	3.57
692 CONTACT DERMATITIS	1,542	2,241	\$29,175.08	\$18.92	\$13.02	1.45
799	1,536	7,444	\$38,915.34	\$25.34	\$5.23	4.85
V67 FOLLOW-UP EXAMINATION	1,503	2,159	\$31,705.00	\$21.09	\$14.69	1.44
491 CHRONIC BRONCHITIS	1,485	7,447	\$70,983.25	\$47.80	\$9.53	5.01
562 DIVERTICULA OF INTESTINE	1,459	3,063	\$50,028.95	\$34.29	\$16.33	2.10
721 SPONDYLOSIS ET AL	1,457	3,485	\$43,163.89	\$29.63	\$12.39	2.39
682 OTHER CELLULITIS/ABSCESS	1,451	2,663	\$48,098.19	\$33.15	\$8.49	3.90
216	1,418	1,985	\$35,911.18	\$25.33	\$18.09	1.40
V45 OTH POSTSURGICAL STATES	1,406	5,385	\$20,631.01	\$14.67	\$3.83	3.83
723 OTHER CERVICAL SPINE DIS	1,296	4,209	\$41,286.50	\$31.86	\$9.81	3.25
380 DISORDER OF EXTERNAL EAR	1,288	1,822	\$19,160.01	\$14.88	\$10.52	1.41
443 OTH PERIPH VASCULAR DIS	1,279	2,991	\$27,933.15	\$21.84	\$9.34	2.34
564 FUNCT DIGESTIVE DIS NEC	1,272	2,504	\$25,184.65	\$19.80	\$10.06	1.97
781 NERV/MUSCULSKEL SYS SYMP	1,264	6,894	\$33,454.69	\$26.47	\$4.85	5.45
511 PLEURISY	1,230	4,361	\$10,471.20	\$8.51	\$2.40	3.55
185 MALIGN NEOPL PROSTATE	1,198	9,290	\$112,653.72	\$94.03	\$12.13	7.75
331 CEREBRAL DEGENERATION	1,177	5,174	\$45,783.58	\$38.90	\$8.85	4.40
728 DIS OF MUSCLE/LIG/FASCIA	1,163	5,821	\$38,860.34	\$33.41	\$6.68	5.01
569 OTH INTESTINAL DISORDERS	1,157	2,793	\$32,587.29	\$28.17	\$11.67	2.41
709 OTHER SKIN DISORDERS	1,155	1,647	\$20,819.20	\$18.03	\$12.64	1.43
627 MENOPAUSAL DISORDERS	1,139	1,633	\$14,092.25	\$12.37	\$8.63	1.43
280 IRON DEFICIENCY ANEMIAS	1,107	3,612	\$29,884.07	\$27.00	\$8.27	3.26
413 ANGINA PECTORIS	1,102	2,868	\$31,834.50	\$28.89	\$11.10	2.60
611 OTHER BREAST DISORDERS	1,088	2,437	\$33,221.43	\$30.53	\$13.63	2.24
296 AFFECTIVE PSYCHOSES	1,072	7,547	\$50,502.71	\$47.11	\$6.69	7.04
379 EYE DISORDERS NEC	1,067	1,472	\$23,164.88	\$21.71	\$15.74	1.38

7	716 ARTHROPATHIES NEC/NOS	1,053	2,176	\$21,461.21	\$20.38	\$9.86	2.07
(7)	300 NEUROTIC DISORDERS	1,035	2,474	\$21,221.07	\$20.50	\$8.58	2.39
1	535 GASTRITIS AND DUODENITIS	1,018	1,991	\$39,158.78	\$38.47	\$19.67	1.96
V54	OTH ORTHOPEDIC AFTERCARE	1,013	650′9	\$11,661.62	\$11.51	\$1.92	5.98
	440 ATHEROSCLEROSIS	1,012	2,610	\$33,986.54	\$33.58	\$13.02	2.58
۸۷0	GENERAL MEDICAL EXAM	1,005	1,195	\$9,529.31	\$9.48	\$7.97	1.19
	174 MALIG NEO FEMALE BREAST	1,003	7,610	\$75,240.52	\$75.02	\$9.89	7.59
ניי	372 DISORDERS OF CONJUNCTIVA	296	1,252	\$15,256.43	\$15.78	\$12.19	1.29
3	578 GASTROINTESTINAL HEMORR	696	3,884	\$25,173.00	\$26.14	\$6.48	4.03
	707 CHRONIC ULCER OF SKIN	955	9/6′8	\$34,779.40	\$36.42	\$3.87	9.40
4	435 TRANSIENT CEREB ISCHEMIA	935	2,746	\$47,458.44	\$50.76	\$17.28	2.94
4	490 BRONCHITIS NOS	934	1,401	\$13,356.58	\$14.30	\$9.53	1.50
7	281 OTHER DEFICIENCY ANEMIA	870	3,171	\$12,098.23	\$13.91	\$3.82	3.64
4	473 CHRONIC SINUSITIS	898	1,587	\$21,951.96	\$25.29	\$13.83	1.83
(ب)	375 LACRIMAL SYSTEM DISORDER	854	1,139	\$18,176.20	\$21.28	\$15.96	1.33
	783 NUTRIT/METAB/DEVEL SYMP	850	1,696	\$17,208.89	\$20.25	\$10.15	2.00
∞	847 SPRAIN OF BACK NEC/NOS	840	2,736	\$20,948.65	\$24.94	\$7.66	3.26
7	294 OTHER ORGANIC PSYCH COND	839	3,213	\$20,081.87	\$23.94	\$6.25	3.83
8	389 HEARING LOSS	825	1,135	\$18,364.47	\$22.26	\$16.18	1.38
	727 OTH DIS SYNOV/TEND/BURSA	822	2,190	\$36,960.78	\$44.96	\$16.88	2.66
4	459 OTH CIRCULATORY DISEASE	810	1,977	\$18,360.61	\$22.67	\$9.29	2.44
4	434 CEREBRAL ARTERY OCCLUS	803	4,190	\$50,831.72	\$63.30	\$12.13	5.22
	995 CERTAIN ADVERSE EFF NEC	787	2,100	\$7,578.69	\$9.63	\$3.61	2.67
V12	HX OF DISEASE NEC	783	1,366	\$11,612.54	\$14.83	\$8.50	1.74
4	402 HYPERTENSIVE HEART DIS	781	1,971	\$16,607.52	\$21.26	\$8.43	2.52
6	996 REPLACE GRAFT COMPLIC	276	3,003	\$46,699.10	\$60.18	\$15.55	3.87
7	714 OTH INFLAMM POLYARTHROP	772	4,337	\$54,214.14	\$70.23	\$12.50	5.62
4	436 CVA	758	3,511	\$19,486.25	\$25.71	\$5.55	4.63
5	553 OTHER ABDOMINAL HERNIA	752	1,521	\$25,630.96	\$34.08	\$16.85	2.02
5	584 ACUTE RENAL FAILURE	751	5,151	\$31,120.50	\$41.44	\$6.04	98.9
5	924 CONTUSION LEG OTH SITE	751	1,324	\$18,141.46	\$24.16	\$13.70	1.76
4	441 AORTIC ANEURYSM	730	2,478	\$39,295.21	\$53.83	\$15.86	3.39
	411 OTH AC ISCHEMIC HRT DIS	727	1,840	\$11,709.16	\$16.11	\$6.36	2.53
V03	VACCIN FOR BACTERIAL DIS	713	726	\$719.82	\$1.01	\$0.99	1.02
2	592 RENAL/URETERAL CALCULUS	702	2,564	\$35,303.89	\$50.29	\$13.77	3.65
23	311 DEPRESSIVE DISORDER NEC	692	1,615	\$11,052.75	\$15.97	\$6.84	2.33
	706 SEBACEOUS GLAND DISEASE	889	1,092	\$20,497.46	\$29.79	\$18.77	1.59
7	239 UNSPECIFIED NEOPLASM	682	1,149	\$15,312.73	\$22.45	\$13.33	1.68
4	425 CARDIOMYOPATHY	629	1,645	\$18,599.36	\$27.39	\$11.31	2.42
2	595 CYSTITIS	675	1,323	\$15,918.97	\$23.58	\$12.03	1.96
	368 VISUAL DISTURBANCES	671	943	\$14,071.70	\$20.97	\$14.92	1.41
7	703 DISEASES OF NAIL	657	1,077	\$11,300.81	\$17.20	\$10.49	1.64
7	796 OTHER ABNORMAL FINDINGS	929	998	\$6,857.49	\$10.45	\$7.92	1.32
3	348 OTHER BRAIN CONDITIONS	646	1,090	\$6,933.22	\$10.73	\$6.36	1.69
5	558 OTH NONINF GASTROENTERIT	645	1,449	\$19,759.77	\$30.64	\$13.64	2.25

410 ACUTE MYOCARDIAL INFARCT	642	4,425	\$66,426.35	\$103.47	\$15.01	68.9
437 OTH CEREBROVASC DISEASE	626	961	\$10,376.20	\$16.58	\$10.80	1.54
458 HYPOTENSION	622	1,478	\$16,697.88	\$26.85	\$11.30	2.38
453 OTH VENOUS THROMBOSIS	612	2,972	\$21,362.16	\$34.91	\$7.19	4.86
290 SENILE/PRESENILE PSYCHOS	209	2,735	\$14,462.30	\$23.83	\$5.29	4.51
462 ACUTE PHARYNGITIS	602	782	\$6,297.43	\$10.46	\$8.05	1.30
610 BENIGN MAMMARY DYSPLASIA	597	1,036	\$19,237.27	\$32.22	\$18.57	1.74
426 CONDUCTION DISORDERS	592	1,732	\$16,858.36	\$28.48	\$9.73	2.93
274 GOUT	589	1,260	\$12,326.34	\$20.93	\$9.78	2.14
574 CHOLELITHIASIS	575	2,150	\$43,434.01	\$75.54	\$20.20	3.74
514 PULM CONGEST/HYPOSTASIS	570	1,109	\$822.88	\$1.44	\$0.74	1.95
388 DISORDERS OF EAR NEC	555	840	\$11,999.48	\$21.62	\$14.29	1.51
V71 OBSERVATION-SUSPECT COND	551	672	\$5,892.63	\$10.69	\$8.77	1.22
356 HERED PERIPH NEUROPATHY	524	1,038	\$13,478.46	\$25.72	\$12.99	1.98
791 ABNORMAL URINE FINDINGS	522	745	\$3,781.98	\$7.25	\$5.08	1.43
381 NONSUPPUR OTITIS MEDIA	512	784	\$10,984.60	\$21.45	\$14.01	1.53
681 CELLULITIS, FINGER/TOE	510	941	\$10,133.21	\$19.87	\$10.77	1.85
266 B-COMPLEX DEFICIENCIES	510	2,196	\$7,325.66	\$14.36	\$3.34	4.31
53 HERPES ZOSTER	505	975	\$9,866.36	\$19.54	\$10.12	1.93
373 INFLAMMATION OF EYELIDS	505	655	\$8,497.48	\$16.83	\$12.97	1.30
354	200	1,663	\$44,777.39	\$89.55	\$26.93	3.33
V82 SCREEN-OTHER CONDITIONS	200	574	\$1,647.01	\$3.29	\$2.87	1.15
332 PARKINSON'S DISEASE	493	2,869	\$24,594.28	\$49.89	\$8.57	5.82
735 ACQ DEFORMITIES OF TOE	492	1,094	\$21,400.08	\$43.50	\$19.56	2.22
241 NONTOXIC NODULAR GOITER	492	1,532	\$18,038.55	\$36.66	\$11.77	3.11
403 HYPERTENSIVE RENAL DIS	487	1,531	\$10,574.61	\$21.71	\$6.91	3.14
596 OTHER BLADDER DISORDERS	486	696	\$14,856.14	\$30.57	\$15.33	1.99
820 FRACTURE NECK OF FEMUR	484	5,398	\$58,529.23	\$120.93	\$10.84	11.15
370 KERATITIS	484	804	\$10,336.72	\$21.36	\$12.86	1.66
454 VARICOSE VEINS, LEG	477	1,524	\$27,458.11	\$57.56	\$18.02	3.19
	477	1,443	\$9,193.68	\$19.27	\$6.37	3.03
625 FEMALE GENITAL SYMPTOMS	473	877	\$16,214.19	\$34.28	\$18.49	1.85
355 MONONEURITIS LEG	473	946	\$14,095.98	\$29.80	\$14.90	2.00
840 TAKEOFF/LANDING ACCIDENT	467	2,112	\$23,442.83	\$50.20	\$11.10	4.52
586 RENAL FAILURE NOS	464	1,448		\$10.31	\$3.30	3.12
438 LATE EFF CEREBROVASC DIS	463	3,608	\$14,318.51	\$30.93	\$3.97	7.79
333 EXTRAPYRAMIDAL DIS NEC	461	933	\$13,871.61	\$30.09	\$14.87	2.02
298 OTH NONORGANIC PSYCHOSES	454	991	\$8,697.24	\$19.16	\$8.78	2.18
998 OTH SURGICAL COMPL NEC	448	2,357	\$12,191.83	\$27.21	\$5.17	5.26
701 OTH SKIN HYPERTRO/ATROPH	443	622	\$7,913.24	\$17.86	\$12.72	1.40
38 SEPTICEMIA	441	1,994	\$29,758.32	\$67.48	\$14.92	4.52
695 ERYTHEMATOUS CONDITIONS	432	979	\$9,311.75	\$21.55	\$14.88	1.45
451 THROMBOPHLEBITIS	426	1,213	\$5,359.47	\$12.58	\$4.42	2.85
560 INTESTINAL OBSTRUCTION	422	1,736	\$25,544.82	\$60.53	\$14.71	4.11
515 POSTINFLAM PULM FIBROSIS	418	1,034	\$6,880.73	\$16.46	\$6.65	2.47

5/3/DIH LIVEK DISOKDEKS	410	712	\$7,273.06	\$17.74	\$10.21	1.74
455 HEMORRHOIDS	407	744	\$13,664.26	\$33.57	\$18.37	1.83
374 DISORDERS OF EYELIDS NEC	406	853	\$21,605.97	\$53.22	\$25.33	2.10
873 OTHER OPEN WOUND OF HEAD	406	803	\$13,242.03	\$32.62	\$16.49	1.98
386 VERTIGINOUS SYNDROMES	404	685	\$13,153.89	\$32.56	\$19.20	1.70
536 STOMACH FUNCTION DISORD	403	829	\$8,034.95	\$19.94	\$9.69	2.06
618 GENITAL PROLAPSE	391	1,119	\$24,860.41	\$63.58	\$22.22	2.86
492 EMPHYSEMA	387	1,170	\$9,787.30	\$25.29	\$8.37	3.02
162 MAL NEO TRACHEA/LUNG	375	6,065	\$41,996.00	\$111.99	\$6.92	16.17
LIMB PROBLEM/PROBLEM NEC	368	632	\$4,349.23	\$11.82	\$6.88	1.72
275 DIS MINERAL METABOLISM	365	926	\$7,760.07	\$21.26	\$7.95	2.67
371 CORNEAL OPACITY/DISORDER	352	587	\$10,025.13	\$28.48	\$17.08	1.67
922 FIREARM ACCIDENTS	352	565	\$7,238.35	\$20.56	\$12.81	1.61
601 PROSTATIC INFLAMMATION	351	591	\$7,438.04	\$21.19	\$12.59	1.68
293 TRANSIENT ORG MENTAL DIS	349	810	\$3,964.24	\$11.36	\$4.89	2.32
286 COAGULATION DEFECTS	344	2,156	\$3,926.68	\$11.41	\$1.82	6.27
382 OTITIS MEDIA, SUPPUR/NOS	343	469	\$4,593.40	\$13.39	\$9.79	1.37
805 VERTEBRL FX W/O CORD INJ	341	1,289	\$15,268.93	\$44.78	\$11.85	3.78
153 MALIGNANT NEOPLASM COLON	337	2,984	\$28,810.49	\$85.49	\$9.65	8.85
478 OTH UPPR RESPIRATORY DIS	337	512	\$6,959.87	\$20.65	\$13.59	1.52
616 OTH FEMALE GEN INFLAM	333	439	\$3,819.07	\$11.47	\$8.70	1.32
575 OTH GALLBLADDER DISORDER	332	1,027	\$15,031.12	\$45.27	\$14.64	3.09
112 CANDIDIASIS	330	474	\$3,670.50	\$11.12	\$7.74	1.44
836 DISLOCATION OF KNEE	329	1,193	\$31,407.08	\$95.46	\$26.33	3.63
920 CUTTING INSTRUMENT ACCID	323	292	\$11,579.45	\$35.85	\$20.49	1.75
792 ABN FIND-OTH BODY SUBST	321	543	\$3,071.06	\$9.57	\$5.66	1.69
ADJUSTMENT OF OTH DEVICE	317	1,737	\$17,477.49	\$55.13	\$10.06	5.48
232 CARCINOMA IN SITU SKIN	314	530	\$10,977.34	\$34.96	\$20.71	1.69
240 GOITER, SIMPLE/NOS	302	267	\$5,417.47	\$17.94	\$9.55	1.88
923 CONTUSION OF UPPER LIMB	293	497	\$7,721.31	\$26.35	\$15.54	1.70
571 CHR LIVER DIS/CIRRHOSIS	290	946	\$9,333.52	\$32.18	\$9.87	3.26
d	289	1,267	\$7,880.65	\$27.27	\$6.22	4.38
813 RADIUS ULNA FRACTURE	284	1,756	\$24,787.75	\$87.28	\$14.12	6.18
346 MIGRAINE	284	623	\$6,968.33	\$24.54	\$11.19	2.19
717 INTERNAL DERANGEMNT KNEE	282	593	\$13,751.91	\$48.77	\$23.19	2.10
718 OTHER JOINT DERANGEMENT	281	615	\$7,413.83	\$26.38	\$12.06	2.19
202 OTH MAL NEO LYMPH/HISTIO	280	3,014	\$28,734.63	\$102.62	\$9.53	10.76
242 THYROTOXICOSIS	277	617	\$5,926.44	\$21.40	\$9.61	2.23
607 DISORDERS OF PENIS	276	531	\$9,118.60	\$33.04	\$17.17	1.92
844 SPRAIN OF KNEE LEG	272	009	\$8,406.43	\$30.91	\$14.01	2.21
78 OTHER VIRAL DISEASE	263	400	\$5,403.10	\$20.54	\$13.51	1.52
487 INFLUENZA	262	503	\$6,561.33	\$25.04	\$13.04	1.92
415 ACUTE PULMONARY HRT DIS	261	2,000	\$10,042.59	\$38.48	\$5.02	7.66
188 MALIGN NEOPL BLADDER	760	1,572	\$20,263.39	\$77.94	\$12.89	6.05
416 CHP PIII MONARY HEART DIS	760	683	\$6,643.34	\$25.55	\$9.73	2.63

698 PRURITUS LIKE COND	260	375	\$4,383.42	\$16.86	\$11.69	1.44
845 SPRAIN OF ANKLE FOOT	256	269	\$7,084.58	\$27.67	\$12.45	2.22
696 PSORIASIS/LIKE DISORDERS	255	610	\$7,515.65	\$29.47	\$12.32	2.39
690 ERYTHEMATOSQUAMOUS DERM	255	326	\$5,446.97	\$21.36	\$16.71	1.28
447 OTHER ARTERIAL DISEASE	239	459	\$8,399.64	\$35.14	\$18.30	1.92
602 OTH PROSTATIC DISORDERS	239	352	\$4,888.08	\$20.45	\$13.89	1.47
686 OTH LOCAL SKIN INFECTION	238	482	\$3,842.04	\$16.14	\$7.97	2.03
8 INTESTINAL INFECTION NEC	237	940	\$9,988.95	\$42.15	\$10.63	3.97
235 UNC BEHAV NEO GI/RESP	234	399	\$4,581.92	\$19.58	\$11.48	1.71
795 ABN HISTOLOG/IMMUNO FIND	234	388	\$3,293.61	\$14.08	\$8.49	1.66
891 OPEN WND KNEE/LEG/ANKLE	232	792	\$5,657.22	\$24.38	\$7.14	3.41
550 INGUINAL HERNIA	231	901	\$37,395.39	\$161.88	\$41.50	3.90
846 SPRAIN SACROILIAC REGION	228	867	\$7,269.96	\$31.89	\$8.39	3.80
V06 VAC FOR DIS COMBINATION	226	232	\$795.58	\$3.52	\$3.43	1.03
345 EPILEPSY	224	658	\$9,743.93	\$43.50	\$14.81	2.94
289	224	627	\$7,248.29	\$32,36	\$11.56	2.80
V44 ARTIFICIAL OPNING STATUS	221	1,081	\$19,390.96	\$87.74	\$17.94	4.89
812 MOT VEHIC COLLISION NOS	218	2,097	\$20,540.06	\$94.22	\$9.79	9.62
251 OTH PANCREATIC DISORDER	215	380	\$2,722.53	\$12.66	\$7.16	1.77
482 OTH BACTERIAL PNEUMONIA	214	741	\$6,254.21	\$29.23	\$8.44	3.46
577 DISEASES OF PANCREAS	212	1,084	\$11,212.75	\$52.89	\$10.34	5.11
528 ORAL SOFT TISSUE DISEASE	211	309	\$3,541.21	\$16.78	\$11.46	1.46
807 FX RIB/STERN/LARYN/TRACH	208	571	\$6.838.98	\$42.50	\$15.48	2.75
737 CURVATURE OF SPINE	204	463	\$3,261.66	\$15.99	\$7.04	2.27
268 VITAMIN D DEFICIENCY	202	313	\$2,012.98	\$9.97	\$6.43	1.55
236 UNC BEHAV NEO GU	201	286	\$3,712.48	\$18.47	\$12.98	1.42
700 CORNS AND CALLOSITIES	199	439	\$3,581.03	\$18.00	\$8.16	2.21
472 CHR PHARYNG/NASOPHARYNG	198	244	\$3,115.75	\$15.74	\$12.77	1.23
824 ANKLE FRACTURE	194	1,085	\$15,897.46	\$81.95	\$14.65	5.59
154 MALIG NEO RECTUM/ANUS	193	1,616	\$13,352.91	\$69.19	\$8.26	8.37
481 PNEUMOCOCCAL PNEUMONIA	193	455	\$2,657.35	\$13.77	\$5.84	2.36
444 ARTERIAL EMBOLISM	193	408	\$2,181.15	\$11.30	\$5.35	2.11
41 BACT INF IN OTH DIS/NOS	191	555	\$1,262.68	\$6.61	\$2.28	2.91
519 OTH RESP SYSTEM DISEASES	186	388	\$3,060.44	\$16.45	\$7.89	2.09
198 SEC MALIG NEO OTH SITES	184	1,270	\$8,989.49	\$48.86	\$7.08	06.90
591 HYDRONEPHROSIS	182	524	\$4,125.10	\$22.67	\$7.87	2.88
883 OPEN WOUND OF FINGER	180	351	\$6,567.79	\$36.49	\$18.71	1.95
691 ATOPIC DERMATITIS	179	257	\$3,129.68	\$17.48	\$12.18	1.44
246 OTH DISORDERS OF THYROID	176	265	\$2,368.24	\$13.46	\$8.94	1.51
710 DIFF CONNECTIVE TISS DIS	175	633	\$6,826.17	\$39.01	\$10.78	3.62
377	174	252	\$4,104.30	\$23.59	\$16.29	1.45
V05 OTH VACCIN FOR SINGL DIS	173	191	\$742.90	\$4.29	\$3.89	1.10
	172	317	\$8,477.57	\$49.29	\$26.74	1.84
704 HAIR FOLLICLE DISEASE	170	276	\$3,099.44	\$18.23	\$11.23	1.62
396 MITRAL/AORTIC VALVE DIS	168	255	\$2,814.29	\$16.75	\$11.04	1.52

233							
	233 CA IN SITU BREAST/GU	166	430	\$5,508.96	\$33.19	\$12.81	2.59
75	79 VIRAL INF IN OTH DIS/NOS	163	236	\$3,180.91	\$19.51	\$13.48	1.45
189	189 MAL NEO URINARY NEC/NOS	159	739	\$9,663.80	\$60.78	\$13.08	4.65
197	197 SECONDRY MAL NEO GI/RESP	159	558	\$4,891.29	\$30.76	\$8.77	3.51
736	736 OTH ACQ LIMB DEFORMITIES	158	281	\$4,473.32	\$28.31	\$15.92	1.78
885	882 OPEN WOUND OF HAND	158	251	\$3,907.41	\$24.73	\$15.57	1.59
172	172 MALIGNANT MELANOMA SKIN	156	737	\$11,088.41	\$71.08	\$15.05	4.72
266	997 WAR INJ-UNCONVEN WAR NEC	156	376	\$3,648.91	\$23.39	\$9.70	2.41
825	825 MV N-TRAFFIC ACC NEC/NOS	154	470	\$5,550.47	\$36.04	\$11.81	3.05
821	821 OTHER FEMORAL FRACTURE	154	786	\$4,861.26	\$31.57	\$6.18	5.10
531	GASTRIC ULCER	153	379	\$9,529.15	\$62.28	\$25.14	2.48
228	228 HEMANGIOMA/LYMPHANGIOMA	153	220	\$3,799.50	\$24.83	\$17.27	1.44
708	708 URTICARIA	152	255	\$4,372.28	\$28.77	\$17.15	1.68
V16	FAMILY HX-MALIGNANCY	152	234	\$2,331.95	\$15.34	\$9.97	1.54
507	507 SOLID/LIQ PNEUMONITIS	151	727	\$12,475.73	\$82.62	\$17.16	4.81
730	730 OSTEOMYELITIS	151	1,261	\$6,169.53	\$40.86	\$4.89	8.35
72(720 INFLAM SPONDYLOPATHIES	150	400	\$5,032.46	\$33.55	\$12.58	2.67
415	412 OLD MYOCARDIAL INFARCT	150	433	\$2,124.75	\$14.17	\$4.91	2.89
V55	ATTEN TO ARTIFICIAL OPEN	149	847	\$7,297.89	\$48.98	\$8.62	5.68
881	881 OPEN WOUND OF LOWER ARM	148	297	\$2,928.70	\$19.79	\$9.86	2.01
738	738 OTHER ACQUIRED DEFORMITY	143	235	\$3,226.78	\$22.56	\$13.73	1.64
28	284 APLASTIC ANEMIA	142	645	\$3,495.62	\$24.62	\$5.42	4.54
255	255 ADRENAL GLAND DISORDERS	142	201	\$2,908.67	\$20.48	\$14.47	1.42
725	725 POLYMYALGIA RHEUMATICA	141	472	\$3,684.88	\$26.13	\$7.81	3.35
623	623 NONINFLAMM DIS VAGINA	141	238	\$2,757.73	\$19.56	\$11.59	1.69
753	753 URINARY SYSTEM ANOMALIES	140	199	\$3,908.59	\$27.92	\$19.64	1.42
30.	307 SPECIAL SYMPTOM OR SYNDROMES	140	314	\$2,765.00	\$19.75	\$8.81	2.24
309	608 MALE GENITAL DIS NEC	139	333	\$4,914.80	\$35.36	\$14.76	2.40
35,	357 INFLAM/TOXIC NEUROPATHY	138	202	\$4,300.02	\$31.16	\$8.48	3.67
515	512 PNEUMOTHORAX	136	459	\$894.01	\$6.57	\$1.95	3.38
252	252 PARATHYROID DISORDER	135	366	\$3,726.71	\$27.61	\$10.18	2.71
918	918 SUPERFIC INJ EYE/ADNEXA	134	220	\$2,827.50	\$21.10	\$12.85	1.64
397	397 ENDOCARDIAL DISEASE NEC	133	145	\$1,160.62	\$8.73	\$8.00	1.09
199	199 MALIGNANT NEOPLASM NOS	130	311	\$2,448.70	\$18.84	\$7.87	2.39
365	598 URETHRAL STRICTURE	127	265	\$6,800.16	\$53.54	\$25.66	2.09
808	808 PELVIC FRACTURE	125	811	\$10,743.66	\$85.95	\$13.25	6.49
707	204 LYMPHOID LEUKEMIA	125	1,241	\$8,934.55	\$71.48	\$7.20	9.93
22	224 BENIGN NEOPLASM OF EYE	125	149	\$2,104.99	\$16.84	\$14.13	1.19
55(556 IDIOPATHIC PROCTOCOLITIS	124	311	\$4,276.37	\$34.49	\$13.75	2.51
75(756 OTH MUSCULOSKELET ANOMAL	124	419	\$3,636.01	\$29.32	\$8.68	3.38
V42	ORGAN TRANSPLANT STATUS	122	593	\$3,812.20	\$31.25	\$6.43	4.86
879	879 OPEN WOUND SITE NEC	122	264	\$2,000.74	\$16.40	\$7.58	2.16
620	620 NONINFLAM DIS OVAR/ADNEX	121	306	\$3,888.65	\$32.14	\$12.71	2.53
45;	457 NONINFECT LYMPHATIC DIS	121	421	\$3,068.64	\$25.36	\$7.29	3.48

182 MALIG NEOPL UTERUS BODY 364 IRIS/CILIARY BODY DIS 214 LIPOMA 823 TIBIDIA FIBULA FRACTURE 278 OBESITY/HYPERALIMENT 378 STRABISMUS 432 INTRACRANIAL HEM NEC/NOS 273 DIS PLASMA PROTEIN METAB 576 OTH DIS OF BILIARY TRACT 277 METABOLISM DIS NEC/NOS	120	000	01.///	φ14.02	7 7.00	7.00
364 IRIS/CILIARY BODY DIS 214 LIPOMA 823 TIBIA FIBULA FRACTURE 278 OBESITY/HYPERALIMENT 378 STRABISMUS 432 INTRACRANIAL HEM NEC/NOS 273 DIS PLASMA PROTEIN METAB 576 OTH DIS OF BILIARY TRACT 277 METABOLISM DIS NEC/NOS		720	¢6 717 33	455 98	40 33	6.00
214 LIPOMA 823 TIBIA FIBULA FRACTURE 278 OBESITY/HYPERALIMENT 378 STRABISMUS 432 INTRACRANIAL HEM NEC/NOS 273 DIS PLASMA PROTEIN METAB 576 OTH DIS OF BILIARY TRACT 277 METABOLISM DIS NEC/NOS	120	256	\$3.096.11	\$25.50	412.09	0.00
823 TIBIA FIBULA FRACTURE 278 OBESITY/HYPERALIMENT 378 STRABISMUS 432 INTRACRANIAL HEM NEC/NOS 273 DIS PLASMA PROTEIN METAB 576 OTH DIS OF BILIARY TRACT 277 METABOLISM DIS NEC/NOS	119	252	\$7,927,01	\$66.61	\$31.46	2.13
278 OBESITY/HYPERALIMENT 378 STRABISMUS 432 INTRACRANIAL HEM NEC/NOS 273 DIS PLASMA PROTEIN METAB 576 OTH DIS OF BILIARY TRACT 277 METABOLISM DIS NEC/NOS	119	616	\$6,423.26	\$53,98	\$10,43	5.18
378 STRABISMUS 432 INTRACRANIAL HEM NEC/NOS 273 DIS PLASMA PROTEIN METAB 576 OTH DIS OF BILIARY TRACT 277 METABOLISM DIS NEC/NOS	119	388	\$4,167.72	\$35.02	\$10.74	3.26
432 INTRACRANIAL HEM NEC/NOS 273 DIS PLASMA PROTEIN METAB 576 OTH DIS OF BILIARY TRACT 277 METABOLISM DIS NEC/NOS	118	209	\$3,877.78	\$32.86	\$18.55	1.77
273 DIS PLASMA PROTEIN METAB 576 OTH DIS OF BILIARY TRACT 277 METABOLISM DIS NEC/NOS	114	571	\$3,486.50	\$30.58	\$6.11	5.01
576 OTH DIS OF BILIARY TRACT 277 METABOLISM DIS NEC/NOS	113	403	\$4,150.19	\$36.73	\$10.30	3.57
277 METABOLISM DIS NEC/NOS	112	365	\$4,885.97	\$43.62	\$13.39	3.26
	111	236	\$1,760.08	\$15.86	\$7.46	2.13
/46 OTHER CONGEN HEART ANOM	108	181	\$1,429.53	\$13.24	\$7.90	1.68
257 TESTICULAR DYSFUNCTION	107	329	\$1,860.56	\$17.39	\$5.66	3.07
470 DEVIATED NASAL SEPTUM	106	177	\$4,119.71	\$38.87	\$23.28	1.67
195 MAL NEO OTH/ILL-DEF SITE	106	390	\$2,673.73	\$25.22	\$6.86	3.68
842 SPRAIN WRIST HAND	106	290	\$2,435.92	\$22.98	\$8.40	2.74
460 ACUTE NASOPHARYNGITIS	106	121	\$1,049.68	\$9.90	\$8.68	1.14
537 OTH GASTRODUODENAL DIS	104	213	\$5,047.42	\$48.53	\$23.70	2.05
814 MV COLLISION W PEDEST	104	394	\$3,635.90	\$34.96	\$9.23	3.79
892 OPEN WOUND OF FOOT	104	249	\$1,187.14	\$11.41	\$4.77	2.39
527 SALIVARY GLAND DISEASES	103	202	\$2,561.52	\$24.87	\$12.68	1.96
212 BEN NEO RESP SYST/THORAX	102	176	\$1,959.93	\$19.22	\$11.14	1.73
590 KIDNEY INFECTION	101	336	\$6,378.65	\$63.15	\$18.98	3.33
464 AC LARYNGITIS/TRACHEITIS	101	125	\$899.32	\$8.90	\$7.19	1.24
442 OTHER ANEURYSM	66	205	\$3,223.31	\$32.56	\$15.72	2.07
431 INTRACEREBRAL HEMORRHAGE	97	290	\$8,978.81	\$92.57	\$15.22	6.08
555 REGIONAL ENTERITIS	97	428	\$5,639.80	\$58.14	\$13.18	4.41
516 OTH ALVEOL PNEUMONOPATHY	96	278	\$2,301.07	\$23.97	\$8.28	2.90
263 PROT-CAL MALNUTR NEC/NOS	96	305	\$295.88	\$3.08	\$0.97	3.18
54 HERPES SIMPLEX	94	133	\$958.81	\$10.20	\$7.21	1.41
919 SUPERFICIAL INJ OTH SITE	63	108	\$1,307.10	\$14.05	\$12.10	1.16
588 IMPAIRED RENAL FUNCTION	93	234	\$1,162.83	\$12.50	\$4.97	2.52
350 TRIGEMINAL NERV DISORDER	92	269	\$3,161.66	\$34.37	\$11.75	2.92
369 BLINDNESS AND LOW VISION	91	225	\$2,084.27	\$22.90	\$9.26	2.47
183 MAL NEO UTERINE ADNEXA	88	1,058	\$7,383.49	\$83.90	\$6.98	12.02
	87	237	\$4,871.65	\$56.00	\$20.56	2.72
843 SPRAIN OF HIP THIGH	87	198	\$2,959.72	\$34.02	\$14.95	2.28
215 OTH BEN NEO SOFT TISSUE	87	133	\$1,952.03	\$22.44	\$14.68	1.53
533 PEPTIC ULCER, SITE NOS	98	130	\$1,339.24	\$15.57	\$10.30	1.51
557 VASC INSUFF INTESTINE	85	315	\$3,916.11	\$46.07	\$12.43	3.71
344 OTH PARALYTIC SYNDROMES	85	469	\$3,052.78	\$35.92	\$6.51	5.52
597 URETHRITIS/URETHRAL SYND	85	118	\$2,150.72	\$25.30	\$18.23	1.39
218 UTERINE LEIOMYOMA	85	123	\$2,079.37	\$24.46	\$16.91	1.45
217 BENIGN NEOPLASM BREAST	84	138	\$3,640.26	\$43.34	\$26.38	1.64
342 HEMIPLEGIA	83	483	\$2,383.15	\$28.71	\$4.93	5.82

V77 SCREEN-ENDO/NUTR/METAB	83	87	\$546.72	\$6.59	\$6.28	1.05
852 MENINGEAL HEM FOLLOW INJ	82	451	\$6,068.61	\$74.01	\$13.46	5.50
930 FOREIGN BODY EXTERN EYE	81	66	\$1,394.02	\$17.21	\$14.08	1.22
340 MULTIPLE SCLEROSIS	80	623	\$8,325.13	\$104.06	\$13.36	7.79
310 NONPSYCHOTIC BRAIN SYND	80	171	\$2,045.10	\$25.56	\$11.96	2.14
423 OTH PERICARDIAL DISEASE	80	179	\$809.75	\$10.12	\$4.52	2.24
359 MUSCULAR DYSTROPHIES	62	358	\$1,650.01	\$20.89	\$4.61	4.53
680 CARBUNCLE AND FURUNCLE	79	143	\$1,137.92	\$14.40	\$7.96	1.81
989 TOX EFF OTH NONMED SUBST	78	129	\$1,713.58	\$21.97	\$13.28	1.65
621 DISORDERS OF UTERUS NEC	77	124	\$2,084.36	\$27.07	\$16.81	1.61
826 PEDAL CYCLE ACCIDENT	77	147	\$1,674.40	\$21.75	\$11.39	1.91
747 OTH CONG CIRC SYST ANOM	77	130	\$1,337.72	\$17.37	\$10.29	1.69
897 TRAUMATIC AMPUTATION LEG	9/	442	\$7,117.39	\$93.65	\$16.10	5.82
446 POLYARTERIT NODOSA ET AL	76	246	\$1,965.55	\$25.86	\$7.99	3.24
850 CONCUSSION	75	160	\$2,398.79	\$31.98	\$14.99	2.13
494 BRONCHIECTASIS	75	230	\$1,079.14	\$14.39	\$4.69	3.07
802 FRACTURE OF FACE BONES	74	207	\$3,348.57	\$45.25	\$16.18	2.80
404 HYPERTEN HEART/RENAL DIS	74	168	\$2,264.58	\$30.60	\$13.48	2.27
626 DISORDER OF MENSTRUATION	73	127	\$1,911.63	\$26.19	\$15.05	1.74
295 SCHIZOPHRENIC DISORDERS	72	845	\$4,580.96	\$63.62	\$5.42	11.74
384 DISORD TYMPANIC MEMB NEC	72	128	\$2,320.25	\$32.23	\$18.13	1.78
V46 OTHER MACHINE DEPENDENCE	71	268	\$39.19	\$0.55	\$0.15	3.77
910 SUPERFICIAL INJURY HEAD	70	88	\$1,462.07	\$20.89	\$16.61	1.26
854 OTHER BRAIN INJURY	70	182	\$723.34	\$10.33	\$3.97	2.60
237 UNCER NEO ENDOCRINE/NERV	89	130	\$1,191.36	\$17.52	\$9.16	1.91
360 DISORDERS OF THE GLOBE	29	124	\$3,355.31	\$20.08	\$27.06	1.85
622 NONINFLAMM DIS CERVIX	29	121	\$2,743.37	\$40.95	\$22.67	1.81
448 DISEASE OF CAPILLARIES	67	192	\$1,228.79	\$18.34	\$16.17	1.13
916 SUPERFICIAL INJ HIP/LEG	62	118	\$806.69	\$12.04	\$6.84	1.76
256 OVARIAN DYSFUNCTION	67	74	\$166.00	\$2.48	\$2.24	1.10
9 ILL-DEFINED INTEST INF	99	117	\$1,304.92	\$19.77	\$11.15	1.77
271 DIS CARBOHYDRATE METABOL	99	82	\$639.50	\$9.69	\$7.80	1.24
210 BEN NEO ORAL CAV/PHARYNX	65	95	\$1,404.51	\$21.61	\$14.78	1.46
958 EARLY COMPLIC OF TRAUMA	65	106	\$1,264.02	\$19.45	\$11.92	1.63
363 CHOROIDAL DISORDERS	65	88	\$1,172.28	\$18.04	\$13.32	1.35
816 LOSS OF CONTROL MV ACC	64	214	\$2,714.97	\$42.42	\$12.69	3.34
136 INF/PARASITE DIS NEC/NOS	64	104	\$1,171.10	\$18.30	\$11.26	1.63
532 DUODENAL ULCER	63	204	\$5,139.15	\$81.57	\$25.19	3.24
815 MV COLLISION W OTH OBJ	63	175	\$1,969.78	\$31.27	\$11.26	2.78
693 DERMAT D/T INTERN AGENT	62	96	\$1,214.62	\$19.59	\$12.65	1.55
203 MULTIPLE MYELOMA ET AL	61	1,393	\$8,162.26	\$133.81	\$5.86	22.84
624 NONINFLAMM DIS VULVA	61	111	\$1,085.46	\$17.79	\$9.78	1.82
227 BEN NEO OTH ENDOCRINE	09	145	\$3,087.45	\$51.46	\$21.29	2.42
253 PITUITARY/HYPOTHALM DIS	09	124	\$2,524.71	\$42.08	\$20.36	2.07
305 NONDEPENDENT DRUG ABUSE	09	147	\$1,477.83	\$24.63	\$10.05	2.45

351	351 FACIAL NERVE DISORDERS	59	180	\$4,403.37	\$74.63	\$24.46	3.05
171	171 MAL NEO SOFT TISSUE	58	302	\$3,286.37	\$56.66	\$10.88	5.21
603	603 HYDROCELE	28	133	\$3,018.43	\$52.04	\$22.69	2.29
579	579 INTESTINAL MALABSORPTION	58	66	\$805.10	\$13.88	\$8.13	1.71
V81	SCREEN-HEART/RESP/GU DIS	58	9	\$484.52	\$8.35	\$7.45	1.12
V65	OTHER REASON FOR CONSULT	28	89	\$392.98	\$6.78	\$5.78	1.17
353	353 NERVE ROOT/PLEXUS DIS	57	145	\$1,967.11	\$34.51	\$13.57	2.54
697	697 LICHEN	57	108	\$1,539.51	\$27.01	\$14.25	1.89
604	604 ORCHITIS EPIDIDYMITIS	99	149	\$1,456.75	\$26.01	\$9.78	2.66
526	526 JAW DISEASES	26	08	\$1,428.13	\$25.50	\$17.85	1.43
226	226 BENIGN NEOPLASM THYROID	56	100	\$925.08	\$16.52	\$9.25	1.79
200	200 LYMPHOSARC/RETICULOSARC	55	292	\$2,061.43	\$37.48	\$7.06	5.31
395	395 DISEASES OF AORTIC VALVE	55	70	\$1,131.55	\$20.57	\$16.17	1.27
894	894 OPEN WOUND OF LEG NEC	55	155	\$828.93	\$15.07	\$5.35	2.82
552	552 OTH ABDOM HERNIA W OBSTR	54	171	\$7,566.28	\$140.12	\$44.25	3.17
184	184 MAL NEO FEM GEN NEC/NOS	54	242	\$1,565.04	\$28.98	\$6.47	4.48
884	884 OTH FALL-1 LEVEL TO OTH	54	69	\$575.74	\$10.66	\$8.34	1.28
483	483 PNEUMONIA: ORGANISM NEC	54	107	\$330.27	\$6.12	\$3.09	1.98
358	358 MYONEURAL DISORDERS	53	293	\$2,908.48	\$54.88	\$9.93	5.53
565	565 ANAL FISSURE FISTULA	53	121	\$2,647.36	\$49.95	\$21.88	2.28
193	193 MALIGN NEOPL THYROID	53	257	\$2,579.48	\$48.67	\$10.04	4.85
229	229 BENIGN NEOPLASM NEC/NOS	52	59	\$589.65	\$11.34	\$9.99	1.13
V13	HX OF OTHER DISEASES	51	62	\$310.80	\$6.09	\$5.01	1.22
666	999 COMPLIC MEDICAL CARE NEC	51	106	\$259.96	\$5.10	\$2.45	2.08
394	394 DISEASES OF MITRAL VALVE	20	80	\$1,634.58	\$32.69	\$20.43	1.60
829	829 OTHER ROAD VEHICLE ACC	20	161	\$1,247.15	\$24.94	\$7.75	3.22
337	337 AUTONOMIC NERVE DISORDER	49	88	\$1,856.17	\$37.88	\$21.09	1.80
921	921 CONTUSION EYE ADNEXA	49	9	\$1,140.00	\$23.27	\$17.54	1.33
529	529 TONGUE DISORDERS	49	67	\$553.74	\$11.30	\$8.26	1.37
213	213 BEN NEO BONE/ARTIC CART	49	70	\$424.63	\$8.67	\$6.07	1.43
594	594 LOWER URIN TRACT CALCUL	47	118	\$4,398.84	\$93.59	\$37.28	2.51
822	822 PATELLA FRACTURE	47	208	\$2,969.16	\$63.17	\$14.27	4.43
480	480 VIRAL PNEUMONIA	47	132	\$1,007.50	\$21.44	\$7.63	2.81
831	831 SHOULDER DISLOCATION	46	300	\$3,038.51	\$66.05	\$10.13	6.52
268	568 OTH PERITONEAL DISORDERS	46	61	\$490.25	\$10.66	\$8.04	1.33
587	RENAL SCLEROSIS NOS	46	52	\$265.14	\$5.76	\$5.10	1.13
471	471 NASAL POLYPS	45	70	\$1,381.72	\$30.70	\$19.74	1.56
572	572 SEQUELA OF CHR LIVER DIS	45	258	\$1,312.17	\$29.16	\$5.09	5.73
751	751 OTH ANOM DIGESTIVE SYST	45	29	\$620.27	\$13.78	\$9.26	1.49
349	349 CNS DISORDER NEC/NOS	44	72	\$1,776.61	\$40.38	\$24.68	1.64
292	567 PERITONITIS	44	229	\$757.53	\$17.22	\$3.31	5.20
917	917 SUPERFICIAL INJ FOOT/TOE	44	54	\$554.42	\$12.60	\$10.27	1.23
279	279 DIS IMMUNE MECHANISM	43	191	\$2,439.02	\$56.72	\$12.77	4.44
935	935 FB MOUTH/ESOPHAG/STOMACH	43	125	\$2,002.89	\$46.58	\$16.02	2.91
312	CONDUCT DISTURBANCE NEC	43	102	\$662.86	\$15.42	\$6.50	2.37

157 MALIGNANT NEO PANCREAS	42	580	\$2,489.66	\$59.28	\$4,29	13.81
430 SUBARACHNOID HEMORRHAGE	42	191	\$1,937.28	\$46.13	\$10.14	4.55
405 SECONDARY HYPERTENSION	42	88	\$490.22	\$11.67	\$5.57	2.10
205 MYELOID LEUKEMIA	41	613	\$4,060.49	\$99.04	\$6.62	14.95
694 BULLOUS DERMATOSES	41	144	\$2,013.12	\$49.10	\$13.98	3.51
191 MALIGNANT NEOPLASM BRAIN	41	335	\$1,882.56	\$45.92	\$5.62	8.17
383 MASTOIDITIS ET AL	40	84	\$1,147.95	\$28.70	\$13.67	2.10
245 THYROIDITIS	40	84	\$1,081.03	\$27.03	\$12.87	2.10
913 SUPERFICIAL INJ FOREARM	40	55	\$879.62	\$21.99	\$15.99	1.38
34 STREP THROAT/SCARLET FEV	40	51	\$676.37	\$16.91	\$13.26	1.28
180 MALIG NEOPL CERVIX UTERI	39	279	\$2,010.73	\$51.56	\$7.21	7.15
522 PULP PERIAPICAL DIS	39	49	\$843.64	\$21.63	\$17.22	1.26
605 REDUN PREPUCE PHIMOSIS	38	119	\$2,425.22	\$63.82	\$20.38	3.13
151 MALIGNANT NEO STOMACH	38	328	\$1,775.97	\$46.74	\$5.41	8.63
485 BRONCOPNEUMONIA ORG NOS	38	107	\$1,154.07	\$30.37	\$10.79	2.82
230 CA IN SITU DIGESTIVE ORG	38	175	\$1,063.58	\$27.99	\$6.08	4.61
70 VIRAL HEPATITIS	38	172	\$1,018.35	\$26.80	\$5.92	4.53
705 DISORDERS OF SWEAT GLAND	38	49	\$489.59	\$12.88	\$9.99	1.29
810 VEHICLE-TRAIN COLLISION	37	87	\$1,609.36	\$43.50	\$18.50	2.35
155 MALIGNANT NEOPLASM LIVER	37	170	\$1,185.71	\$32.05	\$6.97	4.59
853 OTH TRAUMATIC BRAIN HEM	37	06	\$1,174.95	\$31.76	\$13.06	2.43
806 VERTEBRAL FX W CORD INJ	37	06	\$443.25	\$11.98	\$4.93	2.43
222 BENIGN NEO MALE GENITAL	36	40	\$735.65	\$20.43	\$18.39	1.11
711 ARTHROPATHY W INFECTION	35	243	\$1,083.75	\$30.96	\$4.46	6.94
196 MALIG NEO LYMPH NODES	35	105	\$973.06	\$27.80	\$9.27	3.00
501 ASBESTOSIS	35	111	\$800.04	\$22.86	\$7.21	3.17
_	35	46	\$698.63	\$19.96	\$15.19	1.31
933 FB PHARYNX LARYNX	35	46	\$626.58	\$17.90	\$13.62	1.31
308 ACUTE REACTION TO STRESS	35	58	\$574.31	\$16.41	\$9.90	1.66
367 DISORDERS OF REFRACTION	35	36	\$466.43	\$13.33	\$12.96	1.03
977 POIS-MEDICINAL NEC/NOS	35	52	\$292.72	\$8.36	\$5.32	1.57
456 VARICOSE VEINS NEC	34	29	\$2,013.93	\$59.23	\$30.06	1.97
208 LEUKEMIA-UNSPECIF CELL	34	274	\$988.25	\$29.07	\$3.61	8.06
292 DRUG PSYCHOSES	34	06	\$849.01	\$24.97	\$9.43	2.65
745 CARDIAC SEPTAL CLOS ANOM	34	101	\$66.69	\$19.71	\$6.63	2.97
170 MAL NEO BONE/ARTIC CART	34	158	\$295.13	\$8.68	\$1.87	4.65
259 OTH ENDOCRINE DISORDERS	32	72	\$1,227.86	\$38.37	\$17.05	2.25
839 DISLOCATION NEC	31	103	\$1,023.61	\$33.02	\$9.94	3.32
893 OPEN WOUND OF TOE	31	82	\$707.07	\$22.81	\$8.62	2.65
583 NEPHRITIS NOS	31	117	\$603.26	\$19.46	\$5.16	3.77
269 OTH NUTRITION DEFICIENCY	31	48	\$267.56	\$8.63	\$5.57	1.55
417 OTH PULMON CIRCULAT DIS	31	64	\$174.00	\$5.61	\$2.72	2.06
336 SPINAL CORD DISEASE NEC	30	137	\$1,267.25	\$42.24	\$9.25	4.57
V01 COMMUNICABLE DIS CONTACT	30	53	\$779.60	\$25.99	\$14.71	1.77
385 DIS MID EAR/MASTOID NEC	30	43	\$669.94	\$22.33	\$15.58	1.43

13	135 SARCOIDOSIS	29	124	\$654.83	\$22.58	\$5.28	4.28
52	521 HARD TISSUE DIS OF TEETH	28	46	\$972.11	\$34.72	\$21.13	1.64
75	754 CONG MUSCULOSKEL DEFORM	28	49	\$777.79	\$27.78	\$15.87	1.75
	911 SUPERFICIAL INJURY TRUNK	28	40	\$575.94	\$20.57	\$14.40	1.43
707	PROPHYLACTIC MEASURES	28	09	\$257.00	\$9.18	\$4.28	2.14
16	161 MALIGNANT NEO LARYNX	27	112	\$1,512.81	\$56.03	\$13.51	4.15
75	750 OTHER UPPER GI ANOMALY	27	46	\$504.05	\$18.67	\$10.96	1.70
82	827 LOWER LIMB FRACTURE NEC	27	43	\$412.83	\$15.29	\$9.60	1.59
89	684 IMPETIGO	27	31	\$251.46	\$9.31	\$8.11	1.15
11	111 DERMATOMYCOSIS NEC/NOS	27	34	\$170.86	\$6.33	\$5.03	1.26
20	500 COAL WORKERS' PNEUMOCON	27	43	\$91.62	\$3.39	\$2.13	1.59
54	540 ACUTE APPENDICITIS	26	137	\$5,017.89	\$193.00	\$36.63	5.27
46	463 ACUTE TONSILLITIS	26	31	\$439.96	\$16.92	\$14.19	1.19
28	282 HEREDIT HEMOLYTIC ANEMIA	26	43	\$324.63	\$12.49	\$7.55	1.65
34	343 INFANTILE CEREBRAL PALSY	25	242	\$2,805.04	\$112.20	\$11.59	89.6
17	179 MALIG NEOPL UTERUS NOS	25	89	\$931.97	\$37.28	\$13.71	2.72
37	376 DISORDERS OF THE ORBIT	25	42	\$636.18	\$25.45	\$15.15	1.68
47	474 CHR T A DIS	25	35	\$397.11	\$15.88	\$11.35	1.40
	115 HISTOPLASMOSIS	25	58	\$338.07	\$13.52	\$5.83	2.32
702	INFECTIOUS DIS CARRIER	25	35	\$132.48	\$5.30	\$3.79	1.40
88	890 OPEN WOUND OF HIP/THIGH	24	09	\$733.61	\$30.57	\$12.23	2.50
71	713 ARTHROPATH IN OTHER DIS	24	52	\$533.00	\$22.21	\$10.25	2.17
94	945 BURN OF LEG	24	59	\$380.03	\$15.83	\$6.44	2.46
28	283 ACQ HEMOLYTIC ANEMIA	23	75	\$1,305.29	\$56.75	\$17.40	3.26
91	914 SUPERFICIAL INJ OF HAND	23	28	\$698.40	\$30.37	\$24.94	1.22
34	347 CATAPLEXY AND NARCOLEPSY	23	51	\$578.55	\$25.15	\$11.34	2.22
	302 SEXUAL DISORDERS	23	40	\$248.74	\$10.81	\$6.22	1.74
990	CONVALESCENCE	23	39	\$116.15	\$5.05	\$2.98	1.70
	875 OPEN WOUND OF CHEST	23	63	\$100.65	\$4.38	\$1.60	2.74
V78	SCREENING FOR BLOOD DIS	23	27	\$11.22	\$0.49	\$0.42	1.17
13		22	113	\$2,576.96	\$117.13	\$22.80	5.14
26	566 ANAL RECTAL ABSCESS	22	97	\$1,429.56	\$64.98	\$14.74	4.41
30	301 PERSONALITY DISORDERS	22	52	\$595.59	\$27.07	\$11.45	2.36
81	818 MV TRAFFIC ACCIDENT NEC	22	24	\$225.53	\$10.25	\$9.40	1.09
79	797 SENILITY W/O PSYCHOSIS	22	61	\$201.11	\$9.14	\$3.30	2.77
87	872 OPEN WOUND OF EAR	21	54	\$349.48	\$16.64	\$6.47	2.57
75	755 OTH CONGEN LIMB ANOMALY	21	35	\$304.33	\$14.49	\$8.70	1.67
13	133 ACARIASIS	21	24	\$242.74	\$11.56	\$10.11	1.14
	231 CARCINOMA IN SITU OF RESPIRATO	21	46	\$93.41	\$4.45	\$2.03	2.19
080	SCREEN-NEURO/EYE/EAR DIS	21	21	\$11.41	\$0.54	\$0.54	1.00
83	834 DISLOCATION OF FINGER	20	59	\$933.14	\$46.66	\$15.82	2.95
85	851 CEREBRAL LACER/CONTUSION	20	58	\$888.13	\$44.41	\$15.31	2.90
27	270 DIS AMIN-ACID METABOLISM	20	36	\$495.75	\$24.79	\$13.77	1.80
83	838 DISLOCATION OF FOOT	20	30	\$349.27	\$17.46	\$11.64	1.50
21	219 OTH BENIGN NEO UTERUS	20	22	\$289.10	\$14.46	\$13.14	1.10

115	150 MALIGNANT NEO ESOPHAGUS	19	377	\$2,484.37	\$130.76	\$6.59	19.84
2(201 HODGKIN'S DISEASE	19	237	\$2,014.17	\$106.01	\$8.50	12.47
8	841 SPRAIN ELBOW FOREARM	19	27	\$749.11	\$39.43	\$27.74	1.42
.6	915 SUPERFICIAL INJ FINGER	19	25	\$523.46	\$27.55	\$20.94	1.32
V17	FAM HX-CHR DISABLING DIS	19	30	\$207.66	\$10.93	\$6.92	1.58
8	835 DISLOCATION OF HIP	19	55	\$182.74	\$9.62	\$3.32	2.89
3.	335 ANT HORN CELL DISEASE	18	110	\$1,749.30	\$97.18	\$15.90	6.11
14	145 MALIG NEO MOUTH NEC/NOS	18	109	\$1,389.47	\$77.19	\$12.75	90.9
25	291 ALCOHOLIC PSYCHOSES	18	71	\$869.99	\$48,33	\$12.25	3.94
25	297 PARANOID STATES	18	42	\$737.90	\$40.99	\$17.57	2.33
17	117 OTHER MYCOSES	18	41	\$483.45	\$26.86	\$11.79	2.28
3,	334 SPINOCEREBELLAR DISEASE	18	59	\$427.06	\$23.73	\$7.24	3.28
88	880 OPN WND SHOULDR/UPPR ARM	18	49	\$426.61	\$23.70	\$8.71	2.72
6	931 FOREIGN BODY IN EAR	18	24	\$320.98	\$19.50	\$14.62	1.33
74	743 CONGENITAL EYE ANOMALY	18	24	\$249.95	\$13.89	\$10.41	1.33
'`	77 OTH VIRAL CONJUNCTIVITIS	18	20	\$226.01	\$12.56	\$11.30	1.11
9,	972 POISON-CARDIOVASC AGENT	18	31	\$129.25	\$7.18	\$4.17	1.72
2,	221 BEN NEO OTH FEM GENITAL	17	25	\$659.28	\$38.78	\$26.37	1.47
33	303 ALCOHOL DEPENDENCE SYNDR	17	06	\$612.79	\$36.05	\$6.81	5.29
11:	194 MAL NEO OTHER ENDOCRINE	17	81	\$510.76	\$30.04	\$6.31	4.76
ł	581 NEPHROTIC SYNDROME	17	47	\$443.18	\$26.07	\$9.43	2.76
V18	FAM HX-OTH SPECIF COND	17	20	\$176.56	\$10.39	\$8.83	1.18
N56	ADMIT FOR DIALYSIS	17	9	\$111.76	\$6.57	\$1.72	3.82
96	964 POIS-BLOOD AFFECTING AGT	17	77	\$61.89	\$3.64	\$0.80	4.53
8.	811 SCAPULA FRACTURE	16	28	\$1,028.29	\$64.27	\$17.73	3.63
57	523 GINGIVAL/PERIODONTAL DIS	16	19	\$293.18	\$18.32	\$15.43	1.19
75	798 SUDDEN DEATH CAUSE UNKNW	16	19	\$254.70	\$15.92	\$13.41	1.19
7,5	59 CONGEN ANOMALIES NEC/NOS	16	20	\$244.40	\$15.28	\$12.22	1.25
3(304 DRUG DEPENDENCE	16	45	\$201.42	\$12.59	\$4.48	2.81
7/	742 OTH NERVOUS SYSTEM ANOM	16	29	\$166.16	\$10.39	\$5.73	1.81
8.	876 OPEN WOUND OF BACK	16	44	\$52.96	\$3.31	\$1.20	2.75
δ,	991 EFF REDUCED TEMPERATURE	15	38	\$938.47	\$62.56	\$24.70	2.53
[9]	614 FEMALE PELVIC INFLAM DIS	15	23	\$789.86	\$52.66	\$34.34	1.53
17	146 MALIG NEO OROPHARYNX	15	37	\$767.72	\$51.18	\$20.75	2.47
8,	877 OPEN WOUND OF BUTTOCK	15	95	\$400.83	\$26.72	\$4.36	6.13
6	944 BURN OF HAND WRIST	15	30	\$400.21	\$26.68	\$13.34	2.00
.ά	870 OCULAR ADNEXA OPEN WOUND	15	29	\$374.01	\$24.93	\$12.90	1.93
~	88 OTH ARTHROPOD-BORNE DIS	15	23	\$296.15	\$19.74	\$12.88	1.53
24	243 CONGENITAL HYPOTHYROIDSM	15	20	\$119.01	\$7.93	\$5.95	1.33
.9	629 OTH FEMALE GENITAL DIS	15	17	\$115.17	\$7.68	\$6.77	1.13
55	589 SMALL KIDNEY	15	16	\$97.55	\$6.50	\$6.10	1.07
22		14	30	\$1,733.32	\$123.81	\$57.78	2.14
7	42 ACQUIRED IMMUNE DEFICIENCY SYI	14	99	\$1,354.80	\$96.77	\$20.53	4.71
86	860 TRAUM PNEUMOHEMOTHORAX	14	41	\$931.75	\$66.55	\$22.73	2.93
11	156 MAL NEO GB/EXTRAHEPATIC	14	98	\$693.03	\$49.50	\$8.06	6.14

\$6.24 \$5.93 \$1.21 \$75.42 \$20.57 \$5.26 \$6.23
07 07
\$12.04 \$8.05 \$2.51 \$110.23 \$49.06 \$21.03 \$8.15 \$1.68 \$1.68
\$168.50 \$112.70 \$35.17 \$1,432.93 \$637.78 \$273.39 \$105.91 \$21.85 \$934.38
\(\frac{\psi_1}{\psi_1}\)
27 19 19 19 17 17 17 17 17 17 17 17 17 18 10 10 10 10 10 10 10 10 10 10 10 10 10
14 1 1 1 1 1 1 1 1 1
DROME NOS OPIC AGT SKEL INJ YSFUNCT /SUFFOC
314 HYPERKINELIC SYNDROME 938 FOREIGN BODY GI NOS 541 APPENDICITIS NOS 969 POISON-PSYCHOTROPIC AGT 801 SKULL BASE FRACTURE 905 LATE EFF MUSCULOSKEL INJ 258 POLYGLANDULAR DYSFUNCT 510 EMPYEMA 533 SUICIDE-STRANGUL/SUFFOC
314 HYPERKIN 938 FOREIGN 541 APPENDIC 969 POISON-P 801 SKULL BA 905 LATE EFF 510 EMPYEMA 510 EMPYEMA

912	912 SUPERFIC INJ SHOULDR/ARM	6	12	\$696.90	\$77.43	\$58.08	1 33
525	OTHER DENTAL DISORDER	6	20	\$225.64	\$25.07	\$11.28	2.22
513	513 LUNG/MEDIASTINUM ABSCESS	6	20	\$225.44	\$25.05	\$11.27	2.22
V52	FITTING OF PROSTHESIS	6	6	\$213.80	\$23.76	\$23.76	1.00
319	319 MENTAL RETARDATION NOS	6	23	\$89.95	\$9.99	\$3.91	2.56
V19	FAM HX-OTHER CONDITIONS	6	10	\$86.13	\$9.57	\$8.61	1.11
871	871 EYEBALL OPEN WOUND	6	6	\$31.90	\$3.54	\$3.54	1.00
998	866 KIDNEY INJURY	8	26	\$500.00	\$62.50	\$19.23	3.25
685	685 PILONIDAL CYST	8	43	\$370.98	\$46.37	\$8.63	5.38
748	748 RESPIRATORY SYST ANOMALY	8	6	\$255.61	\$31.95	\$28.40	1.13
943	943 BURN OF ARM	8	20	\$249.97	\$31.25	\$12.50	2.50
316	316 PSYCHIC FACTOR W OTH DIS	8	8	\$190.17	\$23.77	\$23.77	1.00
31	31 OTHER MYCOBACTERIAL DIS	8	74	\$179.14	\$22.39	\$2.42	9.25
208	508 RESP COND D/T EXT AGENT	8	38	\$152.28	\$19.04	\$4.01	4.75
779	779 OTH PERINATAL CONDITION	8	6	\$146.44	\$18.31	\$16.27	1.13
524	524 DENTOFACIAL ANOMALIES	8	15	\$82.64	\$10.33	\$5.51	1.88
582	582 CHRONIC NEPHRITIS	8	16	\$71.21	\$8.90	\$4.45	2.00
698	869 INTERNAL INJURY NOS	8	8	\$60.59	\$7.57	\$7.57	1.00
152	152 MALIG NEO SMALL BOWEL	8	6	\$39.93	\$4.99	\$4.44	1.13
683	683 ACUTE LYMPHADENITIS	8	11	\$30.00	\$3.75	\$2.73	1.38
163	163 MALIGNANT NEOPL PLEURA	8	13	\$13.56	\$1.70	\$1.04	1.63
626	939 FOREIGN BODY GU TRACT	8	8	\$10.00	\$1.25	\$1.25	1.00
147	147 MALIG NEO NASOPHARYNX	7	127	\$955.97	\$136.57	\$7.53	18.14
952	952 SPINAL CORD INJ W/O FX	7	06	\$503.83	\$71.98	\$5.60	12.86
867	867 PELVIC ORGAN INJURY	7	16	\$452.74	\$64.68	\$28.30	2.29
45	45 ACUTE POLIOMYELITIS	7	18	\$354.00	\$50.57	\$19.67	2.57
928	928 CRUSHING INJURY OF LEG	7	16	\$287.02	\$41.00	\$17.94	2.29
149	149 OTH MALIG NEO OROPHARYNX	7	17	\$180.71	\$25.82	\$10.63	2.43
86	98 GONOCOCCAL INFECTIONS	7	7	\$106.58	\$15.23	\$15.23	1.00
949	949 BURN UNSPECIFIED	7	33	\$72.62	\$10.37	\$2.20	4.71
904	904 BLOOD VESSEL INJURY NEC	7	6	\$68.32	\$9.76	\$7.59	1.29
761	761 MATERNAL COMPL AFF NB	7	7	\$53.84	\$7.69	\$7.69	1.00
175	175 MALIG NEO MALE BREAST	9	22	\$200.86	\$33.48	\$9.13	3.67
192	192 MAL NEO NERVE NEC/NOS	9	11	\$199.19	\$33.20	\$18.11	1.83
299	299 PSYCHOSES OF CHILDHOOD	9	15	\$186.23	\$31.04	\$12.42	2.50
130	130 TOXOPLASMOSIS	9	7	\$126.36	\$21.06	\$18.05	1.17
520	520 TOOTH DEVELOP/ERUPT DIS	9	6	\$115.24	\$19.21	\$12.80	1.50
617	617 ENDOMETRIOSIS	9	8	\$106.74	\$17.79	\$13.34	1.33
752	752 GENITAL ORGAN ANOMALIES	9	8	\$83.89	\$13.98	\$10.49	1.33
861	861 HEART LUNG INJURY	9	11	\$58.01	\$9.67	\$5.27	1.83
551	551 OTH ABDOM HERNIA W GANGR	9	9	\$45.39	\$7.57	\$7.57	1.00
75	75 INFECTIOUS MONONUCLEOSIS	9	9	\$40.78	\$6.80	\$6.80	1.00
712	712 CRYSTAL ARTHROPATHIES	9	9	\$25.72	\$4.29	\$4.29	1.00
996	966 POISON-ANTICONVULSANTS	9	16	\$20.00	\$3.33	\$1.25	2.67
323	323 ENCEPHALOMYELITIS	9	8	\$9.93	\$1.66	\$1.24	1.33

3	315 SPECIFIC DEVELOP DELAYS	9	16	\$2.00	\$0.33	\$0,13	2.67
	940 BURN OF EYE ADNEXA	5	8	\$356.40	\$71.28	\$44.55	1.60
V48	HEAD/NECK/TRUNK PROBLEMS	5	23	\$345.24	\$69.05	\$15.01	4.60
800	ASYMPTOMATIC HUMAN IMMUNODE	5	17	\$302.21	\$60.44	\$17.78	3,40
- 1	517 LUNG INVOLV W OTH COND	5	10	\$235.63	\$47.13	\$23.56	2.00
V25	CONTRACEPTIVE MANAGEMENT	5	8	\$224.15	\$44.83	\$28.02	1.60
ני)	391 RHEUM FEV W HEART INVOLV	5	10	\$130.45	\$26.09	\$13.05	2.00
	186 MALIGN NEOPL TESTIS	5	12	\$115.09	\$23.02	\$9.59	2.40
ε.	306 PSYCHOPHYSIOLOGIC DIS	5	7	\$92.33	\$18.47	\$13.19	1.40
8	837 DISLOCATION OF ANKLE	2	2	\$86.70	\$17.34	\$17.34	1.00
1	615 UTERINE INFLAMMATORY DIS	5	7	\$81.88	\$16.38	\$11.70	1.40
V61	OTH FAMILY CIRCUMSTANCES	5	7	\$67.22	\$13.44	\$9.60	1.40
ω	817 MULTIPLE HAND FRACTURES	5	8	\$63.97	\$12.79	\$8.00	1.60
	35 ERYSIPELAS	5	10	\$52.73	\$10.55	\$5.27	2.00
	164 MAL NEO THYMUS/MEDIASTIN	5	22	\$40.17	\$8.03	\$0.70	11.40
2	906 OTH INJ CAUSED BY ANIMAL	5	16	\$30.00	\$6.00	\$1.88	3.20
8	803 OTHER SKULL FRACTURE	5	11	\$0.00	\$0.00	\$0.00	2.20
8	804 MULT FX SKULL W OTH BONE	2	5	\$0.00	\$0.00	\$0.00	1.00
2	957 INJURY TO NERVE NEC/NOS	4	24	\$680.35	\$170.09	\$28.35	00.9
8	832 ELBOW DISLOCATION	4	13	\$267.25	\$66.81	\$20.56	3.25
	144 MALIG NEO MOUTH FLOOR	4	58	\$146.28	\$36.57	\$2.52	14.50
V41	PROB W SPECIAL FUNCTIONS	4	4	\$143.26	\$35.82	\$35.82	1.00
5	909 LATE EFF EXTER CAUSE NEC	4	9	\$140.12	\$35.03	\$23.35	1.50
2	534 GASTROJEJUNAL ULCER	4	11	\$90.05	\$22.51	\$8.19	2.75
3	17 MILD MENTAL RETARDATION	4	15	\$87.36	\$21.84	\$5.82	3.75
9	908 LATE EFF INJURY NEC/NOS	4	9	\$81.91	\$20.48	\$13.65	1.50
6	926 CRUSHING INJURY OF TRUNK	4	4	\$80.08	\$20.02	\$20.02	1.00
3	318 OTHER MENTAL RETARDATION	4	5	\$56.71	\$14.18	\$11.34	1.25
8	830 JAW DISLOCATION	4	6	\$51.56	\$12.89	\$5.73	2.25
	39 ACTINOMYCOTIC INFECTIONS	4	4	\$33.13	\$8.28	\$8.28	1.00
6	941 BURN OF HEAD/FACE/NECK	4	10	\$31.88	\$7.97	\$3.19	2.50
6	901 THORAC BLOOD VESSEL INJ	4	4	\$28.86	\$7.22	\$7.22	1.00
7	734 FLAT FOOT	4	4	\$15.26	\$3.82	\$3.82	1.00
	863 GI TRACT INJURY	4	4	\$10.00	\$2.50	\$2.50	1.00
762	OTH PSYCHOSOCIAL CIRCUM	4	5	\$10.00	\$2.50	\$2.00	1.25
V75	SCREEN-OTH INFECTIVE DIS	4	4	\$7.18	\$1.80	\$1.80	1.00
	52 CHICKENPOX	4	5	\$0.00	\$0.00	\$0.00	1.25
	148 MALIG NEOPL HYPOPHARYNX	4	61	\$0.00	\$0.00	\$0.00	15.25
2	580 ACUTE NEPHRITIS	4	4	\$0.00	\$0.00	\$0.00	1.00
8	896 TRAUMATIC AMPUTAT FOOT	4	6	\$0.00	\$0.00	\$0.00	2.25
6	967 POISON-SEDATIVE/HYPNOTIC	4	12	\$0.00	\$0.00	\$0.00	3.00
6	985 TOXIC EFFECT OTH METALS	4	4	\$0.00	\$0.00	\$0.00	1.00
6	993 EFFECTS OF AIR PRESSURE	33	4	\$221.68	\$73.89	\$55.42	1.33
8	828 RIDDEN ANIMAL ACCIDENT	3	14	\$140.40	\$46.80	\$10.03	4.67
	99 OTHER VENEREAL DISEASE	3	8	\$113.56	\$37.85	\$14.20	2.67

206	907 LATE EFF NERV SYSTEM IN]	3	3	\$106.38	435 46	435 46	1 00
330	330 CEREBRAL DEGEN IN CHILD	5 %	ט ני	\$100.30 \$86.24	428.75	\$33.40 ¢17.25	1.00
286	234 CA IN SITH NFC/NOS	2 %	11	481 10	¢27.03	72.74	70.1
127	127 OTH INTEST HEI MINTHIAGES	2 %	77	\$20.10 \$70.00	42.00	411.07	2.07
132	134 OTHER INFESTATION	0 0	D (**	470.00	25.00	472.22	2.00
961	961 POTSONING-ANTI-INFEC NEC	0 ~) <	\$7.000 \$65.51	423.33	\$45.33	1.00
767	767 RIRTH TRAIIMA	0 0	F (*	40.000 A A A A	410.12	\$10.30	1.55
11/1	114 COCCIDIODAYCOCIS	0 0	0	404.40	\$10.L3	\$18.13	1.00
111	TEACH MANAGEMENT THESE	2 (2 (\$53.48	\$17.83	\$17.83	1.00
	885 IKAUM AMPUIAIION IHUMB	3	12	\$43.46	\$14.49	\$3.62	4.00
6/7	SCREENING-MENTAL DISORD	3	3	\$25.03	\$8.34	\$8.34	1.00
506	506 FUM/VAPOR RESP DISEASES	3	4	\$20.00	\$6.67	\$5.00	1.33
51	51 COWPOX AND PARAVACCINIA	3	3	\$10.00	\$3.33	\$3.33	1.00
123	123 OTHER CESTODE INFECTION	3	4	\$10.00	\$3.33	\$2.50	1.33
360	390 RHEUM FEV W/O HRT INVOLV	3	3	\$10.00	\$3.33	\$3.33	1.00
128	128 HELMINTHIASES NEC NOS	3	3	\$10.00	\$3.33	\$3.33	1.00
206	206 MONOCYTIC LEUKEMIA	3	3	\$9.84	\$3.28	\$3.28	1.00
320	320 BACTERIAL MENINGITIS	3	35	\$0.00	\$0.00	\$0.00	11.67
324	324 CNS ABSCESS	3	80	\$0.00	\$0.00	\$0.00	26.67
488	488 FLU D/T AVIAN FLU VIRUS	3	19	\$0.00	\$0.00	\$0.00	6.33
205	502 SILICA PNEUMOCON NEC	3	3	\$0.00	\$0.00	\$0.00	1.00
744	744 CONG ANOM EAR/FACE/NECK	3	5	\$0.00	\$0.00	\$0.00	1.67
986	986 TOX EFF CARBON MONOXIDE	3	8	\$0.00	\$0.00	\$0.00	2.67
971	971 POISON-AUTONOMIC AGENT	3	3	\$0.00	\$0.00	\$0.00	1.00
986	936 FB IN INTESTINE COLON	3	3	\$0.00	\$0.00	\$0.00	1.00
ე66	990 WAR INJURY: FIRE/CONFLAG	2	11	\$307.82	\$153.91	\$27.98	5.50
770	770 OTH NB RESPIRATORY COND	2	6	\$298.38	\$149.19	\$33.15	4.50
745	749 CLEFT PALATE CLEFT LIP	2	8	\$295.19	\$147.60	\$36.90	4.00
671	671 VENOUS COMPLIC IN PREG	2	8	\$259.38	\$129.69	\$32.42	4.00
_	OTH PROTOZOAL INTEST DIS	2	5	\$234.28	\$117.14	\$46.86	2.50
864	864 LIVER INJURY	2	3	\$216.45	\$108.23	\$72.15	1.50
586	983 TOXIC EFFECT CAUSTICS	2	18	\$206.80	\$103.40	\$11.49	9.00
592	769 RESPIRATORY DISTRESS SYN	2	8	\$160.80	\$80.40	\$20.10	4.00
887	887 TRAUMATIC AMPUT ARM/HAND	2	5	\$149.93	\$74.97	\$29.99	2.50
143	143 MALIGNANT NEOPLASM GUM	2	65	\$80.00	\$40.00	\$1.23	32.50
186	987 TOXIDE EFF GAS/VAPOR NEC	2	2	\$60.63	\$30.32	\$30.32	1.00
102	102 YAWS	2	3	\$59.10	\$29.55	\$19.70	1.50
947	947 ADV EFF MEDICINE NEC/NOS	2	3	\$52.00	\$26.00	\$17.33	1.50
131	131 TRICHOMONIASIS	2	2	\$49.37	\$24.69	\$24.69	1.00
)96	960 POISONING BY ANTIBIOTICS	2	2	\$32.36	\$16.18	\$16.18	1.00
963	963 POISONING-SYSTEMIC AGENT	2	3	\$31.09	\$15.55	\$10.36	1.50
132	132 PEDICULOSIS AND PHTHIRUS	2	3	\$30.00	\$15.00	\$10.00	1.50
56	56 RUBELLA	2	2	\$20.00	\$10.00	\$10.00	1.00
125	125 FILARIAL INFECTION	2	2	\$15.05	\$7.53	\$7.53	1.00
475	475 PERITONSILLAR ABSCESS	2	3	\$14.00	\$7.00	\$4.67	1.50
741	741 SPINA BIFIDA	2	2	\$13.30	\$6.65	\$6.65	1.00

V28	ANTENATAL SCREENING	2	2	\$10.68	\$5.34	\$5.34	1 00
9	66 OTHER ARTHROPOD VIRUS	2	2	\$10.60	\$5.30	\$5.30	1.00
77.	771 PERINATAL INFECTION	2	2	\$10.21	\$5.11	\$5.11	1.00
11(118 OPPORTUNISTIC MYCOSES	2	2	\$10.06	\$5.03	\$5.03	1.00
12	129 INTESTIN PARASITISM NOS	2	2	\$10.00	\$5.00	\$5.00	1.00
76(760 MATERN COND AFF FETUS/NEWBOR	2	2	\$10.00	\$5.00	\$5.00	1.00
94(946 BURN OF MULTIPLE SITE	2	2	\$10.00	\$5.00	\$5.00	1.00
95(956 SUI/SELF-INJ BY CUT INST	2	2	\$10.00	\$5.00	\$5.00	1.00
42;	422 ACUTE MYOCARDITIS	2	7	\$3.13	\$1.57	\$0.45	3.50
2.	57 OTHER VIRAL EXANTHEMATA	2	3	\$2.00	\$1.00	\$0.67	1.50
20,	207 OTHER SPECIFIED LEUKEMIA	2	2	\$0.60	\$0.30	\$0.30	1.00
8	87 RELAPSING FEVER	2	2	\$0.00	\$0.00	\$0.00	1.00
4	47 ENTEROVIRAL MENINGITIS	2	4	\$0.00	\$0.00	\$0.00	2.00
26.	262 OTH SEVERE MALNUTRITION	2	4	\$0.00	\$0.00	\$0.00	2.00
797	264 VITAMIN A DEFICIENCY	2	2	\$0.00	\$0.00	\$0.00	1.00
80(800 SKULL VAULT FRACTURE	2	7	\$0.00	\$0.00	\$0.00	3.50
83.	833 WRIST DISLOCATION	2	2	\$0.00	\$0.00	\$0.00	1.00
306	902 ABDOM/PELVIS VESSEL INJ	2	2	\$0.00	\$0.00	\$0.00	1.00
ı	768 INTRAUTERINE ASPHYXIA	2	2	\$0.00	\$0.00	\$0.00	1.00
V59	DONOR	2	6	\$0.00	\$0.00	\$0.00	4.50
4.5	49 OTH NONARTHROPOD CNS VIR	,	12	\$333.45	\$333.45	\$27.79	12.00
2.	27 OTHER BACTERIAL ZOONOSES	 1	2	\$224.68	\$224.68	\$112.34	2.00
254	254 DISEASES OF THYMUS GLAND	F	9	\$105.61	\$105.61	\$17.60	00.9
926	929 LATE EFF OF ACCID INJURY		H	\$50.00	\$50.00	\$50.00	1.00
115	18 MILIARY TUBERCULOSIS	1	T	\$20.00	\$20.00	\$20.00	1.00
	17 TUBERCULOSIS NEC	1	1	\$20.00	\$20.00	\$20.00	1.00
V22	NORMAL PREGNANCY	1	Ţ	\$17.84	\$17.84	\$17.84	1.00
74(740 ANENCEPHALUS/SIMIL ANOM	П	T	\$13.94	\$13.94	\$13.94	1.00
8	84 MALARIA		1	\$10.00	\$10.00	\$10.00	1.00
	878 OPEN WOUND GENITAL ORGAN	т	T	\$10.00	\$10.00	\$10.00	1.00
V24	POSTPARTUM CARE/EXAM	+1	-1	\$10.00	\$10.00	\$10.00	1.00
10.	101 VINCENT'S ANGINA	Ţ	1	\$8.38	\$8.38	\$8.38	1.00
976	976 POIS-SKIN/EENT/DENT AGT	1	FI	\$3.55	\$3.55	\$3.55	1.00
64(646 OTHER COMPL OF PREGNANCY	1	T-I	\$2.26	\$2.26	\$2.26	1.00
12(120 SCHISTOSOMIASIS	1	1	\$1.49	\$1.49	\$1.49	1.00
15	15 TB OF BONE AND JOINT	1	П	\$0.00	\$0.00	\$0.00	1.00
35	32 DIPHTHERIA	П	1	\$0.00	\$0.00	\$0.00	1.00
10.	103 PINTA	1	П	\$0.00	\$0.00	\$0.00	1.00
126	126 ANCYLOSTOMIASIS		1	\$0.00	\$0.00	\$0.00	1.00
ľ	1 CHOLERA	 1	12	\$0.00	\$0.00	\$0.00	12.00
38	85 LEISHMANIASIS	1	Ţ	\$0.00	\$0.00	\$0.00	1.00
135	139 LATE EFFECT INFECT NEC	- -1	1	\$0.00	\$0.00	\$0.00	1.00
,	3 OTH SALMONELLA INFECTION	1	4	\$0.00	\$0.00	\$0.00	4.00
4	40 OTHER BACTERIAL DISEASES	1	41	\$0.00	\$0.00	\$0.00	41.00
79	64 VIR ENCEPH ARTHROPOD NEC	1	1	\$0.00	\$0.00	\$0.00	1.00

503 INORG DUST PNEUMOCON NEC	1	F	\$0,00	\$0.00	\$0.00	1 00
773 NB HEMOLYT DIS:ISOIMMU	1	П	\$0.00	\$0.00	\$0.00	1 00
648 OTH CURRENT COND IN PREG	1	T	\$0.00	\$0.00	\$0.00	1 00
868 OTH INTRA-ABDOMINAL INJ		1	\$0.00	\$0.00	\$0.00	1.00
903 TRAVEL AND MOTION	П	5	\$0.00	\$0.00	\$0.00	5.00
950 INJ OPTIC NERV/PATHWAYS	+-1	F	\$0.00	\$0.00	\$0.00	1.00
937 FOREIGN BODY ANUS/RECTUM	П	F	\$0.00	\$0.00	\$0.00	1.00
975 POISONING-MUSCLE AGENT		H	\$0.00	\$0.00	\$0.00	1.00
951 CRANIAL NERVE INJURY NEC	П	T	\$0.00	\$0.00	\$0.00	1.00
MENTAL/BEHAVIORAL PROB	1	9	\$0.00	\$0.00	\$0.00	6.00
AFTERCARE W PLASTIC SURG	1	H	\$0.00	\$0.00	\$0.00	1.00
ADMINISTRATIVE ENCOUNTER	Ţ	Ţ	\$0.00	\$0.00	\$0.00	1.00
	1	1	\$0.00	\$0.00	\$0.00	1.00
33 WHOOPING COUGH	П	H	\$0.00	\$0.00	\$0,00	1.00
	1	1	\$0.00	\$0.00	\$0.00	1.00
640 HEMORRHAGE IN EARLY PREG	1	П	\$0.00	\$0.00	\$0.00	1.00
395	395,328 1,	,238,676	1,238,676 \$11,525,777.32			
	MIN		\$0.00	\$0.00	\$0.00	
	MAX		\$535,643.80	\$333.45	\$112.34	
	MEDIAN	AN	\$1,385.60	\$22.48	\$9.84	
	AVERAGE	AGE	\$14.021.63	\$30 US	¢11 20	3.16

Public	Employees	Insurance	Δσοηςν
FUDIIC	Elliployees	ilisul alice	Agency

	TENA Phem	गल्यमामेल्या जन	PEIA Pharmaceutical Cost Sharing FY 2007	<u> </u>		
Prug Name	Sittering	Presentations	Cost Sharing	(6)	Cost Share Per	Presentpit ons per
OTHER DRUGS	298.607	985.680	49 956 395 97	\$.97 \$5% QTT	273537536767 410 10	2376713 3 30
NEXIUM 40 MG CAPSULE	1,812	14,418	9		\$30.	7,96
PREVACID 30 MG CAPSULE DR	1,524	11,707	\$354,347.95	\$232.51	\$30.27	7.68
LIPITOR 10 MG TABLET	1,492	8,065	\$323,770.56	\$217.00	\$40.15	5.41
PLAVIX 75 MG TABLET	3,907	14,995	\$298,857.97	\$76.49		
LIPITOR 20 MG TABLET	1,285	6,981	\$276,624.20	\$215.27	\$39.63	5.43
FOSAMAX 70 MG TABLET	2,502	12,012	\$268,230.37	\$107.21	\$22.33	
CELEBREX 200 MG CAPSULE	1,495	6,561		\$162.41	\$37.01	4.39
OMEPRAZOLE 20 MG CAPSULE	6,373	39,554	\$237,382.63	\$37.25		6.21
CRESTOR 10 MG TABLET	2,290	11,053	\$230,979.52	\$100.86	(6)	4.83
ZETIA 10 MG TABLET	2,193	11,251	\$228,065.23	\$104.00	\$20.27	5.13
NORVASC 5 MG TABLET	1,253	2,967	\$226,545.33	\$180.80	\$37.97	4.76
FLOMAX 0.4 MG CAPSULE SA	2,174	10,794	\$216,815.88	\$99.73		4.97
TOPROL XL 50 MG TABLET SA	2,073	11,070	\$197,800.21	\$95.42		5.34
NORVASC 10 MG TABLET	996	4,704	\$176,392.98	\$182.60	\$37.50	4.87
EVISTA 60 MG TABLET	1,358	7,459	\$164,598.49	\$121.21		5.49
VYTORIN 10/20 TABLET	1,647	7,771	\$163,785.76	\$99.44		
SINGULAIR 10 MG TABLET	1,636	9,064	\$162,740.24	\$99.47		5.54
PROTONIX 40 MG TABLET EC	723	5,304	\$158,321.96	\$218.98	\$29.85	
ACTONEL 35 MG TABLET	1,462	7,460	\$157,312.78	\$107.60	\$21.09	5.10
LIPITOR 40 MG TABLET	689	3,615	\$137,308.60	\$199.29	\$37.98	
ZYRTEC 10 MG TABLET	931	4,577	\$131,026.67	\$140.74	\$28.63	4.92
ARICEPT 10 MG TABLET	1,191	2,690	\$128,299.32	\$107.72	\$16.68	
DETROL LA 4 MG CAPSULE SA	688	3,499	\$127,652.31	\$185.54		5.09
VYTORIN 10/40 TABLET	1,309	6,251	\$125,649.28	\$95.99		4.78
SIMVASTATIN 20 MG TABLET	3,185	15,045	\$125,366.09	\$39.36		4.72
XALATAN 0.005% EYE DROPS	1,153	6,462	\$117,262.23	\$101.70	\$18.15	
TOPROL XL 100 MG TABLET S	1,149	6,146	\$113,866.03	\$99.10	\$18.53	5:32
BONIVA 150 MG TABLET	089	2,947	\$111,992.94	\$164.70	\$38.00	4.33
TRICOR 145 MG TABLET	1,072	5,535	\$110,666.70	\$103.23	\$19.99	5.16
LEVAQUIN 500 MG TABLET	3,201	4,613	,651.	\$33.01	\$22.90	1,44
SIMVASTATIN 40 MG TABLET	2,653		473.4	\$36.74	\$8.36	4.40
AMBIEN 10 MG TABLET	1,320	5,944	\$93,651.15	\$70.95		4.50

DIOVAN 160 MG TABLET	668	4,656	\$91,480.95	\$101.76	\$19.65	5.18
NAMENDA 10 MG TABLET	822	5,362	\$89,133.49	\$108.43	\$16.62	6.52
ADVAIR 250/50 DISKUS	1,375	5,303	\$88,465.95	\$64.34	\$16.68	3.86
ACIPHEX 20 MG TABLET EC	358	2,834	\$86,873.99	\$242.66	\$30.65	7.92
FUROSEMIDE 40 MG TABLET	3,775	18,245	\$85,317.81	\$22.60	\$4.68	4.83
SPIRIVA 18 MCG CP-HANDIHA	1,091		\$79,152.04	\$72.55	\$16.44	4.41
DIOVAN HCT 160/12.5 MG TA	693	3,683	675.3	\$113.53	\$21.36	5.31
AMBIEN CR 12.5 MG TABLET	542	2,626	\$78,485.65	\$144.81	\$29.89	4.85
AVANDIA 4 MG TABLET	828	4,470	\$77,658.48	\$90.51	\$17.37	5.21
DIOVAN 80 MG TABLET	718	3,857	\$77,359.24	\$107.74	\$20.06	5.37
LISINOPRIL 20 MG TABLET	2,430	11,616	\$76,708.75	\$31.57	\$6.60	4.78
COZAAR 50 MG TABLET	403	1,962	\$75,779.66	\$188.04	\$38.62	4.87
LANTUS 100 UNITS/ML VIAL	1,027	5,010	\$74,556.10	\$72.60	\$14.88	4.88
LISINOPRIL 10 MG TABLET	2,563	12,043	\$73,148.49	\$28.54	\$6.07	4.70
HYZAAR 100-25 TABLET	321	1,826	\$72,842.12	\$226.92	\$39.89	5.69
METOPROLOL 50 MG TABLET	2,449	12,912	\$70,941.64	\$28.97	\$5.49	5.27
LEXAPRO 10 MG TABLET	785	4,122	\$70,758.94	\$90.14	\$17.17	5.25
TOPROL XL 25 MG TABLET SA	1,230	3,941	\$68,875.39	\$56.00	\$17.48	3.20
ACTOS 30 MG TABLET	803	3,782	\$68,407.01	\$85.19	\$18.09	4.71
METFORMIN HCL 500 MG TABL	2,238	10,985	\$66,701.06	\$29.80	\$6.07	4.91
SYNTHROID 100 MCG TABLET	582	2,902	\$65,249.09	\$112.11	\$22.48	4.99
HYDROCHLOROTHIAZIDE 25 MG	3,281	15,601	\$65,006.72	\$19.81	\$4.17	4.75
COSOPT EYE DROPS	415	1,665	\$64,557.62	\$155.56	\$38.77	4.01
MIACALCIN 200 UNITS NASAL	442	1,738	\$62,860.31	\$142.22	\$36.17	3.93
ATENOLOL 50 MG TABLET	1,913	10,542	\$62,578.94	\$32.71	\$5.94	5.51
ALTACE 10 MG CAPSULE	286	1,611	\$62,089.89	\$217.10	\$38.54	5.63
TRIAMTERENE/HCTZ 37.5/25	1,957	10,004	\$62,081.15	\$31.72	\$6.21	5.11
PREMARIN 0.625 MG TABLET	604	3,024	\$62,064.30	\$102.76	\$20.52	5.01
LOTREL 5/20 MG CAPSULE	529	2,790	\$59,345.64	\$112.18	\$21.27	5.27
AVANDIA 8 MG TABLET	614	3,220	\$59,310.11	\$96.60	\$18.42	5.24
AVAPRO 150 MG TABLET	300	1,515	\$59,245.43	\$197.48	\$39.11	5.05
PROPOXY-N/APAP 100-650 TA	3,790	11,916	\$58,072.39	\$15.32	\$4.87	3.14
CLOPIDOGREL BISULFATE 75	3,048	9,651	\$57,601.07	\$18.90	\$5.97	3.17
LYRICA 75 MG CAPSULE	472	1,782	\$57,290.09	\$121.38	\$32.15	3.78
SYNTHROID 75 MCG TABLET	490	2,451	\$56,939.50	\$116.20	\$23.23	5.00
FUROSEMIDE 20 MG TABLET	3,060	12,812	\$56,574.12	\$18.49	\$4.42	4.19
COZAAR 100 MG TABLET	272	1,372	\$53,812.49	\$197.84	\$39.22	5.04

HYZAAR 50-12.5 TABLET SYNTHROID 50 MCG TABLET COMBIVENT INHALER COREG 6.25 MG TABLET CYMBALTA 60 MG CAPSULE AZITHROMYCIN 250 MG TABLET CRESTOR 20 MG TABLET					-	
	234	1,364		\$219.92	\$37.73	5.83
	496	2,472		\$103.23	\$20.71	4.98
	873	3,113	\$51,004.68	\$58.42	\$16.38	3.57
	550	2,856	\$50,941.86	\$92.62	\$17.84	5.19
	514	3,442		\$98.24	\$14.67	6.70
CRESTOR 20 MG TABLET	5,901	8,603	\$50,186.16	\$8.50	\$5.83	1.46
	561	2,381	\$49,328	\$87.93	\$20.72	4.24
POTASSIUM CL 10 MEQ CAP S	1,675	8,448	\$49,085.45	\$29.30	\$5.81	5.04
AVAPRO 300 MG TABLET	237	1,270	\$49,018.60	\$206.83	\$38.60	5,36
EFFEXOR XR 75 MG CAPSULE	436	3,129	\$49,017.88	\$112.43	\$15.67	7.18
ATENOLOL 25 MG TABLET	1,716	8,661		\$28.12	\$5.57	5.05
ALTACE 5 MG CAPSULE	240	1,287	\$47,064.80	\$196.10	\$36.57	5.36
NASONEX 50 MCG NASAL SPRA	1,075	2,998		\$42.92	\$15.39	2.79
ACTOS 45 MG TABLET	502	2,634		\$30.78	\$17.30	5.25
FLUTICASONE 50 MCG NASAL	2,908	7,834		\$15.52	\$5.76	2.69
LEXAPRO 20 MG TABLET	475	2,853		\$94.98	\$15.81	6.01
LEVOTHYROXINE 50 MCG TABL	1,411	7,461		\$31.93	\$6.04	5.29
FORTEO 750 MCG/3 ML PEN	126	867		\$354.66	\$51.54	6.88
HYDROCODONE/APAP 5/500 TA	4,094	9,894		\$10.81	\$4.47	2.42
3LET	1,620	9,741		\$27.29	\$4.54	6.01
COUMADIN 5 MG TABLET	308	1,367		\$139.65	\$31.47	4.44
LISINOPRIL 40 MG TABLET	1,291	6,507		\$33.09	\$6.57	5.04
NIASPAN 500 MG TABLET SA	551	2,168	\$42,707.05	\$77.51	\$19.70	3.93
WELCHOL 625 MG TABLET	303	1,072		\$138.87	\$39.25	3.54
COREG 12.5 MG TABLET	454	2,316	\$41,865.51	\$92.21	\$18.08	5.10
COREG 25 MG TABLET	406	2,314	\$41,781.29	\$102.91	\$18.06	5.70
ACTOS 15 MG TABLET	531	2,377	\$41,527.17	\$78.21	\$17.47	4.48
FOSAMAX PLUS D 70 MG/2,80	511	1,959	\$41,431.22	\$81.08	\$21.15	3.83
OMACOR CAPSULE	530	2,219	\$41,355.83	\$78.03	\$18.64	4.19
DIOVAN 320 MG TABLET	380	1,953	\$40,955.84	\$107.78	\$20.97	5.14
434,	4,748	1,611,881	\$20,009,452.57			
	Σ	MIN	\$40,955.84	\$8.50	\$4.17	
	Ž	MAX	49,956,395.97	\$354.66	\$51.54	7,7,7
	Σ	MEDIAN	\$68,875.39	\$99.47	\$19.70	
	A	AVERAGE	\$198,113.39	\$105.88	\$20.94	4.92

Public	Employees	Insurance	Δσοηςν
Fublic	Elliployees	ilisul alice	Agency

	Adventire Franch	Telegraph of the second	antra Freedom Pharmaceutical Cost Sharing FY 2008	E EV 2000E		
Drug Name	Patients	Prescriptions Cost Sharing	Sost Sharing	Per Pairent	Per	Presentett
OTHER DRUGS	208,046	1,030,762	\$5,623,686.76	\$27.03	80 B	4.95
LIPITOR	3,138	23,442	\$799,563.64	\$254.80	\$34.11	7.47
PLAVIX	4,083	37,067	\$459,183.08	\$112.46	\$12.39	90.6
VYTORIN	2,898	23,068	\$321,199.68	\$110.83	\$13.92	7.96
CRESTOR	2,992	22,134	\$313,617.08	\$104.82	\$14.17	7.40
NEXIUM	2,931	26,402	\$305,823.32	\$104.34	\$11.58	9.01
CELEBREX	1,278	8,380	\$279,544.16	\$218.74	\$33.36	6.56
OMEPRAZOLE	6,598	60,653	\$263,444.45	\$39.93	\$4.34	9.19
SIMVASTATIN	7,163	57,127	\$240,824.16	\$33.62	\$4.22	7.98
LEVAQUIN	3,941	8,839	\$224,780.73	\$57.04	\$25.43	2.24
ZETIA	2,100	16,049	\$218,793.25	\$104.19	\$13.63	7.64
FLOMAX	2,156	15,927	\$218,060.92	\$101.14	\$13.69	7.39
FOSAMAX	2,640	16,169	\$217,805.38	\$82.50	\$13.47	6.12
LISINOPRIL	6,820	61,266	\$214,790.27	\$31.49	\$3.51	86.8
SYNTHROID	1,890	17,570	\$201,216.14	\$106.46	\$11.45	9.30
LEVOTHYROXIN	5,737	52,980	\$199,772.58	\$34.82	\$3.77	9.23
DIOVAN	1,331	9,023	\$191,839.43	\$144.13	\$21.26	6.78
ARICEPT	1,721	18,116	\$173,799.28	\$100.99	\$9.59	10.53
TRICOR	1,149	7,542	\$163,649.60		\$21.70	6.56
AVAPRO	1,592	12,466	\$158,511.00		\$12.72	7.83
DETROL LA	608	5,044	\$154,948.56	\$191.53	\$30.72	6.23
COZAAR	702	5,114	\$154,082.95	₩	\$30.13	7.28
ACTOS	1,647	14,216	\$152,500.08		\$10.73	8.63
EVISTA	1,199	10,469	\$149,279.42	\$124.50	\$14.26	8.73
SINGULAIR	1,483	12,474	\$147,180.72	\$99.25	\$11.80	8.41
BONIVA	749	4,621	\$145,773.12	\$194.62	\$31.55	6.17
DIOVAN HCT	915	6,239	\$140,890.16	\$153.98		6.82
ADVAIR DISKU	2,058	13,080	\$139,112.54	\$67.60		6.36
LEXAPRO	1,498	12,667	\$138,125.83	\$92.21	\$10.90	8.46
HYZAAR	208	4,117	\$136,492.25	\$268.69	\$33.15	8.10
HYDROCO/APAP	7,880	48,030	\$136,210.37	\$17.29	\$2.84	6.10
METOPROLOL	5,677	38,487	\$132,173.15	\$23.28	\$3.43	
AMLODIPINE	3,161	25,681	\$128,633.70	\$40.69	\$5.01	8.12

FUROSEMIDE	1 6.393		50.5319	- 137.678 G	70.000	. 165 65	[6 [6]
1561				10.000 1010		77.7.	X
	ξ: -	-	907.4 00.7	\$121,/20.E5	-233.14	527.63	757
MCTOPROLC ER	4,324	Ţ.	27,023	5171,492,59	528.10	Dc.12	6.25
CYMBA_TA	. 666	5	5,977.	\$115,894,45	5:80.02	50,0%	8.97
PRCTONIX	1,48		11,625	5112,864.118		59.72	7.81
WARFARIN	3,06	-	31,253	26.001,119	\$36.29	53.56	 (C, 20]
AVALIDE	. 1,059		8,575	50,624.29	\$104.46	[5:2:90]	8.10
NAMENDA	1,005	-		51.09,241.37	\$103.75	59.36	11.04
MCTFORMIN	3,40	-0	27,708	177.687,30.15	\$31.34	53.85	5.14
Althorib	3,362	-Z!	30,763	5-05,330.29	\$21.33	53.48	5.00
PREMARIN			7,491	5100,611.99	* TT.08	513.44	8.27
EFFEXOR XR	78,	+	8,892	897,DB9.04	\$123.84	<0.015	11.34
LYRICA	609		4,174	893,569,47	\$153.54	327.17	1500
ACTOREL 4PK	715	10:	3,5/3	59_,147.86	\$1277.8	525,51	2.00
XALATAN	<u>্</u>	-	4,381	592,132.05	*123,49	520.80	5.91
JANUVIA	929	-5	5,625	587,680,75	\$140.07.	318.96	7.39
SPIRIVA	3,167	π.	9,176	\$87,651.07	\$75.13	\$10.72	7.01
BENICAR	<u> </u>	- -	0,935	\$85,812.40	*132.43	521.81	6.07
ZYRTEC	675	13	3,651	\$84,759,03	\$125.57.	\$23.20	5.41
OROT	3,88	-:-	29,082	\$81,524.37	\$20.99	\$2.50	7.49
TCPROL XL	1,754		8,511	\$77,587,80	*43.29.	\$9.17	4.11
	5,175	٠	9,634	\$77,495.04j	\$65.95;	¥.18	8.20:
	33.4		4,462	\$76,870.74	\$82.73	II:/1#	4.80
ALPRAZOLAM	3,12		27,143	\$76,422.88	474.29	\$2.82	8.70
GABAPENI N	2.84C		20,771	\$75,57dL/9	\$26.61	\$3.67	7.31
Z.	2,55		22,812	\$75,180,21	528.17	\$3.78	8.58
ATACAND	5	_:	2,393	\$72,078.72	\$256.51	\$30.12	8.52
MICARDIS .			5,543	\$66,752,75	842.18	\$11.95	7.69
NIASPAN HK	73,		5,728	\$65,948.40	553,28	\$11.52	8.50
AVOID44T	- 585		3,588	\$63,176.50;	2107.99	\$17.6	ē.13
VESICARE	2		2,301.	\$62,747.34	\$165.55	\$27.27	6.07
LISTNOP/HC1X	1		13,784	\$55,850,09	534.38	\$4.34	7.97
텞	1,355,1		13,060	\$58,784.48	543.58	41.07	6.90
REQUIP	63)		5,973	\$52,463.71	594,67	\$9.62	9.8
BENICAR HCT		!	3,775	\$56,001,50	5135.97	\$23.31	5,83
LCVASTATIN	21		10,453	\$56,415.95,	5~5.20	\$5.40	3,55
FOSAMAX . D	585		3,905	\$56,379.29	598.37	#14,44	0.58

[CAD11F1	190	81.4 .	146662343	4004 000	1000	100 0
L		3	107.07.07.0		400.00	Si O
PELUCIII ZINE	7117.	0/8/6	\$55,E8E.21]	449,85;	\$5.54	- 1.8.3.5 - 1.8.3.5 - 1.8.3.5
COREG	1,061	5,216	\$50,532.64	\$52.43	\$8.85	5,86
Po_ CHLORIDE	2,529	315,316	\$55,444,36	\$21.02	\$3.62	0.00
relaMT/IICTZ	806.5	12,676	\$54,010.94	428.0	#3,5g	7.61
OXYBUTYVIN	t:90".	8,343	\$53,548.07	119,40	\$6.42	7.70
ISOSOAB MONO	1,602	15,287	\$53,428.631	[62,25]	\$3.48.	9.57
AZHEROMYCIR	6,521	13,042	\$52,909,49	\$8.12	41.65	2,01
AVANDIA			\$51,796.12	\$80.85	\$9.6\$	8.10
SERT WILLINE	1,651	15,010	107,54,70	530.98	\$3.41	9,38
	2,189	:	\$50,849.58;	523.23	\$2.97	7.83
SCROQUEL	573		\$50,697.48	488,47	\$7.50	2.11
WELCHOL	324		\$50,278,20;	815518	\$32	4.83
:	358	2,105	\$50,076.34,	S139.88	473.74	(183) (183)
ACTONEL PACK	567	3,194	\$19,898.23	\integral 18.7/%	\$15.62	4.73
	1,034	17.7.14	549,098.42°	547.48	76'55	1067
FCXOFCNADINE	1,978;	11.507	548,925.60	525.40	84.25	6.87
LUMIGAN	889	4,320	\$18,539.22	887.00	\$11.18	7.39
яР		16,192	847,789,62	514,32	52.97	4.87
PAROXET:NE	1,328	799,01	547,225,71	535.56	53.63	<u>1</u> 67'6
CATAPRES TTS		1,757	546,479.04	5233.56	526,45	8.33
PRAVASIALIN	1,275	10,078	8.16,172,42	536,21	24.60	7.88
MICARDIS HCT	787	3,553	546,083.30	535.21	\$12.62	7.55
	2,073	13,947	545,285.93	421,65	55.27	6.58
HIUTICASONE	2,436	10,231	847,1847,18	5-3.14	54.32	4.20
RESTASIS(32)	432	160.0	35'908'0+8	599.04	519.10	1.55
RASOVEX	1,6071	068.0	542,128.34	538.40	510.81	50.5
COMBIVENT	263	3,853	540,908.45	858.78	S10,62	5.54
COUMADIN	425	3,805	840,427,76	595,12	510.62	8.05
ALPHAGAN P	3/9	2,223	540,168.27	51.05.98	518.07	5.87
CIARINEX	388	1,658	839,886.58	-1.32,80	523.91	4.30
	396,356	2,419,592	\$17,336,331.49			
	- -	NIM	839.886.58	48.12	#2.52	
		MAX	\$5.623.686.76	\$294.07	£36.33	
		MEDIAN		\$89.04	\$10.90	Γ
		AVERAGE	5171,646.85	\$91.27	\$13.01	7.35
	1				i	

Public	Employees	Insurance	Δσοηςν
FUDIIC	Elliployees	ilisul alice	Agency



WEST VIRGINIA LEGISLATIVE AUDITOR

PERFORMANCE EVALUATION & RESEARCH DIVISION